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1. B4
A function f is said to be injective if f(z) = f(y) only when z = y.
ey = f(z) % f(y) BROIOLE, fIREHTHEEVS, [IIEHTHD
TeamIIzix, Mz oT
fx)=fly) = =y ZmEIT L.

2. 24
A function f is said to be surjective if for every y,there exsits x such that
flz) =y

3. HEG

A function f is said to be bijective if it is both injective and surjective .



1 Cauchy functional equation
% < OBEBARAD 3 — 2 —DBEHSFA (Cauchy functional equation)
fle+y)=fz)+ f(y)
IZREIND.

1.1 QICBIT 2R
f:R = R2Pa—Y—0fHAEA (Cauchy functional equation)
flz+y)=flz)+ f(y)
ZhizdHDET 5.

(1) £(0) = 0.
OTeBLllarz=y=0BLL f(0)=02"o5Nn5.
(2) f(nz) =nf(x) Vn € N.
B EINE CTREIT S 5.
(i) n=10D& ZIXHSHMITHE Y LD,
(i) n=kDEEWRODEIRET DL, f(kr)=Fkf(x).
OTazDEZr% kx TEEMZ y=0 BV

flkx +x) = f(kx) + f(2) = kf(z) + f(z) = (k+ 1) f ()

B f((k+1D)z)=(k+1)f(x) £ n=k+1DEEHHK IO,

(i), (i) KV ITRTOHARBE n IZTDOWTHEDY LD,

(3) f(=z) =—f(2).
OQTy=—z 2BV

f@) + f(=z) = f(z+ (—2)) = f(0) =0

i () = —f(2).
(4) f(mz) =mf(x) Vm € Z.
m e ZLso DEZIWO DS, m <0 D& ESREIFL.
(3) »5
flmz) = —f(-ma) = —((-m) f(z)) = mf ().



(5) f(rz) =rf(z) vr € Q.
T:%,mEZ,nENé:IB<& (4) 25

nf(rz) = f(nrz) = f (n —:I:) = f(mz) = mf(x).

£oT
B)To=1e8<e

B DLOHS c= f(1) ER B L

flx)=cx Vz € Q.

1.2 RICBITBER

[ iR = RPROEMED VT NAZ R -EIX T — > — O AREADMIX

5.

o HIFHME

o M

o HAHXMIZHBIFBERME

e z>0IZBWVWT f(zr) 205

B 1 a—Y—0BBAERZ 2T HHFLRERT f(r) =cx TH 5.

[GEFA] f B INBEBEABEETH 205, fIREINEBOG&EE2E A 5.

HbceERMPMFHELT
flx) =cx Ve e Q

LB Mo TWENH,

f(x) =cx Vr € R

ThbHIe%ZRT.



Ve e RIZHLT, pp, Sz < qn, h_)m Pr, = h_)m qn = ¢ 272 S HEMES {p.}, {g.}

b
Cpn:f(pn)éf(x>§f( n):CQn

DO NIDMS, n—o0 T 5L f(r)=cx 2195. [ ]

B 2 a—y—OBEBAEAE T ERRERT f(r) =cx TH 5.

[BEFA] H2 ce RAPMFEEL T
flx) =cx Ve e Q

LB EEMOTVENS,
f(x) =cx Vr € R

THBHIERT.
Ve e R LT, lim p, =z Zi 7o SHEBS {p,} 2L D&

f@) = lim f(n) = lim cpn = cz

"o f(r) =cx 2135, [ |

B 3 a—Y— BB 2T XH [0, b] THFRZBEEX f(2) =cx THS.

[BEFA] H»% ce RAPMFEL T
flx)=cx Ve e Q

LB EMoTNENH,
f(x) =cx Ve e R

TH5HZELERT.
x BAEREDERL TS, VneNIZRHLTne—b<nz—al7Zhronr—b<p, <nzr—a

ERDEMB p, WEETS. §dLa<nr—p,<bkb nx—p,€lab].

|f(7”L£L’ _pn)| - |nf(1‘) - Cpn|
= |n(f(x) — cx) + c(nz — p)|
Z nl|f(x) = cx| = [c(nz — pn)|



AN
n|f(z) — cx| < [f(nw — pn)| + [e(nz — pn)|-

nr — pn € [a,b] 2025 |e(nz — pp)| & |f(nz — py)| 1FEFHT
|C(n3§'—pn)| < M? |f(nx_pn)| <M

Y BEH M(> 0) HbH 5.

£oT
n|f(z) —cz| < [f(nz — py)| + |c(nz — pn)| < 2M,
0= |f(z) - ca < 2.
n
BEBEOARTn 00 T5L |f(x)—cx|=0F bbb f(r)=cr 2185. [ ]

B 4 a—V—0FEABRRNZHZL, x> 0128V T f(x) =2 0 &5
f(x)=cx TH5.

[BEBA] Vo, h € R, h> 0K LT flz+h) — f(z) = f(h) 20
EoTh>002%, flz+h) > f(z) BRDLONS, flo) RIERIEETHS. #
ER 1 AL &S ICAITE 3. n

1.3 Chauchy type Equations

ROBBGREAIZ - —OBBIRAmESEL 2R TES.
511 Find all continuous functions f;R — R™ such that for all z and v,

flx+y) = f(z)f(y).

fx)>07=06g: R>R%g(x)=log f(x) £BE, flx+y)=f(z)f(y) & g TH
EETL
9(z +y) = g(z) + g(y).

g 3=y —DEBABRAZRZTH S g(z) =cr 785,
£oT f(z)=e Thbb
f(x) =ad".

12U, a>0&79 5.



5l 2 Find all continuous functions f; R™ — R such that for all x and v,

flzy) = f(z) + f(y).

g RoR%Zg(x)=f(a")(a>0,ax1) &BE, f(zy)=f(x)+ f(y) 2 g THSHE
ER-
9(@+y) = g(x) + g(y).

g Fa—Y—DOHBIERZRT-TNS g(z) =cx 705,
£oT
f(z) = g(log, x) = clog, x.

51 3  Find all continuous functions f;R*T — R™ such that for all = and v,

flzy) = f(x)f(y).

f(x) >07Zh6 g:RYT 2R % g(x) =log f(z) £BE, flzy) = f(o)f(y) 2 g TH
TETE
g9(zy) = g(z) + g(y).

T, #l2 oBARER LS. g(z) =clog,z £V f(z) = ecloBa?,
t=c/loga &EL &
f(x) =2t



2 MREEME

i@ 1 (India National Mathematical Olympiad 2016)

Let N denote the set of all natural numbers. Define a function 7' : N — N by
T(2k) = k and T(2k + 1) = 2k + 2. We write T?(n) = T(T(n)) and in general
T*(n) = Tk=1(T(n)) for any k > 1.

(1) Show that for each n € N, there exists k such that T%(n) = 1.

(2) For k € N, let ¢; denote the number of elements in the set {n : T*(n) = 1}.

Prove that cgyo = cx+1 + cg, for k> 1.
BB (1) BCHIRE TR

()n=1,23 DL &
T(1)=T(2-04+1)=2-04+2=2, T(2)
T(3)=T((2-141)=2-1+2=4, T(4)

T(2-1) =1,
T(2-2) =2 AE DD,

Mo Tr(n)=1&%% ke NMMEET 5.
(i) 123&LTnSl—1DLEFOIDLINET 5.

zﬁ%ﬁwa%,nnzégz—L

WEMPS TE(/2) =1 £72% k BFAET 05

T = THT() = T*(1/2) = 1 B30 AL D.
IREBDOLE, =21 +1 &8<

T%n:Tamh+1»:T@h+2y=h+1:i%l§Z—L

RERS TF(L +1) =1 &5 k BMEET B0 5

TF2(1) = TH(T?(1) = TF(ly + 1) = 1 A3 b 32D,
oTn=1l0&Ed T() =1 Ziii/=3 m BPFET 5.

(i), (i) 25 TRTOEDEH n 1z LT TF(n) =1 279 k DMFHET 5.



(2) k=23&LT, IROD2DODIL%/RT.

|{n:Tk(n) =1,n=4d+2,d € Z>o}| + ‘{nTk(n) =1,n=2d+1,d € Z>o}|

= [{m:T* Y m)=1meN}|, @
[{n:T"n)=1,n=4d,d e N} = |{m :T"*(m)=1,meN}|. - ®
ER MO

{n:TFn) =1,n=4d+2,d € Z>o} PDEFE n=4d+2,d=20%t b, m=n/2=
2d+1eN&BLE midwET

1=TFn)=TFYT(4d +2)) =T 2d + 1) = TF " (m)

5 TF1(m) = 1.
n:TFn)=1,n=2d+1,d € Zso} PEHEZn=2d+1,d=20%, D, m=n+1=
2d+2cN B L midfEHcT

1=TFn) =TFYT©2d+1)) =T 1(2d +2) = T (m)

A TF1(m) = 1.

Bz, {m:TFYm)=1me N} DEZEm=2d+1,d=20%2bH, n=2m =
4d+2eNeBLE TFn) =1.
{m:TFtm)=1,m e N} DEEm=2d,dcN%2&bD, n=2m=4d+2€ N &
BLE Tr(n) = 1.
U72D3> T OO 32D,

RIZ@%RT.

n:Tk(n)=1,n=4d,d e N} DEEZ n=4d,d>1%20, m=n/d=deNt5
<&

1=T"n) =T YT4d)) = TF 1 (2d) = T*2(T(2d)) = T*2(d)

S TF2(m) = 1.

Wz, {m :T*2(m) =1,m e N} DEHEZm =21%229, n=4me NeHL
T*(n) = 1.
U72D35 T @I D 32D,

O+ 95

[{n:T*(n) =1,n e N} = [{n:T" '(n)=1,n e N}| + [{n: T"*(n) = 1,n € N}|

IRDE ¢ = Cp_1 + Ch_2 (k‘ > 3) N AIRVASR [ ]

9



fERE 2

(Japan Mathematical Olympiad Finals 2016)
Find all functions f : R — R such that

fyf(z) —z) = f(z)f(y) + 22

for all z,y € R.

R

OTz=y=0&BL L f(0)
T%9 5.

2

fyf(e) —x) = f(x)f(y) + 2z

(1) f(0) =0D5&EG

OTy=0&BLL f(—x)=2x %2135.
IDATrsDEIA A% —x CEEHZI DL

f(x) = -2z Ve e R

NELNS.
oD EAINE

fyf(e) —z) = f(—22y — ) = =2(2zy — x) = 4oy + 2z,

f@)f(y) + 2z

‘D%bb%‘%@&i)ﬁ@ﬁ’).
f(0) =105
ﬂ)_1@m COVTHARTEL.
fla) =1 DO LD ERET 5.
OCTarz=y=a BV~ fla—a)= f(a)*> +2a 75

(—2z)(—2y) + 2z = 4oy + 2z

f(0)=f(a)*+2a 1=1+2a a=0.

= F(0)2 75 F(0) =0 £71% f(0) =1 225D THA

LEnoT, fla) =1 =>a=0m0x5. f(0)=17EhSERKDI LMK

NLD.
flz)=1<=2=0

OTy=0sBWV f(—z) = f(2)f(0) + 2z "5
f(=z) = f(z) + 2z

10



2585
OQTyDeIAr% —y CEHEMHMZ L

f(=yf(z) —x) = f(z)f(-y) + 2= «-enn.

2195,
@TxDE I A% yf(r)+x CEEHRSLL

fl—yf(x) —z) = flyf(x) +a) +2(yf(x) +x) e

Y5,
@OT@DE f(—y) = fly)+2y 2fi> &

Fyf(e) +2)+2(yf(e) +2) = fz) (fy) + 2y) + 22

Thbb
flyfx)+2)=fl@)fly) e
N A RVASN
OEOR >
fyf(@)—z)— fyflz)+z) =20 oo-
PELND.

f(x) =0 DIRIZDOVWTHARTEL.

F(b) =0 %75 b IMAAET 2 LIET 5.

ﬂ@zlﬁ#%b#0ﬁ,®ﬁx:%y:b88<t

()~ 4)=s () sz =1

(x) 25 &

LB,
U7DioT f(z) =0 DfftidE~ 1 HTH 5.

11



fl@) =0 %729 o BEET 2HE, Z0ES5hz k1 o2UhhnhsIng b
L.

vaeR,u;”¢bmﬁb1f<”;”>#0ﬁ®ﬁ

uU—v U+ v
T = Y= ——F7—— -~
? (*5%)

2f 5

bk

. utv  u—v _ _utv u—v _

INsDREFHNOEHEET L

f)—fw)y=u—v Vu,veER u—vx2b --... ®

b A
U—v=20D,TFv—u=-20x207=16@%fH> L

Flu) = fw) =v—u FabL  f) = flu) =u—n

DR AN AN
f)—flu)=u—w Vu,v € R, u—v = 2b.

UEDZ &5
f) = flu)=u—v Yu,veR ...
N ARVASN

flx) =0 2723 o BEHELARVBEE, Yuv e RIEHLT f (%) L 07

DT
U— . U+ v

2 ’y_2f<u;v>

B LIk ®EES.
®&ZERT 5L
flu)+u=flv)+v  VYu,velR

oo, TOXTu=z,0=08L f(z)+z=19742bb

fle)=1—x Vz e R

12



oD EAT1E

flyfl@z)—z)=flyl-2)—z)=1-(y—2y—z)=1+2—y+ay,
f@)fly)+2x=1—-z)(1—-y)+2x=142—y+ay

ERDELWR SO D LD,

(1), (2) »SfRF

o f(xr)=—-2x Ve e R
&

e flx)=1-2z Ve € R
Ths.

13



& 3 (IMO 2015)
Let R be the set of real numbers. Determine all functions f : R — R that satisfy
the equation

fle+ fle+y) + fley) =2+ fle+y) +yf(2)

for all real numbers = and y.

R
fl@+flz+y)+ fley) =z + flx+y) +yflx) e ®
Bl
OTz=y=0%1BWV f(f(0) + f(0) = f(0) 25
f(£(0)) =0.

OTz=0rBL
F(F W)+ £(0) = f(y) +yf(0).

ZDOXTy=f(0) &L

FF(FQ0)) + f(0) = F(f(0)) +/(0).
=0 =0

F(f(0)) =0 %> & 2f(0) = f(0)%> 25 f(0) € {0,2}.

(1) f(0) =254
f(f(0)=0Th-7256 f(2)=0.
OTy=1&8L

fle+ fle+ 1)+ flz) =x+ flz+1) + f(2)

mo
fle+ flx+1)=x+ f(z+1).

z=z+ f(z+1) B L f(z) ==
OTz=0&8BLL
F(fy) +2=fly) +2y.

ZDOXTy=z&8LL f(f(2)+2=f(2)+ 2z
fR)=z2i5& 242=24+22256 2=1%1FT

z+ flz+1)=1 flz+)=1—-z=2—(z+1).

14



£oT
flx)=2—x Va € R.

ZOLEQOMEL, ABED 2+y —ay CHELLRD, QKDY IO.
(2) f(0) =024
OTy=0,BLL
fla+ fl@) =z + f(x). e ®

OTy=1&BWV7
fe+fla+1)+f@) =2+ f(z+1)+ f(z)

AR

flx+ flx+1)=2+ f(x+1). e ®
u=x+ flx+1) &BL L f(u) =

Tz =-12BVT f(-1)=-1%2F5%. £ OTz=1Ly=-1tB0x%
1

ﬂn+ﬂ—n:1—ﬂn#5fuy:—lgiﬁz1%%é.
@TzDeIA A% r+1 CESHEILL
flx+1+flx+1)=a+1+ f(z+1)

ERZY 2R
fA+u)=1+u.

OTz=1&BLL
fA+fA+y)+fly) =1+ fA+y) +y.
IORTy=u b
FA+f14u)+ f(u) =14+ f(1+u)+u.
fw)=u, fl+u)=1+u 25 fO+(1+u)+u=1+1+u)+ubd
Fe+u)=2+u

x1535.
DTz DLIPkr+2 TEEHAy= 1B

flx+2+ flx+1)+f(—x—-2)=x2+2+ f(z+1)— f(z +2),

15



fRHu) + f(=2—2) =2+u— f(r+2)
fQH+u)=2+u%fid&
f(=(x+2)=—f(x+2) VzeR.

£oT
f(=z)=—f(z) VzeR

M OALD, f(z) IFHBEBTH 2.
OTzDEI’% —x, yDL I A % —y CEZHID L

flme+ fmz—y) + fly) = —v + f(-2 —y) —yf(-2),

flmx = flz+y) + flay) = =2 — f(z +y) +yf(2),

—fle+ fle+y)+ flay) = —v— fz+y) +yf (@)

O+@»5
f(zy) = yf(x) Vz,y € R.

ZORTxz=1&8LL fly) =yf(l) =y »5
flx)==z Vo e R.

ZDEEQOREM, ABed 2z +y+ay ilFELLLD, OIFKD LD,

UEDZ s, fiid

o f(zr)=2-2 VzeR

&

o f(x)==x Ve e R
TH5.

16



9% 4 (Baltic Way 2015)

Find all functions f : R — R satisfying the equation

2l f(y) +yf(z) = flzy) + f(2®) + F(f(y))

for all real numbers x and y.

FRE
2lf () +uf () = flay) + F@) + F(f) e @
LEX<.
OTar=y=1807k f(1)+f(1)=Ff1)+ f(1)+ f(f(1) 25
fF1) =o0.

DTa=0,y=12&B0E £0) = £(0) + F(0)+ F(F1) 25
F(F(1)) = —£(0).
F(F(1) =0 %85 f(0) =0.
DCTa=1y=02LB0E £(0) = f(0)+ f(1)+ f(f(0) 25
0= F(1)+F(FO)  0=F1)+£(0) 0= ().

koT, f(1)=0%1E5.
DTr=0tBLL
yf(0) = f(0)+ f(O+ f(f(y))

aRN5)
JUW) =0  WyeR. ®
IhzafH> Ol
| f(y) +yf(2) = flay)+ f(=*) e @
CEIEYEAS.

@' Ty=0&BLL f(a?) =0 28555
f(x)=0 Ve >0, e ®

@' Ty=-1&BLL



r20&z QHEHMHZRET DL

zf(-1) = f(z) = f(~2) + f(z?)
ef(=1) = f(-=2x) Vo =0

k=f(-1) &L
f(x) = —kx Vo £ 0.

@Ty=-1&8LE f(f(-1) =025 f(k)=0.
k<0232 flk)=-k-k=—k?> 25056 - k2=02720 k<0ZFIET 5.
FoT k=0 TRITNIERS .

k=20 %2EHE LT

EQEMZT Z & %ERT.

220,y=200rE QOLEBEALEHIZO,

r20,y S0 D&E OOELIE 2(—ky) = —kvy, FiLE —kay + f(—ky) = —kzy,
———

=0
r20,y200eE OQOLUNIT y(—kx) = —kay, HLIE —kzy + f(0) = —kxy,

rS0,yS0D&E QOLELIE (—x) - (—ky) +y- (—kx) =0, A8IF f(—ky) =0
L Q%7

UL7hio T, fifik

k20 %ZEHRELT

18



BIZE 5 (EGMO 2014)

Determine all functions f : R — R satisfying the condition

F@P+22f(y) + f(2)?) = (y+ f(@)(z+ f(y))

for all real numbers x and y.

fRE
F@P+22f)+ f@)?) =@+ f@)@+fy) ®
r 51,
DTy =—f(z) £BWE f(f(2)? +22f(—f(2) + f(2)?) =025
f2f(@)? +2zf(—f(x))=0. e @

ZORPS f(t) =022 FEHt e RIPGFHETS.
fp)=[f(g)=02&75%.
OTy=pr=q&BLL f(p*) =pg
OTy=qr=p&BIL f(¢°) =pg.
OTCrz=y=p &L f(p?) =p°
OTz=y=q&BLL f(¢*) =

2T, pg=p? "D pq=q>

pxqrddL

pg=p* 5 p(g—p) =0 WRIZ p=0.
pa=q "5 qlp—q)=0PRIT ¢=0.
p=q=0&4D pxqllFETS. £oTp=qghEhio.

L7zh3-5T

2

flp)=fl@)=0=p=q.
f(2) =0 R3FEBEZE L LPEE—DTHEI LD s, Ik cBLlL
flz)=0<=2z=c

@QTIDI LML
2f (@) + 20f(~f(2)) =c. e ®

@Tz=ciBLL 2cf(0)=crb

c=0 Fix f(0)= %

19



flz)=0<=2x=0.

f@?+af(=f@x)=0 e @
L5,

@ ZHWT f A S (injective) TH D Z & &RT.
flp)=flg)=r &9 5.

@ Tax=peBLEr?+pf(-r)=0.

@ Ta=q2BLE r2+qf(-r)=0.

EoTpf(—r)=qf(—r) =25 f(—r)=0 £721& p = g DD L D.
f(=r) =00 EF —r=034bbr=0&%%525 f(p)= f(q) =0.
NP p=q=0%,7%D p=qThs.

U735 T fI3HE (injective) TH 5.

O Tao=—fly) B [ (v =202+ (~f()?) =0 &V
' =2/ + [ (—f()* =0.
ZORTy=z bBLL
2? = 2f()* + f(—f)*=0. e o)
ZOARDMWIIZ x* 0T 5 &
' =227 f(2)° + (af (—f(2)))” = 0.

O3 R
zt =222 f(x)* + f(2)* =0

Bo (22— f(2)2)° =0 $hbb f(2)? =12 2135.
£oT
f(z) e {z, —z} VeeR. e (%)
flx)2 =22 %25 OQIFROE>ITEEZEES.
F@+2efy)+2%) =@+ f@) e+ fly) - @’

20



Q' CrxyrANMmZEE
f@®+2yf(x)+9°) = @+ fW)(y+ f(z))

f (y2 + 2z f(y) +:132) =f (m2 +2yf(x) +y2).

[ IZH 5 (injective) 72025
y? +2xf(y) +2* =2 + 2yf(z) + y°.

£oT

@Ty=128LL

f(z)==f(1)
(x) X0 f(1) e{l, =1} DD Z L &S &
fHy=10&
flx)==z Vr € R,
fHy=-10& =

f(x)=—x Vx € R.

INnoi3zO%zHT.
1

(2) f(0) = 5 o5

@fx:oag<awmyzcaa5@ﬁa=%%%5.ukﬁof@@m@¢

DIZEHESEED.
2f(2)* + 20 f(~ f(z)) = +
"o
f@)? +2f(~f@) = T
flz)=0<=z=c
(3
f@)=0=o=1
AR

@ ZHWT f 23 HE (injective) TH D Z & Z/RT.

21



flp)=flg)=r&¥%.
@ Ta=peBLE r2+pf(—r) =

@' Tar=qeBLL rP+qf(-r)=

l\')|i—‘ [\3|>—l

EoTpf(=r)=qf(—r) 25 f(—r)=0 £72iF p=q DED L D.

J=r) =0DrEE 1 = 2 $hbL =~ LBD.

F=r)=0% 12+ pf(—r) = % ITRAT B Y 2 = % YD = _% FIET 5.

koTp=q LRBHS f XS (injective) TH 5.
DTabyr ANBAS L
fa?+2yf(z) + f(y)?) = (@ + F(y)(y + f(2))
®, @&y
P+ 20f(y) + f(2)7) = f (&% + 2yf (2) + F(0)°) -
FIXHET (injective) 72405
v’ +22f(y) + f(2)* =2 + 2yf(2) + f(y)?  Vo,yeR.

®Ty=02BW-

’C“y:% e, f(%):omsa

1 2 2
Ly p@? =22+ ).

ZDOARTOERMS &

£oT
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ZorxE, O0LTIE

fWP+22f(y) + fa

\/

(v + 22 f(y) + f())

Hil
(+ @)@+ @) = (y+5 -2) (s4+ 5 -y) =+ - @-y)°
THELLS LS.
PAEDZ &S fifisk
o flx)==x Vx € R,
o f(x)=—x Vo € R,
of(:z:):%—x Ve € R
Thsb. [ |
[E1] O odbe, O %2FMALTROLS M ZLEHTES,
F(1) € {1, —1} 205 f(1) DIETHED T ET 5.

(I) f(1)=10D%4E
O'Ty=1&BLL

f(1+2)%) =0+ fl@)(z+1). e ®

() 25 f(1+2)?) € {(1+2)% —(14 )%} HH LD,
f ((1 +:1:0)2) = —(14+x0)% (wgx —1) &85D 2o WFELEZLETE. ZThEGT
=29 LBVIEDIZRATS &

—(1+@0)* = (1 + f(w0))(zo + 1).

zo ¥ —1 7206 —(zg+1) = f(xo) +1 805 f(xg) = —x0 — 2.
ZHid f(xo) € {zo, —zo} ITFIET S.
L7zhioT

f((1+2)%) =(1+2)? Vr e R
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A RVASH
INEOIZRATS L

(14 2)* =1+ f(z)(z+1).
ex 10X l+r=1+f(z) THbb
fl)=2 VYo -1.
f(=1) € {1,-1}, f(1) = 1 T f & injective Z05 f(—-1) = -1 £7%5DT
flxy=2 VzeR

(1) f(1) = —1 DH&
O Ty=1&8E

f(A=2)) =0+ fl)(z—-1). e ®

F(1=2)2) € {(1—2)2,—(1 — 2)2) A3k D 7o,
f((l —xo)z) = (1 —1‘0)2 (:170 X 1) AP Io i)‘ﬁ@bf:t?% ZEI/L%’:@’C
r=x0 EBVEEDIZRAT S &

(1—0)* = (1 + f(z0))(z0 — 1).

To x 1 725 o — 1= f(.fl)o) +19%bb f(.’l?o) =1x9 — 2.
ik f(xo) S {l‘o, —.CEQ} ZFES 5.
L7=m-oT

f(l=2)?) =—-(1-2)? Ve e R

NS A RVASH
INnNEOIZRATSE

—(1-2)>= 1+ f(z)(z—1).
rx1DEE —(x—-1)=1+ f(x) THbbH
fx)=-z Vo=l
f(1) = -1275

flx)=—=z Vx € R.
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[x 2] £(0) = % DEBEIFRD &5 1R Z L 5 TED.

@@x:0a8<t2ﬂm2=cttéwﬁc:€§%%é.btﬁof@ﬁmwxi
IHSEES.

2f (@) + 20 f(~f(x)) = 5
AN
f@P+af(=f@) =4 e ®”
flx) =0z =c
(8
flx)=0<=z= %
AR

@ % F\NT f AYHE (injective) TH B Z & 2R,
fp)=flg)=r&d5.

@”Tx:pt8<tﬂ+pﬂﬂﬁzé.
@”Tx:q88<tﬁ+qﬂﬂﬁ:%.

5T pf(—r) = qf(=1) 75 f(—r) =0 £721% p= ¢ DD,
fem:owagu—wzéﬁmb%r:—%amé.

F(=r)=0% r2 4 pf(—r) = % TRAT B L 2 = % YD = —% ZFET 5.

Lo Tp=q %5015 fIFHS (injective) TH 5.
OTr=0BE, yOLI 3% x TEEHZI DL

f <332—|— %) = <x—|— %) flx). @

OTy=0&BLE
flao+f@?) = (e+5) f@. e

®, Ons
fla+f@)?) =f(a2+ ).

fIXHST (injective) 7272 5
r+ f(x)? =22+
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ERAY5R5)

2185, £oC
f(x)e{x—%,%—x} Ve e R
1\? .
f(a)? = (x— 5) Q@ TRATSE

rx00D&E f(—f(zx)=1—azPKOED. £oT

f(=flx)=1—-=z Vo %0

flao) =20 — - <$0#0 l) YD g BEL LT B,

2 T2

F(L ) =1

s (L) e {(2 ao) - 2L (L ag)) = {wa) .

26



i 6 (European Mathematical Cup 2014)

Find all functions f : R — R such that for all z,y € Rthe following holds:
F@®) + f(29°) = (fla +y) + fF))(f(x —y) + f(y)

FRE

F@)+ 2% = (flz+y)+ fW)(flz—y) + fv)

Bl
OTyDL I’ % —y TESMZI DL

f@)+ 12y = (fle—y)+ ) (f@+y) + (=)

VAN
O, @QDELIFEL VLS

(flx+y)+ fW)(flz—y)+ fy) = (flz—y)+ fF(—=y)(f(z+y) + f(—y)).

R L CHEM T 5 &
(f) = f=) (fle+y)+ flz—y)+ fly) + f(-y)) =0

CRBAHRTE S,
OTr=y=0,1BV%
2f(0) =2f(0) - 2f(0)

#%ﬂW:Oitﬁfmﬁriféézaﬁbﬁa
(1) £(0) =0 DEAE
F(2) =0 EQEWETHS, MUTF flz)£0 &1 5.
OTy=0t8LL

@n5

N RIRVASY I



MDD, £oT
f(—z) € {f(x),~f(x)} VezeR. ... ®
@%RD &> IZEHT 5.
F) — (=) Fz+y) + flz—y)+ f)? - f(—y)? =0.

©%fi> &
(f) = f(=y)(fl(e+y)+ flx—y)=0 -:r. @

fx) PMERE L 25 Z LR,

f(—a) = f(a) £72% a(x0) BFHELIZLT 5.

©15 f(—a) € {f(a),—f(a)} RO LDDT f(—a) = —f(a) £5.
fla)=07%, f(—a) =0 2720 f(—a) = fla) CFETEMS fla) X0 ThH 5.
77, a>0 2L TH MR EDbR.

@CTy=atBLE (f(a) - f(=a) (flz +a)+ f(z —a)) = 0.

f(—a) = —f(a) 2> ¥ 2f(a) (f(z +a) + f(z —a)) = 0.

fla) = 0705
flz+a)+ f(x—a)=0 VzeR

ZOXTrDeIAr%x+a TCEHEMHMZILL
flx+2a)+ f(xr)=0 VYeeR. .. ®

208952005 f(r+2a) =0, f() Z2072DT, WK NLDDIE f(z+2a) =
02D f(z)=0DLETHB. £oT

f(x)=0 Ye>0. ®
®TzDLZr% x+2a TEEHRZ, ®%HF> L
f(x+4a) = —f(z + 2a) = f(z)

ERAY 2R
f(z+4a) = f(zx) Ve e R

A D 0. koT () HEAND 40 DM E DT, @% M &

flx)=0 Vz e R
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MORB. ZmS fla) = f(—a) =0 &% f(—a) % fla) THB I LIZFE

T 5.
XoT f(—a) % f(a) &5 a(= 0) BAFAEL R VA S

f(=x) = f(x) VzeR

A B, f(r) HEERTH 5.
DTz=0LB20, O%H> L

fy?) =2f(y) - 2f(y) =4f(y)* = 4f(y)

D RVASKIE
f(2z) =4f(x) Vo 2 0.

fx) IMBEREE 2 5
f(2x) =4f(x) Vz € R.

Oz®, OEHWTEEZHET L

@<= f@)+4fW°) = (f@+y) + FW)(f(@—y) + f(y))

= f@®)+4fW) = fla+y)fle—y) + (f@+y) + f@—y)f(y)+ fy)°

= f@)P+3fW)? =f@+yf—y) +(fla+y)+ fz—y)f(y)

@Ta lyrANDNREE

fWP+3f(@)?=fly+a)fly—z)+ (fly+a)+ fly— ) f(z)

F(x) RABRASE 2 5

3f(@)+ fW)’ = fla+y)fx—y)+ (fz+y) + f(z—y)f(z)

® -0 »s

2(f(x) + f)(f () = f(y)) = (F +y) + [z —9)(f (@) = fy)).

£oT

f@)=fly) =0 F=E 2(f(2)+ fy) = fle+y) + flz -
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BB 1,y co0nT 2(f(2)+ f) = fle+y)+ flx—y) BPROIDETE. O75

fle+y)fz—y) = f(2)* +3f(y)° = (fx+y) + [z — ) [(y)
= f(@)? +3f()* —2(f() + F(W)f ()

)2 —2f(x)f(y) + f(y)?

= (f(z) = f(y)*

£oT flz+y), flw—y) B2 =2(f(x) + )t + (f(x) = f(y))? =0 DT H 5.
ZD 2G2S &

t=flx)+ fly) £2v/ f(2) f(y)

= f(x

LIRDEMS

{£@) + FW) +2VF@ W), f@) + Fy) -2/ F@T W) }
{(vi@ + Vi)' (Vi - Viw) '}

{f(x+y), flz—y)}

2135, @Y
RO z,y c RIZFLT

f(z) = f(y)
E i
(et o). st ={ (Vi@ +Viw) . (Vi@ -viw) } @
ANDURVASR

BTzDEIi%E 4y, yDeIsido—y CEZIHEIDL

EED z,y e RIZXH LT
flx+y)=flx—vy)

F 720
(f(22), (Qy}_{<\/f:v+y )+ V(@ —y) >,<\/f(:1:+y)—\/f(x—y)>2}

MDD, WEES &
EED z,y e RIZFLT

flx+y)=flz—y)
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EQAA S

U@, 1y ={ (VieTn+ V@) )" (VieTn - Via-n) 12)’}

NS A RVASR
®, @%HNT
TRTD 2,y T LT

2
)

(et o) fa =) = { (VI® +VIW) . (VIG -Viw) b @

MDD Z & %IRRT,
(7) f(zo) = flyo) 22 f(xo+yo) = f(xo — yo) D&EH
@Tr=x0,y=1y LBV

F(0)® +3f(y0)? = fzo +y0) f (w0 — yo) + (f(xo + yo) + f(zo — 10))f (vo)

"o

4f(w0)* = fzo+y0)* + 2f (w0 +y0) f(wo). oo
@CTz=wz0+yo,y=20—yo LB L
(o +y0)® +3f(x0 — y0)* = f(2x0) f(2y0) + (f(220) + F(240)) f (x0 — yo)
"o
4f(zo +y0)* = 4f(x0) - 4f (y0)2 + (4f (x0) + 4f(y0)) - f (w0 — yo)
f(@o) = f(yo) 22 f(wo +yo) = fzo — yo) 25
f(@o+y0)* = 4f(x0)” + 2f (wo) f(wo +30). oo

@+ 25 f(xo)f(xo+yo) =0.

flxo) =0DEE@D5 f(xo+ yo) = 0.

flzo+1yo) =0DEE@D 5 f(xg) = 0.

L7D3o T f(xo) = flyo) =052 f(xo +yo) = f(wo —yo) =0 &7 D @ILAK
YRVASOR
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(1) f(zo) = f(yo)

nD

{f(z0), f(vo)} ) ,
{( \/f 930+y0)+\/f(930—y0))/2) ,((\/f($0+y0)—\/f(fEO—QO))/?) }

DIGE
ZD20o0% ALY

<<\/f(x0+y0) + v/ f(xo —yo)> /2>2 = ((\/f(l‘ovLyo) —V/ f(o —y0)> /2>2

MWD DD 5 \/f(ﬂ?()—f—yo)'\/f(l'o—yo) =09%bb

f(zo +yo) f(zo — yo) = 0.
flxo+yo) =0 F721F f(wo —yo) =0 &7 5.
Fleo+90) =002 &, f(ao) = flun) = L0 vz
{f(zo+yo), f(xo — o)} = {0,4f(z0)}
—{ (VT - VTw) " (VF )+ V) |-

Flao—w) =02 =, flag) = f(yn) = LEEW) v rz s

{f(zo+yo), f(xo —yo)} = {4f(x0),0}
—{ (VT + V) (VT - V7)) |-

EDZERSTARTD 2,y € RIZH LTI 20,

(z) = /f(z) LBEEH g R - Ry 20K 5.
f(0)=0 f(= )Zf(x),f(:vg):f( )%, f(2z) = 4f(x) 1&

9(0) = 0,9(—z) = g(x),9(2*) = g(x)?, g(22) = 29(x) -+ (%)

LiR5.
% g TEEZET L

{9 +y),9(x —y)} = {9(x) +9(y), lg(x) —g(y)}  Vz,yecR. ... @'



@ &b
g(z) +9y) €{9(z +y),g9(x—y)}  Vr,yeR

N RIRVASY Y

9 (2® +9%) + g(2zy) € {g (#* + v* +2zy) , g (¢° + y° — 2ay) }
={g((z+9)?),9((z-y)?)}.

9(2zy) = 2¢g(xy) ZfES &
9 (= + ) +29(zy) € {g (= +9)?) .9 ((z —v)*)}

2185,
@ £

g ((@+1)?) = (g +y)* € {(9(@) + 9W)*, (9(x) — 9(w))* }.

9 (@ =12 = (gl = )" € {(9(@) +9)*, (9(x) — 9(u))° }
DWEDALD, BEfHS &

g (z* + 1) +29(wy) € {(9(a) + 9))* (9(x) — (1))’ }

@ Ho
g(2®+y?) € {g(=®) +9(¥*) ]9 («*) =g (¥*)]} -

—fMEE RS Z e g(r) 2 g9(y) LIRETES.
ZDExE
l9 (%) — g (v*)| = |9(2)* — 9(v)*| = g(x)* — g(y)*

S
g(z®+y*) € {g(=®) +9(v°).9(2%) —g ()}

g(a?+y?) =g (a?) +g(y?) PLEOI

9(x)* + g(y)* + 2g(zy)
€ {g(x)* +29(x)g9(y) + 9(v)*, 9(x)* — 29(x)g(y) + 9(y)*}

LB S  gloy) € {g(x)g(y), —g(x)g(y)}.



g(2?+y?) =g (a?) —g(y?) PELEOI

9(x)* — g(y)* + 2g(zy)
€ {g(x)* +29(x)g9(y) + 9(¥)*, g(x)* = 29(x)g(y) + 9(y)* }

L5205 glay) € {9(z)g(y) +9(y)*, —g(x)g(y) + 9(y)*} -
—g(x)g9(y) + 9(y)* = 9(y)(—g(x) + g(y)) S0 En5

g(zy) = g(x)g(y) + 9(y)*
»B5, koT
9(z® +y?) = g(2®) — g(y*) = g(zy) = 9(x)g(y) + g(v)>. - @
FRED a,b e RIZHLT  g(a® +b%) = g(a?) + g(b?) BE O IDZ L %ZRT.
HbLLHD a,bec RIZHLT gla®+ %) x g(a®) +g(b?) ZEHET S &,
g(a® +b%) = |g(a®) — g(b?)| 2V L.

g(a) = g(b) LARELTH MMz Kby,
g(a®+v*) =g (a®) —g (b?) Zh 5 &b

glab) = g(a)g(b) +g(b)* e @
2135,

a =2a,b = %b LY, Ve RIS LT g(2t) = 29(t) DR D S20H 5

g(a) = 9(2a) = 29(a), g (V') = g (3b) = Sbg().

Wz Iz
g(a') Z g(a) 2 g(b) 2 g (V)
e
g (a'b') = g(ab),g(a') g (V') = g(a)g(b)
N ARVASR
g (a/2 + b/2)

g (a”) + g (b2) BHEDEDL FR@ED g (a'b) = g(a’) g (V) B
Vg (') = g(a)g(b) LHDET

glab) = g(a)gtb) e B)

DLDD S g (a
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@, @95 gb)=0%K55. 20k
g(a®+b%) =g(a®) =g (b°) = g (a®) =g (a®) + g (v*)
2780 g(a®+0b%) xg(a®) +g(b?) FET 2.
g (a2 +02) = |g () — g ()| = g ('2) — g (V) BHDTD L @ & D
g(@t)=g(a)g(t)+g¥)

DD m 5 g (') g (V) = g(a)g(b),g(a') g (V) = ga)g(b),g (') = bg(b) &
HbHET
glab) = g(@)g(®) + To)%. e 2

@, @h5 gb)=0%/B5. Z0L X
g(a®+%) =g(a®) =g (b?) = g (a®) = g (a®) + g (v*)

720 gla® +b?) x g(a?) + g(b?) ITFIET 5.
L7zDioTEBD a,b e RIZFHLT  g(a® +b%) = g(a?) + g(b?) B LD 5
RDZENRNZD.

gz +y) =g()+gly) Vor,yz20. oo @)

g(x) 1 [0,00) TaA—Y—DEBAERNEALL, Ve e RIZHLT g(z) 2 0 &7z
ERAL)

5.

g@?)=gx)2 Ta=128Lg(l)=g(1)2 %5, ZhzE<L g(l)=0%F7
Zg(l)=1%7%5.

g1) =00, ZE, glz)=0 V=0 ,7%5%, g(z) l3MEREERDT

g(x)=0 Vz € R.

£oT
flx)=0 Vx € R.

I flz) Z0IZFET 5.
gl)y=10& &



LB, g(x) MMERABZLDT
g(z) = |x| Vx € R.

£oT

YR 1

F@®) + f(20%) = " + 497,
(flx+y)+ fW)(fle—y) + W) = (z+9)° +°) ((z—y)* +v°)
= (@+9)?’@ -9’ + (@+v)°+ @ —-v)?) v’ +y'
— 134 . 2x2y2 + y4 + (21:2 + 2y2)y2 + y4
=zt + 4y*

L5 n5, ORI,

£0) = L oma®ey=0es<r (o) + L= () + 1) 5
f@) = f@? + f@) = e

@WTaxDEIA A% —x CEEHmZISLE

f@) = flaf+ f-a) -+ ®
— @ 75
(f(x) — f(=2) (f(z) + f(=2)) + f(z) = f(=2) =0, -
(f(@) = f(==2)) (f(z) + f(=2) +1) = 0.
kot

fi=z) e {f(@), = fle) =1} e

Flz) BIBER L 25 = £ AT
f(=a) % fla) £7%5 a(x 0) BELELEETHE@ED

f(=a)=—f(a) - 1.
Orx3 AN
(fly) = f(=y) (f(z+y)+ flx—y)+ (f(y) = f(=y) (f(y) + f(-=y)) =0

36



IZ@EMES &
(f@) = f=) (fle+y) + fle—y) = (fly) = f(=y) =
(fy) = f(=y) (fx+y)+ flz—y)—1)=0.
ZORTr=0y=a B L
(f(a) = f(=a)) (f(a) + f(=a) = 1) = 0.
f(=a) = —f(a) =1 %265 % 2f(a)+1)-(=2) =0 »5 f(a) =

f(—a) DfEZ

=1

fl—a) = —f(@) ~ 1= !

1

2
720 f(—a) = f(a). ZNE f(—a) = f(a) ZFIET 5.
EoT f(o) BB 72 3.
OTrx=0,1BVE

%+f@f%20w%+ﬂwﬂﬂ—w+f@ﬁ

OTe), xS L
(fle+y)+ W) (f(@—y)+ fly) = f(@®) + f(257)

(flx+y)+ fW) (fle—y)+ fy) = f(x)® + flx) +4f(y)*
ZOATy=0&BLL

(f22) + (@) (5 + [(@) = 5/(@)* + f(2) - 2,

@) (5 +[(@) + f(@) + L f(2) = 5f (@) + flw) - 2,

0,

1oam
5 18 5.



f(2z) (% +f($)> = 4f(x)? + %f(;p) — %

= (4@ - 2) (f@) + 5 ).
5T flz) = —% E703 f(20) = 4f(z) — % U RAT Y

f(z) € {—% W} vz € R.

fla) = —% Y42 E f(20) = Af(x) — % A D 2.

2
@75 f(22)+ + = (flo)+5) >0 EDS f(a?) % —1.
kT f(2x2)24f(x2)—%7b§ﬁjzoﬁofa=e, ®, @& &

1

U7z -> T

F(a)? = i E@THS &

f(22%) = 4f(2)* = + =4

£-oT

F(z) RABRASE 2 5

iz ZE- 7.

U7zhY > TR
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& 7 (IMO Shortlist 2014)
Find all functions f : Z — Z such that

n® +4f(n) = f(f(n))
for all n € Z.

RE
IXRDFEZE N 5.
B a,b,c 1 TEIT a® +4b=2c% 2Hi=Txo1F
i) b=0
A
(i) 0] 2 Jal — 1, 6] 2 Je] — 1
ANDRIRVASH
Rz
b>0B5EB = al+1, b<0 BB b= +1
AND R BVASH
EERA b0 &9 5.
4b=c?>—-a®>=(c+a)(c—a) x4 DFERENPS c & a DMEFIZ—HT 5.

£9 (c+a)+ (c—a) =2a 3MBEED»S c+a k c—a DEFIE—HTEHZ L
IZHERTS. (ct+a)(c—a) T4 DEHENPS c+a & c—aldedITHBBE R
5. £oTeclaDl&EFIF—HT 5. (FBEIZ (¢,a) = (21,2m), (2],2m+1), (21 +
1,2m),(2l+1,2m + 1) DHEEBZEZTH LW.)

(Hbz1DrE
4b = (| +[al)(e] = fal) = 4 225 [¢] = |a] = 1.
lc| & |a| DIEFR—ET L5 5 |c| —|a| 2 2.

ZNEfMis5 e
4b = |c]* = |a* = (Ja| +2)? — |a|* = 4|a| + 4
o
b2 la|l + 1.
koT

bz la[+12lal -1
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n"o
o] 2 |a| — 1.
2)bs-10D&E
a?=c?—4b =4 25 |a| Z2 VR 5.
72 4b = (e[ +lal)(|c| = [a]) = =4 25 e —Ja] = —1.
le| & |a| DIEFR—T 205 |c| —|a|] £ -2 FH8bb5 || < |a| — 2
INzfis e

4b = |e|* — |af* < (Ja| = 2)* — |af* = —4a| + 4

AN

b< —lal+ 1.
£oT

—b=|al -1
AN

[b] 2 |a| — 1.

(1), (2) 5 |b| 2 |a| — 1 DO ILD I EARI NIz,
I |b| Z || — 1 25T
a?+4b=c?% 2+ 4(-b) =a® LEWTE. LOERDPS |-b 2 |c| -1 FT2bbH
b 2 |e| — 1 3E D 32D,
FRZ —b>0372bb b<0DEE [b] = |c|+1 DD LD, O
n?+4f(n) =f(f(n)*> ®

Lyl
FTIROZEDED LD EIZEZE L.

flw=fv)=u=4+0 .. (%)

flu) = fv) 225 u? = f(f(u)? —4f(u) = f(f(v)? —4f(v) = v2 & T
uw=+v #155.

OTHIEZMS &

fn) =0 F7&x | |f(n)] 2 n[-1 22 |fn)] 2 |f(f(n)]-1 vn € Z.
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@TnOLIs% fln) CTHEMAS L
f(f(n) =0 &7k [f(fn)|2[f(n)|-1  VneZ e
F(n) %022 f(f(n) %0 &RET S
[f(m)] 2 Inl=1 22 |f(n)] 2 [f(f(n) =122 [f(f(n)] 2 [f(n)] -1

N AIRVASIONE
f()|+12[f(f(n)] 2 |f(n)] - 1.

LT [f(f()] € {lf)] = LIf(R)], [f(n)] + 1}
L7=moT

fln) =0 F7i&  [f(f) € {0, [f(0)] =L If()],[f(n)]+1}  VneZ

N AIRVASR

(1) f(m) =0 D%G&
OTn=m &BW=m?2+4f(m) = f(f(m))? »5 m? = f(0)2.
£oT f(0) ==x|m|.
OTn=0¢BWV7

5 f(0) 20 ThD. £->T f(0)=|m| &5,
ZHE AF(0) = F(F(0)? ILARAT B &

f(mph?=4fm[.

m=200DLE @I f(m)2=4m &%25%. f(m)=0Tho72h5b m=0%255.
m<0DEE @I f(—m)? = —4m &7 5.

m=-t2(tz21,teZ) LBIF5.

f(0) = [m[ 225 f(0) =12

Fm) =025 f(—t2) = 0.

F(=m)2 = —am 55 (f (2))” = 46,

£ o T f(t?) € {2t, —2t}.

OTn=1 B0k (12)2+4712) = f (F(12)* 25

tH2 +8t=f(202
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F7-%

(t)2 =8t = f(—2t)> ®’
NI RRVASH

(t%)? + 8t = f(2t)? MO NLDEE (b= 2t > 0)
ZOXNTHiIEZMHS &
2t] = [t?] + 1

NS t2—2+150%EF5. £oTt=1Tm=-1.
f(=t)) =075 f(-1)=0.
@It=1%2RATBL 9=f(2)2 5 f(2) = +3.
OTn=228KE 44+4f2) = f(f(2)2 20 2RI ATNERS VRS
f(2) =3 %135.

(t2)2 — 8t = f(—2t)? DO LDHE (b= —2t <0)
ZOXTHiEZMS &
2t] = [t?] — 1
not2—20—-150 2155,
tZ23DeE 2 -2=tt—-2)23-3-2)=3>1725612-2t—-1=Z0IFHkD
AL AN
t=120tE REX 2 -2t -1 0KV LD, koTte{l,2}.
t=2¢92Lm=-47Tf0)=42%3,
F(=)2=0n25 f(—4) =0.
f(t?) = =2t 5 f(4) = —4.
© ZTt=2%RATHEHD LD,
(2) f(m) =022 [f(f(m))| = |f(m)| D&&H

OTn=m&bWV

m? +4f(m) = f(f(m))?
"o

m? £ Af(m) = fm)% @
ZOR%E

m® +4 = (f(m)—2)"

EERUTHEZMES. (a=m,b=1>0,c= f(m)—2)
1] 2 [m[+1
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"o m=0%/E%. IhEk QITRATEL 4f(0) = f(0)2 25 f(0) € {0,4}.
fO)=f(m)x07Z»56 f(0)=4 k5.
FOfm)] = 1fm)| Tm =0 & U7 [f(f0)] = [fO)] F[f(4)] =4 &m2n5
F(4) € {4,-4}.
fO)=47226 (x) Z2fid & f(4) x472DT f(4) = -4 72 5.
DOTn=41BWZ 16+4f(4) = f(f(4)? X 0= f(-4)? 95 f(-4) =0
2585,

(3) f(m) =022 [f(f(m))| = |f(m)] -1 D&
OTn=m&BWVi

m? +4f(m) = f(f(m))?

"o
m? +4f(m) = (|f(m)| = 1)* = f(m)* = 2|f(m)| +1

ERAY.5R>)
m? 4 4f(m) = fm? —2|f(m)[+1.

fm)>00rx @k

Y75, ZORELRLI
m? +8 = (f(m) - 3)

CHIEZHES & (a=m,b=2>0,c= f(m)—3)

12| 2 |m|+1 25 me{-1,0,1}.

m=00DrE ZNE m?2+8=(f(m)—3)2ITRALT f(0) 2:kdB & f(0) ¢ Z

R ARS B

oTme{-1,1}.

m?=1%m?= f(m)?—6f(m)+1LIZARAL f(m)>—6f(m) =055 f(m)=6

2G5, (o f(m)=0.)

f(m) =6 & [f(f(m))] = [f(m)| = LIZARALT |f(6)] =5.

i

m=1,f(1)=6,|f(6)] =5 F7=lZm=—1, f(—-1) =6,|f(6)| = 5.
f(m) <0 DL E ®IX



s, Inzefge
f(m) =1+1|m]|.
flm) <0 &b f(m)=1—|m|.
(4) f(m) %022 [f(f(m))] = |f(m)] +1 DEH
OTn=m&BWV
m? +4f(m) = f(f(m))?

RSy
m? +4f(m) = (|f(m)| +1)* = f(m)* + 2|f(m)| +1

ERAYP)5)
m2+4f(m):f(m)2—|—2|f(m)\—|—1, ...... ®

flm)>0 0L x @l

e, Iniefge
Fm) =1%|m].
f(m)>0&0 f(m)=1+|m|.
f(m) <0 DEE @l

b, ZTOREERLE
m® + 8 = (f(m) —3)°

CHIEZHES & (a=m,b=2>0,c= f(m)—3)

2| 2 |m|+1 25 me{-1,0,1}.

m=00DrE ZNE m?2+8=(f(m)—3)2ITRALT f(0) kDB & f(0) ¢ Z
ARS8

EoTme{-1,1}.

m?=1%m?= f(m)?—6f(m)+1IZARALZ f(m)>—6f(m) =055 f(m)=6
2G5, (o f(m)=x0.)

f(m) =62 [f(f(m))] = [f(m)| + 1 IZARALT|f(6)] = 7.

FeHdE

m=1,f(1)=6,|f(6)] =7 £/=lZm= -1, f(—1) =6,|f(6)| =T7.
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U EDZ &

(1) f(m)=0= m e {—4,-1,0},
(2) f(m) = 0,[f(f(m)| = [f(m)| = m =0, f(0) = 4, f(4) = =4, f(=4) = 0,
) f(m) >0, [f(f(m)| = [f(m)| = 1 = m € {-1,1},

f(m) <0,[f(f(m))] = [f(m)] =1 = f(m) =1—|m],

(4) f(m) >0, [f(f(m)] = [f(m)|+ 1 = f(m) =1+ |m],
f(m) <0, [f(f(m))] = [f(m)| + 1= m € {-1,1}.

7 (1)~(4) %L D
F4) = 4= f(~4)=0

MHWZ 5,

fd)=—-4292%. OTn=42BW\16+4-f(4) = f(f(4))? 25 f(—4)?2 =0.
EoT f(-4)=0

f(=4) =0&,F3. OTn=—-42B0V16+4-f(—4) = f(f(-4) 25
f(0)2=16. £>T f(0) € {4, -4}

OTn=—02BL L 4f0) = f(f(0)2 =025 f(0)=0%DT f(0) = 4.
f0) =4 /LT EiEo (1), (3), (4) 2= 0hrs (2) 223 0T

F(4) = —4.
Wiz e 5 e
fl)x -4« f(-4)>=0 ... (%)
[FRkIZ LT
f(4) = —4 <= f(0) =4
HEWAD.
BEDZEhs5
EREOBH n e Z\ {—4,-1,0,1,4} HLT f(n) € {I+n,1—n} - (%)
NS RIRVASH
FA) % —4 B LD S IE
[FREOEE n € Z\{~1,0,1} IKHLT f(n) € {I+n,1—n}  -ene (k)
AN AIRVASR

() Tn=2 5L f(2) € {~1,3} BRDLODTHERT 2T 5.
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F2)=—1 T BEFENLEL .

OTn=2BWVz4+4f(2)=f(f(2)2 25 0= f(-1)2F4%bb f(-1)=0
%135,

@OTn =18V 1+4f(-1) = f(f(-1)? »5 1 = f0)? T2bb
F(0) e {1,-1} 2135,
OTn=0%BV7%k4f(0) = f(f(0)2=Z025 f(0)=07%DT f(0)=1%7%
%.

41(0) = f(f(0)* 2 f(0) =1 2RATD L 4= f(1)2 Thbb f(1) € {2,-2}
21535,

OTn=1BL 1+4f(1) = f(f(1))%

f() =276 9=f(2)% 2 f(2) = -1 ITFET 5.

f(1)=—-27%51F 7= f(-2)2 ZhiX f(-2) EZIZFET 5.

L7zdioT f(2) =3 &7 5.
BEEINET, m D2 L OB O L &
fm)=m+1 .
MDD Z %2 RT.

i)m=20D,E f2)=3 THAHILIFLETRLT.
(il) m=k(=2) DEEWHH VD LRET 5.
OTn=k&BLl L&
K +4f(k) = f(f(K)*.

IRE %S &
B 4dk+1)=fk+1)?  flk+1)=(k+2)?

o f(k+1) e {k+2,—(k+2)}
k=3DrE f(4)€{5,-5} ¥D f(4) % -4 5DT (k) A 2.
k355 k+154%07T, (k)25 fk+1)e{l+ (k+1),1— (k+1)}

RO VDI L A ZELT
Flk+1)=k+2

EDn=k+10D&EHH LD,

46



(i), (i) £ m A2 UEDOBHDE E f(m) =m+ 1 A D L. O
[X] @&V f(4) =57T f(4) % —472DT (dek) DD LD,

(I) EEOEB n< -1 128 LT f(n)=1—n PO IDO5HE
OTn=—-18BLE 1+4f(-1) = f(f(-1))2
l=f(-1) &BLE 1+4=f1)>=20TIL20.
A+ VIFFEHEE?»S, 1=0,2,6,12,... L5,
1262T52@05 f()=1+1,%2DT, 2k 1+4=f(1)2I12RATS
E1+4l=(+1)>2
P -20=0%M< 2 1=0,2. ZHX1=261ZFET 5.
£oT1e{0,2} £725.

l=00D&% f(—1)=0.
F1+4=f1)? 75 f0)2=1Fkbb f(0)e{-1,1}.
OTn=0&8LE 4f(0) = f(f(0)%=0.
f0) =025 £(0)=1.
ZhE 4f(0) = f(f(0)2ITRALT f(1)2 =4 Fbb f(1) e {-2,2}.
OTn=1&BE 1+4f(1) = f(f(1))>
F) =246 —7T=f(-2)2. Z0IF f(-2) e ZIZFFET 5.
£oT f(1) =2.
DLEDZ &h s
{1x (x =
o flx)=
l+z (x=2-1)
L5,

=202 % f(—1)=2.
OTn=128<L 1+4f(1) = f(f(1))2
L= f(1) &BLE 1+4l = f(lh)2
e EeFEBIZLT f(1) =1, € {0,2}.
f() =025 1+4f(1) = fF(f(1)2 25 1= f(0)2 T&bb5 f(0) € {—1,1}.
OTn=0&BL L 4f(0) = f(f(0)?=0.
F0) =075 f(0)=1.
INEAF0) = f(F0)2ITRALT f(1)2=4Fbb f(1) e {-2,2}.
T f(1) =01 FET 5.

47



£oT f(1) =2.

OTn=0%tB< L 4f(0) = f(f(0))2
a=f(0) £BL L 4a = f(a).
aZ2RETHLONS fla)=a+ 1705

4a=(a+1)? a*—2a+1=0.

EFoTa=1t%RYD aZ221lFET5. da= f(a)2Z07E05a=0FiXk
a=1&7%%. ULid>T
f(0) € {0,1}.

PEDZEhS
FO)=0Drx
l-z (z<-1)

14z (z21)
Y%,
fO)=10r=

—x (r=-—
. f<:c>{1 =1

l14+z (z20)
L5,
HDk<-1IZKHULT f(k)=k+ 1D LDHE
ERED n € [k, -2/ 12 LT
f(n):n-l—l ...... (®)

MEK D D2 ¢ AR

k=2 DBEIZHSMTHEIIONS k< 2 DEAEEZB.
OTn=Fk B L k2 +4f(k) = f(f(k))2

fk) =k—+1%fi>&

B 4ak+1)=fk+1)* flk+1)?2=(k+2)>

Mo fk+1)e{k+2,—(k+2)}.
E+1< =175 (k) &0 fk+1)e{(k+1)+1,1—(k+1)} KO LD
DT fk+1)=k+2%1535.

n=k+1DLEELWHVLONSE, ZOBEEZGFEDIRUITZIZL V.
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OTn=-2¢8L& 4+4f(-2) = f(f(-2))2.
f(=2)==172»50=f(-1)2 &b f(-1)=0.
OTn=-128E 1+4f(-1) = f(f(-1))%
f(=1) =025 1= f(0)2 &b f(0)e{-1,1}.
DOTn=0&BL & 4f(0) = f(f(0)2=0.
f(0)=07%m5 £(0)=1.
ZhE 4f(0) = f(f(0)2 ITRALT f(1)2 =4 F42bb f(1) e {-2,2}.
OTn=1&8<E 1+4f(1) = f(f(1)%
f)=—=2%m51F —7T=f(—-2)2 ZhF f(-2) € ZIZFET 5.
£oT f(1) = 2.
MEDZ &5
{klf(k) =k+1,k< -2} x{zz€Z,2< -2 DL & {k|f(k) =k+1,k < -2}
DENTEFZAT Ik k LT 5.
r<kreZDeE flx)xc+1700 (khk) &V fla)=1—2&2d. £/
ETCHREZZEED 22k T f(2)=2+1ThH5.
kS 2% LT

. i) {11’ (x < k)

1+z (x2k)
AN
{klf(k)=k+1,kS -2} ={z2|z€Z,2= -2} DEEX
o flr)=1+=x Ve € Z
LinB.

flz)=1+2x OHH

OO n2 +4(1+n) = (n+2)2, £ (fF(1+n)2 = (1+(1+n))° = (n+2)?
T—EH7 5.

e f(z)=40 (x=0) DHA
l+z (x21)
ns—-1D&E
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OOEBE n?+4(1-n) = (n—2)2, B f [1-n| = (1+1—-n))" = (n—2)

>2
L =3 5.
n=00tE OOk, HBLd0THT5.
n=>1n&Z
2
OOEDE n? +4(14n) = (n+2)2, G0 f [ 14n | = (1+1+n))” = (n+2)?
>
) —,I 5.

E<S —1%2EHELT

{135 (x < k)
o f(x)= DGH
l+a (x2k)

n<knD&Z )
QDA n?2+4(1—n) = (n—2)%, HIX f (1 n) = (1+(1—n))2 = (n—2)?

i) —;|I 5.
n>2knD&ZE

OO EDE n2+4(14n) = (n+2)% 0 f | 140 | = (1+(1+n)” = (n+2)?
21+k>k

L —E9 5.

Lo T, fRIZIRD 3HMTH 5.
e flx)=14z Vx € Z,
l—z (z=-1)

142 (z=1)
E<S —1%2EHELT

. f(x){lx (:I;<k) -

1+z (x2k)
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%8 8 (Canada 2015)
Find all functions f : N — N such that for all n € N

(n—1)* < f(n)f(f(n)) <n®+n

(n—12<f)f(fn)<n*+n .. @

ru<.
OTn=128<L, 0< f)F(F) <2275, FO)F(F(1) BEDBEEENS

FF(FL) =1 bbb f(1) = 1L f(F(1) =1 L5,

Dz f()=1Th3.

B IRARTE T
f(n) =nn s e e e e (*)

MWD DT & %&RT.

() n=10rx f(1)=17m5 (x) ERD L.
() n<k(k21) DEE (+) B IO ERKET 3.
OCTn=k+1&BY

< flk+1D)f(f(k+1) < (k+1)(k+2)
WD SIORS m=fk+1) £BL L
P <mfm)<(k+1)(k+2). e @
m<kETdE, KHENS f(m)=m £%5b. ZhEQIRATSL
B <m? < (k+1)(k+2).

E<m?idmSEkEIZFET 5.
m2k+2235L@QDmf(m) < (k+1)(k+2) &b

(k+2)f(m) =mf(m) < (k+1)(k+2).

£oT
fm) <k+1

o1



ERAYX=

2195,
fm) S kEZPORELD f(f(m)) = f(m) DD LD,
OQTn=miBWV7

(m—1)% < f(m) f(f(m)) <m® +m

——
=f(m)
"o
(m—1)* < f(m)* <m®+m
2195,

(m—1)2 < f(m)? 5
m—1< f(m).

f(m) <k4+1DEHIEDDT m—1< f(m) <k+ 1.

ZDOREAPS m—1<k+1THbbEm<k+2&RD mZ2k+2ITFETS.
PEDZ EMS m=k+1 TRIFNIERS .

FoT flk+1)=k+1&B0Dn=k+1DLEH (%) IFHDLD.

(i), (ii)) KD ITRTOHRZE n IZDOWT (%) KD LD,
PEDZ N5
fln)=n Vn € N.
QxR .

U 7203 THRIZ
e f(n)=n Vn e N
Ths5. [

02



B 9 (APMO 2015)
Let S ={2,3,4,...} denote the set of integers that are greater than or equal to 2.
Does there exit a function f : S — S such that for all a,b € S with a b

fl@)f(b) = f (a®?)

1¢ SThaILITEELEW.
BETEDO e S 2L 5.
axb0(,a?*b!? xp10) DL &
f(a)f (b6) f (bl()) — f (a2b12) f (bl())
— f (a4bQ4b20) — f (CL4b44) )

axb0(a%?° xp?) DL E

fla)f (v°) f (bw) = fla)f (b7) 1 (v%)
2b20) ( )

f(a
_ (a4b40b4) _ ( 4b44) )

LT axbtb,axb @LE fla)f (1°) f (b10) = f(a)f (b2) F (b'°) THbb
F05) =F(0?)  Whes
MO ALD.
b2 b DS

FO%) =1 (- 07) = £ (b7) FO)
50T f (%) =f(b?) LRAT DL
F () f0) = (v*).

YoT f)=1¢,kb f(b) € SIEFET 2.
U755 C fa)f(b) = f (a2b?) %7 RIS £ BAFAEL 70, m
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& 10 (India 2015)
Find all functions f : R — R such that for all z,y € R

f (@ +yf(@) =af(z+y)

RE
f(a? +yf2) =af(z+y)
eHL.
OTax=y=028LL& f(0)=0.

(1) f(a) =075 a=x02FET D55
OTx=a 2BV fla®) =af(a+y) 75

fla®)

fly+a)=-—

£-oT

[ ) e L 7255 5
f(z)=0 VzeR

ZidO%7 .
(2) f(x) =0 &5 D0 LIANIIEEEL WG E
OTy=—-x 2BV f(2? —af(x) =0 25

z? —2f(x) = 0.

zx0725F f(z) =

f(0)=07m5
flz)=2  VzelR

ZNFO %727
U723 > TR

o f(x)=0 VzreR

&

e f(x)=x VreR

Ths.
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%8 11 (Zhautykov Olympiad 2015)
Find all functions f : R — R such that for all z,y € R

f @+ 9 +ay) =2 f(2) + v f(y) + flay)

S
F (@ + 97 +ay) =2 f(2) +y° f(y) + flay)

L.
OTy=0,BLL
f(2%) =2 f(x) + £(0).

ZOXTr=1BW7= f(1)=f(1)+ f(0) 225 f(0)=0.

£oT
f(2®) =2® f(x)

L%,
@Ty=—z &BVE f(-22) = 2> f(z) + 22 f(~2) + f (—2?) B

2?(f(—x) + f(x)) = 0.

rx00DEE f(—z)=—f(x).

F0)=07%E75
f(-z)=—f(z) VxeR

Thbb flo) ZEFERE 5.
QT[> &

f(@®+y° +ay)=f(2®)+ f(v°) + fay)

LB,
@TynLIsr% —y CESMR DL

f(2®=y® —ay) = f(2®) + f (=) + f(—ay).
flx) AR DS
f(2®—y® —zy) = f(2®) = f(v*) — flay).

O+@h 5
f(2®+ 9 +ay) + f (2 — y° —2y) =2f (2°) .
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Vu,v € RIZXFLT
:L'S-I-y?’-l-xy:u,xs—y?’—a:y:v

LBk

R I SR T FTTR ET

iz KO RER v,y PEETHI L 2RT.

2

a = 3/’u-|—’U,b:_U;’U Ly y3+ay+b20ﬁ‘%;&ﬁg%%?ik%%ﬁéii

<, ZhIEy ICBT B 3IMABRRENS Sl e 1 DOEMREE DI LD N 5.
ukﬁof,xzﬂﬂiﬂwﬁ+ﬂ“;”-“;“:o0£ﬁ%%yag<a,@@

2
ROEDIZEHEEZEES.

)+ f) =2f (“EL) vuveRr,
OTu,vDEIA%EZTNTN 2,20 TESHZI DL
fQu) + f(2v) =2f(u+v).

@DTov=0&BLL f(2u) =2f(u) 2155.
INEHAVTOEZESET L 2f(u) +2f(v) =2f(u+v) TiRbE

flu+v)= f(u)+ f(v) Vu,v € R

N A

®TovDE A% —v TESHZ, f(z) FHEBTHLIZLEZHAVI L

flu—v) = f(u)+ f(-v) = f(u) = flv)  Vu,veR

AN

flu—=v) = f(u) = f(v)
@TeDEIA%TNTNr+1, 0 -1 CHEHRXDL
fF(l@+1)?) = (@+1)*f(x+1) = (z+1)* (f(z) + f(1)).
f(la=17°) = (@ -1z - 1) = (z - 1)* (f(z) - f(1)).
@O+O» 5

f ((:L' + 1)3) + f ((:1: — 1)3) = 2(:U2 +1)f(x) +4xf(1).
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Pass VAN =S

e+ +f((z-1*)=f((x+1)°*+ (- 1)%

=f(2:)33+6x)

=2f (%) +6f(x)

= 222 f(x) + 6f(z

5 (z) (z)
LIREDND

(222 +6) f(x) = 2(2® + 1) f(x) + 4z f(1).
N WY
flx)=f()x Ve e R

2195.

c=f(1) BV f(z) = cx 1FOQ 2T
U 72035 TR

ceEHE LT
o f(zx)=czx Ve e R
TH5.
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& 12 (ISI Entrance 2015)
Find all functions f : R — R such that for all z,y € R

[f(x) = f(y)l = 2]z -yl

R
fz)— f)| =2z —y| e
ruel.
lim [f(z) — f(y)| = lim 2|z —y| =0 &&L2H05
y—x Y=

lim {f(z) - f(y)} =0 F&bL  lim f(y) = f(z).

y—x y—

£oT f(z) IFHEFEEBTH 5.
gx)=f(x)— f(0),g: R—>R &EL & g(x) FEHEEBTH-T, ¢(0)=072D

9(z)—g) =2z —yl. e

@Ty=0,tBLL |g(z)|=2|z|. £oT g(z) € {22, 22} 2155.
g(x) \ZERRE 2D 5
(1) g(z)=2x VeeR F7&iFx (2) gz)=-2x VzelR
721
(3) g(x)=2z] VxeR F7&ix ‘) gx)=-2]z] VzxeR
L5,
@Ty=-azrbBlL
9(z) —g(=2)| = 4laf. e

(3), (4) D& EE g(x) IIMEEEBTZNS @IF0=4|z| £72D z % 0 THI LR\,
(D, (2) FedHIzQZEHM~T.
U723 > T il
cZEME LT
e f(x)=2x+c Ve e R
&
o f(z)=—-2x+c VreR
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& 13 (Moldava TST 2015)
Find all functions f : N — N such that for all m,n € N

f(mf(n)) =n+ f(2015m)

RE
f(mf(n)) =n+ f(2015m) ...

L.
OTm=1&8LL
f(f(n)) =n+ f(2015) ..

flp)=flg)=r &95. OTn=p, qbBL
f(mr) =p+ f(2015m), f(mr) = q+ f(2015m).

p+ f(2015m) = q + f(2015m) 225 p=q &2 15 fIXHE (injective) TdH 5.
DTnDEZ3% f(2015n) THEMA S &

f(mf(f(2015n))) = £(2015n) + f(2015m).
DR TmeEnz2EIMIEL
F(nf(£(2015m))) = £(2015m) + £(2015n).

£oT
f(mf(f(2015n))) = f(nf(f(20156m)))

#13%. f X injective 72D 5
mf(f(2015n)) = nf(f(2015m)).

@%FMHWS L
m(2015n + f(2015)) = n(2015m + £(2015))

"o
(m —n)f(2015) =0 Vm,n € N.

£oT f(2015) =0 &7 b f(2015) e NIZFET 5.
U735 T 20D &S BABIIFEE L.
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& 14 (Turkey TST 2015)
Find all functions f : R — R such that for all z,y € R

F@)+ 2 fy) = (fle—y)+ ) (fl@+y)+ f)

R

F@)+ 42 f(y) = (fle—y) + ) (fl@+y) + f(y)

HL.
OTy=01BLL

OTzr=0&BW-

AN

IORTy=a B

F(0) +22° f(z) = 2f(—2) f(x).
Tz DEIr% —x CESHADL L

£(0) +22% f(—) = 2f(2) f(~2).

®, @»5
22% f(—x) = 222 f () vV € R.

zx07%5F f(—z) = f(x).
F(-0) = £(0) 5

L0 f(x) 1 HMEEETH B.
@Tx =018\~ f(0)=2f(0) 5 £(0) € {0, 1/2}.

@Tz=1&B07 f(1) = f(1)(fQ)+ £(0)) 25 f(1) € {0,1 - f(0)}.

£oT
flo)=0o&=z f(1)e{0,1}, f(0O)=1/2d&& f(1)€{0,1/2}.

@Tax=1&8W f(0)+2f(1) =2f(1)f(=1) 5 f(0)+2f(1) = 2f(1)%
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FO)=1/20 % Z0HRIZ1/2+2f(1) = 2f(1)2 £45H, f(1)=0% f(1)=1/2
LI OREHZ IR,
XoT f(0)=0,%5. LAoT £(0) =052 f(1) € {0,1}. @i

f@?)=f@?* @
L5, @l
2 f(x) = fx)> VYexeR . 04
ERBDDS
flz)e{0,2°}  VzeR .. ®
135,

(1) V2 iZ/ LT f(z) = 2®> DEE
ZHEQzETZThoMTH 5.
(2) f(a) xa® 2725 a DMFIET 54
fO)=07=25ax0Ths. £1-@Tr=al2BLL f(a) € {0,a%} T f(a) = a?
Z05 fla) =0 DED LD,
OTyneIsr% —y TEHZHMR S L

f(@?) + 4y f(—y) = (f(@ +y) +y*)(f@ —y) + f(-y)).
f @) ABBEIB b 5
fa?) +42f(y) = (fla+y) +y°) (fl@ —y) + ). e ©
©, ©®»5
(fle =) +97) (fle+y) + fy) = (fl@+y) +v°) (fz —y) + f(y).

BT B 2
(flx+y) — flz—y) (fly) —y*) =0.

ZORTy=alBLL (flz+a) - flz—a))(f(a) —a?) =0.

fla) = a® 7Zh5
flz+a)— f(r—a)=0 VreR

i35, DT A% x+a TEEHMZAL L
flx+2d) — flz)=0 VzeR. ... @
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@ TaeDE&IBb%r+2a TEHIHMADL
(z +2a)*f(x + 2a) = f(x + 2a)>.

@D%EfH> &
(z 4 2a)*f(z) = f(z)*.

@ 2fi> & (x4 2a)f(x) = 22f(z) H5
a(z+a)f(x) =0 VzeR,
rx—akblE flz) =0T hbb
flz)=0  Vzx —a.
fz) EABEET fla) =0 £V f(—a) = f(a) =0 ZH5
f(x)=0 Vo € R.
INEQEWZTHISETH .

PLED Z &b 5 fif i
o f(x)=2? Ve e R
&
e f(z)=0 Ve e R
Ths.
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& 15 (UASJMO 2015)
Find all functions f : Q — Q such that

f(@) + f(t) = fly) + f(2)

for all rational numbers z < y < z < t that form arithmetic progression . (Q is the

set of all rational numbers.)

FRE

fe)+ )=+ @

e BL.
d>0&ULTuayztDIAZaa+da+2d,a+3dzRATEHL

fl@)+ fla+3d) = fla+d) + fla+2d). e ®
@TaDrZh%a—d CEHEHZS L
fla—d)+ fa+2d) = f(a)+ fla+d). . ®

@+@25
fla—d)+ fla+3d) =2f(a+d).

v%UeQu>vaﬁbfa:ﬂaﬁad:ﬂiﬂcwna8<a
a+3d=u,a—d=v7T, @l

f(u)+f()—2f(u+v) Vu,v(u>v) e @
LEEEED, D u=0 DL ERD IO,
u<v@aai@#5fwqu)_w(“+“)¢@bz

P+ () = 2f (45)
MDD LB, LihioT
fe)+fw) =2f (L) vaweq ®
OTuDEI %2 THEEHZ, v=0sBLL
fu)+ f0)=2f(u). .. ®

63



®Tu,vDEIA%EZTNTN 20,20 TESHZI DL
F(2u) + F20) = 2 (u+ ).

O3 INY-=
2f(u) — f(0) +2f(v) — f(0) =2f(u+0)

flutv) = f(0) = f(u) = f(0) + f(v) = f(0).

NS A RVASH

BEEHRANEE T

Vm € N,Vu € Q IZ U T g(mu) = mg(u) At 5.
BT Vp € Z 128 LT g(p) = pg(1) Bk D 3.

Vxe@aﬂbfngmGZﬂeNtBHé#6

g@%=9@~%>=9@@=qﬂ@

MR DD, XoT
9(w) = -9(p) = -9(1) = zg(1)
0 g(x)=ar BFEN5 f(z) =ax+b TINXOQZEHZT.

X o T X

a,be QzEHL LT
o f(z)=ax+0 Ve e Q
Ths.
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8 16 (Baltic Way 2014)
Find all functions f : R — R such that for all z,y € R

FU@) + f@—y) = flafly) —x)

fRE

fUfW) +fle—y) = flafly) —=) e @
r <.
OTy=0s8LL

FOFO) + f(z) = f(@f(0) —2). e ®

@Taz=0&BW= f(f(0))+ f(0) = f(0) 25 f(f(0)) =0.
ZDOZLEMESEQIFMD LS ICEESERS.

f(x) = f=f(0)—2). e @
FO) =1%512 @ 13
f(@) = f(zf(0) —2) = f(z —z) = f(0) =1

L350, Zx@QEHZ I R,
£-oT f(0) = 1.

Ve e RIZHUT f(x)x1 &85 2 %2mRT.
fla)=1¢%2% aDHBLINET 5.
OTy=a BV
f(f(a)) + f(z —a) = f(zf(a) —x)

AN

f) + flz—a) = f(z — ).

EoT flz—a) = f(0) — f(1) L5555 f(z) ZEKEHET, flz) =k 2QITRAT

5L k=0%18505
f(z)=20 Vo e R.

ZhiE fla)=11ZFET5.
U7l T Ve e RIZHLUT f(z) %1 &7R5.

b= f(0) LB\ F(F(0)) =025 f(b) =0.
OTz=0y=b&BWV f(f()+ f(=b) = f(0) 25 f(0)+ f(=b) = f(0).
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£>T f(—b) =0.
DTy=bEBVE f(FO) + fl@—b) = Faf(b) —x) 25 F(0)+ flz—b) = f(~a).
k5T b+ flz—b) = f(—).
ZORTe=b BV b+ f(0) = f(—b) B5 b+b=0.

koTb=0&7%D £(0)=0.

@ 75

Tibb f(o) HELKTH 3.

Vr e RIZHLUT f(2)=0TH5B I LERT.
FO)50TH5 c(x0) 2bsLFETS.
() AR 2 S

O = f(fy) + flz—y) = flz —zf(y)).

fﬁ@»+ﬂx—w=f@—xﬂwY@w=7&yy=088<8w—y=x—wﬂw%
WS f(f() =0 %135,
OTy=ceBV [(f(c) + flx—c) = flaf(c) —a) S f(z—c) = f(~2).
f(z) FMBBEEE» S f(x—c) = f(2).
ZDOXTr=ceBLE f(co)=f(0)=0. 20X f(c) 0 ITFET 5.
L7z ->T
f(z)=0 vz € R.

ZNEQETEZTH SR TH 5.

EDZ Ehs fiijtix
e f(x)=0 Ve e R
Thb. [ |
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& 17 (Albania TST 2014)
Find all functions f : R — R such that for all z,y € R

f@)f(y) = flz+y) +xy
RE

f(@)f(y) = flz+y) +zy
EHKL.
OTrx=y=01B7%k f(0)? = f(0) 5 f(0) € {0,1}.
FO) =0%513@QTy =0 2B L F(2)f0) = f(z) »5

flx)=0 Vo e R.
Zhid O% i S0,
£oT f(0)=1.
OTy=—aBLL fla)f(—x) = f(0) — 22 25
fl@)f(~z) =1~a*
@Tzr=1¢8L f(1)f(-1)=0.
(1) f(1))=0DH4E

OTy=1807%E f(o)f(V)=flz+1)+2m750=f(x+1)+=x.
FoT fz+l)=—ax=—(z+1)+1 25

flx)=1—-x Vx € R.

INEQEWETHSIRTH B,
(2) f(~1) =0 DHA

OTcy=-1&B0E f@)f(-)=fz—-1)—z»50=f(zr —1) —z.

FoT fz—1)=ax=(x-1)+1 25
flx)=1+=x Vr € R.
IO %z7=SroETH 5.

BLED Z & o fif
e flx)=1-2 Vx e R
&
e flx)=1+4z Ve e R
TH5.
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B8 18 (Bulgaria 2014)
Find all functions f : Q7 — R* such that for all z,y € QT

flxy) = flz+y)(f(z) + f(y))

21
flzy) = fle+y)(f)+ fly) e
L5,
a=f(1) £B<.
OTa=y=128<E (1) = f(2)-2f(1) 25 f(2) = 1.
OTr=2,y=11B0E f(2) = f(3) (F2) + (1) 25

2 2a +1
OTx=3,y=1&B07%= f(3) = f(4) - (f(3) + f(1)) 25
1 1 1
2a+1_f(4) <2a+1+a) f():2a2+a+1'

OTa=2,y=3c8BL f(6)=f(5)(f(2)
OTa=5y=18 f(5=f(6) (f(5)
ZD2ODRDS f(6) 2MELE FB)=f6) (F(2)+ F3) - (fFB) + f(1) &b

(f2)+f3)- () + (1) =1,

1 1 ) 1
= -1
<2+2a+1 <2a3—|—a2—|—a+1+a) 7

20 +3 20t +a*+a?+a+1 1
2(2a + 1) 2a® +a%+a+1 ’

_|_
1 1 1
20 +a+1 /) <2a2+a+1+a> /) 203 +a?>+a+1
+
+

(2a* +a®>+a* +a+1)(2a+3)=2(2a® +a* +a+1)(2a+ 1),
4a® + 8a* + 5a3 + 5a® + 5a + 3 = 8a* + 8a® + 6a* + 6a + 2,
4a° —3a* —a®*—a+1=0 (a—1D(a+1)(2a—1)(2¢* +a+1) =0.

a>0ﬁ#6a€{L%}.

68



(1) a=1DHAE
OCTrx=ny=1&8KL f(n)=f(n+1)(f(n)+1).
WAz f(n)f(n+1) THZ &

11
fln+1)  f(n)

ﬁw{ 1 }u@ﬁ?%7:1,ﬁ%1@%%ﬁwf

+ 1.

=14+4(n—-1)-1=n

fmy:% VneN. ..
OTazDEZi%2r+nTEEHMZ, y=12BKL
flz+n)=flz+n+1)(f(z+n)+1).

W% f(r+n)f(x+n+1) TESZ L

1 1

Fatntl)  fatn) Th

ﬁﬂ{ 1 } EE — L A1 0% EEEIT
r+n n>0

f@+n) 7@
1 1 n
fatn)  f@ T
" f(z)
flx+n)= @) 11 V€ Zysg. e

OTy=n&BWVi

Flna) = fla +m) (F@) + Fm) = — 1D (fa) + L) = L

nf(x)—f—l n
o
foe) = LD enw.
1(2)
V.T:£€Q+ K;@L/’Cf(p):f(q.ﬁ): q :f(:L‘) RS Y
q q q q
f@) =qf(p) = % — %.



£oT

CNEOEMETH LTSS
(2) o=+ OBE

OTy=1BLL

1

f@)=fet ) (f@) +5)  Fa+) =500

ZDATzDEIA A%+ 1 TEZIHALL

L. 2f@)
flo+2) = 2f(x + 1) _ 2f(z) +1 _ 4f(x)
2f(x+1)+1 5. 2f(x) 1 6f(x)+1
2f(z) +1
BEEERNTE T 2 f(z)
"fx
fetn) = s w0 ®
WTE B,
®&b
. o 2" f(z) oy f(=@) f(x)
A fan) = i e N ) T T e 21— L) f@) - & 2/ (@)

£oT
lim f(z+n)= % Vr € Q.

n—oo

:@ﬁ?lekﬁmthmfﬂ+n%:%ﬁ%

n—oo

lim f(n)= 1

n—oo 2
OTy=n&BWV f(nz)= f(x+n)(f(zx)+ f(n) »o
Tim f(na) = Tim f(z+n) (f@) + () = + (

ZORAT DI A% mx CEEHZ S L

lim f(mnzx) = % (f(mac) + %) :

n—oo

70
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LZATEk=mn&dlt

lim f(mnx)= lim f(kx) = % <f(m) +

n—o00 k— o0

M D NLDD T

1 1

3 (fma+5) =5 (10 +3).

£oT

f(mzx) = f(x) Vm € N,Vz € QT.

HOm-ocoldse

ZHhEQzEZThoMTH 5.

PAEDZ & & fifisk
. f@%:% Vo € Qt
r
. f@%:% vz € Q+
Thsb.
fiz 2
f(zy) = fz+y)(f(2) + f(y))
r <.
a=f(1),t= f(z) &BL.
@OCcy=1&BLE

__ fl@) t
f(x+1)_f(x)+a_t—|—a ......
S N _ ) a1
@Tr=1:8E fO= e = ota =1
@MW &
flz 1) GE (@)
. _ c+1) _ flo)tae flx /
Fer=Feinva - _Jw_ . Graf@+@  (raitd
Flz) +a



BUELIIRANIE T

_ f(z)
Mot = e e @ e ©

MRES.
OTy=2&BLL
fQ2z) = f(z +2) (f(z) + f(2))
R
- Trofwre 0+3)
f(x) (2f(x) +1)
2((1+a)f(z) + a?)
t(2t +1)
2((1+a)t+a?)’
CNSOERENT f(20+2) % 20 ILET.

fr+2)=fQ2(z+1))
_ fe+Defr+1)+1)
2((1+a)f(z+1)+a?)

t t
t+a <2 T 1)
2((1+a)- HLaJra?)
t(3t + a)
2t+a) (14 a+a®)t+a?)
f(2x)
(1+a)f(2z) + a®
(2t + 1)
2((1+a)t+a?)
t(2t + 1)
2 ((1+ a)t + a?)
B t(2t +1)
21+ a)t? 4+ (14 a+ 2a% + 2a%)t + 2a*

fRx+2)=

(1+a)- + a?

&0
t(3t+a) t(2t+1)

2(t+a) (L+a+a®)t+a®)  2(1+a)t?+ (14 a+2a* + 2a°)t + 2a?

(Bt+a) (2(1+ a)t* + (1 + a+ 2a® + 2a®)t + 2a*) = 2(t+a)(2t+1) (1 + a + a®)t + a®) .
...... (%)
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f(2):%4:0x:20)é:%t:%7‘:“75>6

2 3 2
<%+a><1‘5“+1+“+22“ + 20 +2a4>:2<%+a>.2.(1+a2+a +a3),

(2a* +a®> 4+ a* +a+1)(2a+3) =2(2a® + a® + a +1)(2a + 1),
4a® + 8a* + 5a% + 5a® + 5a + 3 = 8a* + 8a® + 6a* + 6a + 2,

4a° —3a® —a®> —a+1=0 (a—1)(a+1)(2a —1)(2a* +a+1) = 0.

a>072“7b)6ae{1,%}.

e ) s o 1) =2(0e o (G 1)

(6t 4+ 1)(24t% + 18t + 1) = 2(2t + 1)*(14t + 1)

323 £12t° — 12t —1=0 (2t —1)(16t> + 14t +1) = 0.

t>07E"56t=1/2.
£oT

ZNEO%GZT RO TH 5.
(2) a =1 DGA
(k) iZa=1%MRATBLEDILD.
@D
f(z)

f(x—i_n):W vneZnZO‘ ...... @

OTy=nsBV

fnx) = f(z+n)(f(x)+ f(n) = %(f(x)_i_%) G

f(nx) = f(f) VneN. e ®
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GTx=1&BLLE

£oT

NS RVASY N

£oT

ZHEQzZThOMTH 5.

A EDZ &hoffiE

f(x):% Ve e QF

f@)=+ VreQ*
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%8 19 (European Girls’ Mathematical Olympiad 2014)
Find all functions f : R — R such that for all z,y € R

F P +22f(y) + f(2)?) = (y+ f(@)(z+ f(y))

FRE

FP+22f(y) + f(2)?) = (y+ f(@)(z+ f(y))

EBL.

OTa=y=02c5& f(f(0)?) = f(0)*
a= f(0) B L f(a?®) =d>
OTy=—f(z) 2B L

f (2f($)2 + 2z f (—f(a:))) = 0.

ZOXTr=0s8LL f(2d%) =0.
DTzt yr ANDPRDE

f? +2yf () + f(y)?) = (@ + F(W))(y + f(2)).
@, ®&b
f(y* +22f(y) + f(2)?) = f (2 +2yf(2) + f(y)?) -
ZOARTrx=0&8BLL

F?+a®) = f(2ay+ f(y)?).

f2a2) =0 &0 f(2)=0,%B22eRBDEINS f(c) =0T 5.

@Tz=c&BL & f(2ac)=0.
IZTex0lc=0DEEIIRTTERS.

(i) ¢ x 0 DEGH
@Ty=cebLL
f(+ f(@)?) = (c+ f(2) .
ZOXRTarz=ceBLL f(?) =2
©Tz=2a? BLE f(?) =2d%
f(A)=c &> L 2a2c=c? 06 c=2ad° 2185, £oC

f(z) =0 <= 2 = 24>
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©Tz=2ac B E f(c?) = 2ac’
f() = &[ES>L 202 = D6 a=1/2,c=1/2 %2135.

£-oT O N N L g
fo =5 f(5)=01(3) =1
f#)=0=a=1.

@i

P D) =fwrrwy. &
©

P+ r@?) = (5 +r@)e @
L%,

RIZ f DAHSY (injective) TH D Z & &ERT.
fp) =flg)=r &9 %.

@'“C“x:pt%‘b\f:f<%+7a2> = (T—F%)p,f(%%—?ﬁ) = (T—f—l)q

"o (r+%>p= <r+%>q.
k5T r:—% ¥k p=q ERBNE

F+ ) =y (5 +7w). e ®
coRcy=prs f(P-L)=p(s-L)=0nsp-L-1L

PP=175p==+1 %5, AILT ¢= +1.
p:—1¢mb%fp4y:—%a¢é.

o \ O (1oAY oy L 1y _ 1 & .
@Cy= 1tb<&f<4)_<1+2>ﬂ 3_4.fQJ__4f@ot
5

N (AN rwor (2 (LYo L o1 i3 o1 w2
f<4>_f(4> &®c“f(4)_‘f<4> R A
FIETDH. FoTp=1TRINERSZ\W. FARRIZLT ¢g=18DTp=gqc
5%,
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U72h3 5 T fIEHA (injective) TdH 5.

® »5

F(22+ 1) = F o+ f@)?).
n .. . > - 2 1 . 2 2 __ 1 2
XS (injective) 72005 2 + Vi z+ f(x)? £V f(x)* = <33 — 5) .
1 1

£oT f(z) € {x—g, —x+§}.
ERA O

F (W2 +22f(y) + f(2)?) = f (2% + 2yf(z) + f(9)?).
fIRHE (injective) 72205 y2 + 22 f(y) + f(2)? = 22 + 2yf(2) + f(y)>
C@ﬁ?yz%&%(&

Ll =g SR ) (v 1) (- ) =0

(F@) + (2= 5)) (F@) = (2 + 5)) =0.

£oT f(zx) € {x-l—%, —x-i—%}.
EIZAT f(x) € {x—%, —a:—l—%} ThHoehro f(x) :—x—l—% x2155.

£-oT

f(x):—x—ké Vx € R.

ZNEQEG TS TH 5.
(i) ¢ =0 DHA f(0) =0
OTy=0&BLL

F(f@?) =af(@). e ®
OTz=0,BWV7 f(y?) =yfly) 5

f@) =af(x). ©®
fO)=0&D fz) =022 c2H505, fd=02F5L@&b f(d?) =

df(d) = 0.
OTor=y=d B\

f(&+2df(d) + f(d)?) = (d+ f(d)(d+ f(d)  f(d*)=d® 0=d’

7



"o d=0%1%%.
L7235 T
fx)=0<—2x=0. ...
I f DEA (injective) TH D Z L &ZRT.
fp)=flg=rtds.
@Tao=pqeBLLE f(r?)=pr, f(r®) =qr »5 pr = qr.
XoTp=qE/idr=0.
r=07%561X f(p) =022 f(q) =07=Z06 WEFS>L p=0h»Dq¢=079F7%b
bp=q tihs.
U735 T fIFHE (injective) TH 5.
®, @75 f(f(2)?) =f(2).
f X5 (injective) 72006 f(z)? = 22,
£oT f(x) € {x,—x}.
flx)? =2 2ffioCcOEEHEEHET L

FP+2f(y) +2°) = @+ f@) @+ fly). e @
Q' TrryrANNrdL
F(@®+2yf(@) +9%) =@+ f)y+ f(z). e ®)

@, @75 f(y*+22f(y) +a?) = f (2° +2yf(2) +¢?) -
[ IZHE (injective) 72206 22 + 2y f(x) +y? = 22 + 2yf(z) + y? THbbH

yf(z) ==zf(y) Vo,yeR
DOV D., ZOATy=118LL f(zx)=f(1)z 2185.
f(z) e {z,—a} =5
flx)==z Vr € R
et
flx)=—2 VzeR
213505, Tho 3@z I»oTh5.

UEDZEMNSIRD 3 DDfR%E D D.
1

) f(x)zi—x Vxr € R,
o f(x)==x Vx € R,
e f(x)=—x Vx € R. [ |
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%8 20 (Romanian District Olympiad 2014)
Find all functions f : N — N such that for all m,n € N

fmA+mn)=1[f(m)+ f(n)

and n? — f(n) is a square.
R
fm+n)=1[f(m)+ f(n) e @
n? — f(n) IESKTHS. @
LX<,
@Tn=10t&%2E251-f(1)=a*,acZ BF5. £>T f(1)=1-a* €N
Zroa=07T f(1)=1%175%.
@THhS n— f(n)=g(n)? gn) €e0,m—1] B 5.
OTm=1¢8LL f(1+n)—1|f1)+ f(n)=1+ f(n) 5

1+ f(n) = f(1+n)—1.
COFERE g THEET L
n?—gn)?+12n+1)22—gn+1)2>-1
gn+1)2 2 g(n)*+2n—1> g(n)*

Wz

gn+1)>g(n) YneN. . ®
9(2) €10,2—1] Tg(2) >g(1) =07%%»5 g(2) = 1.
9(3) €[0,3-1] Tg(3)>g(2) =17%h5 g(3) =2.
BRI C

gln)=n—-1 V¥YneN ... @
A A RVAC N T

(i) n=1D&EIFLETRL.

(i) n=k(=1) DEEHOIOLHET B L gk) =k — 1.
glk+1)€[0,k] Tglk+1)>gk)=k—-17Z25glk+1)=k. 2D n=Fk+1
DEELEY LD,
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(1), (i) &b IARTOHRE n ITHLT G IFRD LD,
EoT f(n)=n?2—gn)?>=n2—-n-12=2n—-1025

fn)=2n-1 Vn € N.

ZDLE fm+n)—1=2(m+n)—21 f(m)+f(n) =2m—-14+2n—1=2(m+n)—2
ZEOYISH S @O IEk DD,
Frzn?—fn)=n?>—-2n—-1)=(n—1)2 X FEHBZDOTOIXED LD,

UL7=h> T, fifid
e f(n)=2n-1 Vn eN
Ths. [ ]
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%8 21 (Romanian District Olympiad 2014)
Find all functions f : Q — Q such that for all x,y € Q

flx+3f(y) = f(x)+ f(y) +2y

AR
fl@+3f(y) = f@)+ fly) +2y
EHKL.
[ X HE (injective) TH D Z L Z/RT.

fp)=flg)=r &35.
OTy=p,q BV

fle+3r) = f(x)+r+2p, f(z+3r) = f(z) + 742

o f(x)+r+2p=f(z)+r+2¢37%05p=q%2fF3s.
DTy=02BE f(x+3f(0) = f(z) + F(0).

ZDXTz=-3f(0) BNV f(0) = f(=3f(0)) + f(0) »5 f(=3f(0)) =

£oT fla)=08%4% acQPFEETS.
OTy=a Bl

flx+3f(a) = f(z)+ fla) +2a  [f(z) = f(x)+ 2a.

WZIZ a=0.
£oT
fl2)=0<=2=0

DN Z T,

[ 1324t (surjective) TH S Z & Z2RT.
OTaxDeIlr%x—3f(zx), yD&Ibr% oz CTEEHADL

f (@ —3f(x) +3f(2)) = f (z — 3(x)) + f(z) + 20

AN

fle+3f(x) = —2u.

vuy@nﬁbfx:—%-tB<tfu+3ﬂ@):t
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o T fIZ2H (surjective) TH 5.
OTr=0&6<L f3f(y) = f(y) +2y.

INEMHS LOIF
flx+3f(y) = f=)+fBf(y) e @’

LHSERSD.
Vu,v € QIZH LT oz =u,y = f! (%) L x+3f(y) =u+v,3f(y) =v T

flu+v) = f(u) + f(v).
I—Y—OMEBHERZHZTOT flo) =kr 22 5OQITARALT

a(z + 3ay) = ax + ay + 2y 3a*y = (a + 2)y,

3a® = a+2 (Ba+2)(a—1)=0.

toTac {1,—2} LB MS

3
flz)==x Ve e R
&
f(:c):—%x Ve e R
2135,

L7zhY > T fifiZ

o f(x)==x Ve e R

&

. f(x):—%x Vz e R
ThH5. [ ]
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& 22 (ELMO 2014)
Find all triples f, g, h of injective functions from the set of real numbers to itself

satisfying

fle+fly) =9
g(x+g(y)) = h(z) + f(y)
h(z + h(y)) = f(x) +g(y)

for all real numbers z and y. (We say a function F' is injective if F'(a) = F'(b) for any

distinct real numbers a and b .)

s
fle+fly)=g)+nly) e ©)
g(x+g)=nx)+ fly) e ©)
h(z +h(y)) = f(x) +9y) e ®

rBe.

DTz DL I A% x+g(z) TEHEHZ/

flx+g(2)+ fy) = g(z +g(2)) + h(y)
5 h(x) + f(z) + h(y)
Mo
flx+g(2)+ f(y) = h(z) +h(y) + f(z).  -ene ®
@OTazlyZANNLZISL
fly+g(z)+ f(z)) =h(y) + h(z) + f(2). e ®

@, ®»o
fle+g(z)+ f(y) = fly+9(z) + fz)).

f XA (injective) 72005 x4+ g(2) + fly) =y + g(2) + f(z) T2bb
flz)—z=fly)—y Ve,yeR
DD VED., ZOXTy=0&BLL f(x)=x+ f(0).

cp=f(0)&BLE flx)=x+c &15.
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FIRRIZLUT g(z) =2+ o, h(z) =24 03 2132056, Thoz@®, @, OIKRATSE L

(x+y+eci)+e=(x+c)+ (y+cs),
(x+y+ec)+tea=(x+c3)+ (y+c),
(x+y+cs)+ez=(x+c1)+ (y+co)

£-oT
2¢1 = cg +c3, 2¢0 = c3 +c1, 2¢3 = ¢1 + ¢

ke =cy=c3 BHNBDT, KbB (f,g,h) I

cZEHE LT
o f(x)=x+4+c,g(z)=x+c h(zx)=x+c Ve € R
Thb. [ |
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& 23 (ELMO 2014 Shortlist)
Let R* denote th set of nonzero reals. Find all functions f : R* — R* such that

for all z,y € R* with 22 +y % 0

2 — (g2 f(zy)
fE*+y)+1=f(="+1)+ e
fRE
Flattg)+1=frn+ L0 ®
f(z)
OTer=-1¢8LeE P
_ -y
fA+y) +1=F@)+F— ®
OTzx=1&BLL )
Y
f(1+y)+1=f(2)+T1) """ ®
®, @»r5
f=y) _ f)
f(=1)  f@)°
e f(-1)
—1
f(_y): f(l) f(y) """ @
@ODTyDLIA A% —y CEZMZI DL
f(=1)
f(y): f(l) f(_y> """ @
Dx® 75 f(—1)2=f(1)2. 57T
f(=1) e {f(1),—f(1)}
i) f(=1)=fQ1) o&as&
@05
f=y)=fw. @
OTyDLZsr% —y TEZHMZ, @ 2HVS L
2 — (g2 f(=zy) — (g2 f(zy)
f@®—y)+1=f(a+1)+ o) fa®+1)+ ()

85



ZORE@QERBELT f (22 +y) = f(2*—y).
y=a2>-1B<L, 2x0,+1,222 %1 D& f(222 - 1) =
ZORFxz=0, 21 DEEHHDILDONS

f(2z? —1) = f(1) VreR, 22%>-1x0.

t=222-1¢BLL
f)=f1)  vte(0,00)

N ARVASR
@ &
f@)=f(@1)  Vte(—00,0)

N ARVASY TS
flz)=f(1) VxeR"

F)=c BLE f(2) = c TINZORERTHSMTH 5.

(ii) f(=1) = —f(1) D&&
@5

Fle+1) = f(z)+1 & f(20) = 2f(z) BHD DT & 2 AT.

©OF) ‘o)
f($+1)zm+f(2)—

®OTaxDLIA%r+1TCEEHISLE

f(1).

flo+2)= (D((ﬁ”) F2)- 1)+f<2>—1

(1)

x 1
0z T\ ) —
IDART DA% 2 -1 CEEZHZSLL
@) @)1
e+ ="+ 7

OTy=-128BLL

fu?—n+1:f@?+n+fwf):f@?+n+_Jf)=




£oT

f@+1)=f@*-1)+2.
®FDIZRAT B L
2 _fE*-1) | f@) -1
O (O
‘ﬁ%?*lﬁ%ﬁf@”—nuiﬁ%ﬁaao,
ft)=c  Vte(0,00)
DL D NLD.
@//c}:b
ft)=—c  Vte (—o0,0)
DL D NLD.

OTa>0y<-—a2tldl

fa®+y) + 1= 1"+ 1) + o5
<_C)+1:C+_Tc c=1.

ik o s LERET .

f(1)?
L7zh-T
ﬂ&ZZLfﬁﬂlzz mo (1) =1,f(2) =2
ZorE®lF
flx+1) =flx)+1 ®
b A
OCTy=2tBE@%M>L
_ f(2x) B F(2z)
f@?4+2)+1=f(z*+1)+ ) F@*+ 1) +1+1=f(22+1)+ o
£oT
F2x) =2f(x). e ®
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RIZ f(z) =2 ZmRT.
r>0¢95. OQTzDLIsr% . \Jr TEHEZHZAZL

— oy fWey)
fle+y)+1=f(z+1)+ f(\/E) ®)

DTyDeIsr% —y TEESMWMAT f(—ry) = —f (Vay) 2FH>5 &
_ fWey)
@+@7 5

f+y)+f@—y)+2=2f(zr+1)=2f(z) +2= f(2z) + 2.

EoT
flat+y) +fz—y) =f2xr) Ve>02zx+ty.

Yu,v,u > v,u % 0,0 0IZXLT

u;U(>O),y: u;—v Bl rty=uxr—y=-vR505

¢ =
fu) + f(=v) = f(u—v).
vDEI A% —v TEIMMAD L
Fu) + ) = flut+v)  Vu,o,utv>0,u%0,v%0.
U+v<0,ux0,vx0DEE (—u)+ (—v) >0,—ux0,—v=x0725
f(=u) + f(=v) = f(-u—v).

f(x) BHEEEEZ»S —f(u) — f(v) = —futv) T72D5 f(u)+ f(v) = flu+tv)
#155.
£oT

Fw 4+ fo)=flu+v)  Yu,v,u+vx0,ux0,0%0.  ceee- ®

@#6]Kﬁ+y)—f@2+m+4::§$?.
ZORDADIZQEMS &

f(ac2+y)—f(x2+1)+1:f(y—1)+1
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B

B _ f(zy)
fuy—1H)+1= @)
@Tarx=y—1&B07 fly—1)+1=f(y) 2> &
_ [flzy)

"o

flzy) = f(x)f(y)  VYa,y,2 >0,y % —a?y =01
fH=17=Z26y=10tZ f(xy) = f(x)f(y) 1D LD,
y=-a2*(x>0) D& & f(-2%) = flz)f (—2?) 2RT.

f(=2?) & —f (2°) = = f(2)f (2%) = f(2) (—f(=?)) = f(z)f(~2?)
EoTy=-22D2 & f(ay) = f(z)f(y) DK LD,
L7z->T

flzy) = f(x)f(y)  Vz,y,2 >0,y =0.

@Ty=zeBLL f(2?) = f(x)? 20.
£oT f(z) 20 Vo >0.

F@) Za— v — OB ARREMETHS f(r) =k (kx0) &%5.

IZRALT

kxy

()¢:k@?+yy+1=k@2+u+-kx

— ky+1l=k+y Vy € R*
<~ k=1.

Va,y € R*

£oT
flx)=x Vo € R*.

ZHIEQ %727,

PAED Z &5 o i
o f(x)=c VzeR*
&
e f(x)==x Vo € R*
Thb.
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i 24 (Britain 2014)
Find all functions f : N — N such that for all n € N

fn)+ fn+1)=f(n+2)f(n+3)—2010

R
f)+ fn+1)=f(n+2)f(n+3)—2010  ceee-- @

e HKL.
OTnDOeIA%2n+1TEIHBIDLL

f(n+1)+ f(n+2)=f(n+3)f(n+4)—2010. - ®
@ -0 75
fn+2) = f(n)=fn+3)(f(n+4) - f(n+2). ®
(1) f(3)=f(Q1) D&
VYm e NIZHUT, f(1) = f(3) == f(2m + 1) DD 7D T & % BUE M IRNIE
TmR9.

i) m=1D&& f(3)=f(1) IFKHZ>TWV5.
(i) m=kDEEXD LD EIRET S.
BTn=2k—12BW/

F2k+2) (F(2k +3) — F(2k + 1)) = F(2k + 1) — f(2k — 1) =0

o f(2k+3)— f(2k+1) =0.

n=k+1D&EHHLD.
(i), (ii)) 5 Vm e NIZHLT, f(1)=f(3)=---=f(2m+1) DY LD.
OTn=2m—-1(m=1) LBV

F2m — 1) + f(2m) = f(2m + 1) f(2m + 2) — 2010

mo
F) + f(2m) = fF(1)f(2m + 2) — 2010

c=f(l) B L
cf(2m+2) — f(2m) = c+2010. ... @
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ecx1 DL

QZE%%%lag<af@m+m—a=%%ﬂ%m—a%

U@m%w@ﬁ@ﬁf@%w%éﬁb%@%%ﬁﬂ?

fem) —a=@-a ()" sem=ar 220

C

c#li@c:ﬂn>lﬁ#6lmmﬂ%%2=0
m—o0 C
f@Q—a=00rx
f@m) = a = €£2010 _ 4 2011

c—1 c—1"
2011 1ZFEHBDT c—1=2011,1 225 ¢ = 2012, 2.
L72oT f(1) =2012 D2 & f(2m) =2, f(1) =2 D& & f(2m) = 2012.

BH{f(n)} 1%
2012,2,2012,2,2012,2, .. .. ..

QA=
2,2012,2,2012,2,2012,......
AN
ﬂ@—a#O@t%a+igé¥1ﬁ%ﬁmm6mwmﬁ%%ﬁ%®?

Cm
f2m) BERBTHE I LIZFIET 5.
f2)—a>0%61F, I=[a eBLEISa<I+1DBEDIDNL e
O<e<i+l—-aiBdLdizes.
A C S

m— 00 cm_1

Img, Ym = mg, 0 <

EoT Vm Zmo 2 LT
P2 "L cate<i+1

ttb,a+igt:zﬁ%ﬁat6tm.

Cmfl

F2)—a <0 b AT RES.
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ec=10kxE f(1)=1
@5 f(2m+2) — f(2m) = 2011.
B {f(2m)} BRI £(2), A% 2011 OEERHIT

f(2m) = £(2) +2011(m — 1).
p=f(2)(21) &BLL
F(2m) = 2011(m — 1) + p.
B {f(n)} &
1,p,1,2011 + p,1,4022 4+ p,1,6033 + p, .. ...

AR
(2) f3) = f(1) D&

fn+2)—f(n)=f(n+3)(f(n+4)— f(n+2)) e ®

EEOELHWDE, k22201 T

=
S

+
N

—f(n+2)
f(n+6) = f(n+4))
(n+7)(f(n+8)— f(n+6))

(g

=f(n+3)f(n+5)fn+7)-- f(n+2k—-1)
X (f(n+2k)— f(n+2k—2)).

ZDOXTn=1&8LE

f3)—fQ1)
= f@)f6)f(8)--- f(2k) (f(2k+1) — f(2k —1)).

F(A), F(6), F(8), -+, F(2k) 12 F(3) — F(1) DIEDKEED S, H5 m(22) LK LT
fom) =175,

£oT
f@em)=f2m+2)=---=1

OTn=2m—-1&BW\7
f@Cm—1)+ f(2m) = f(2m+1)f(2m + 2) — 2010
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o
f@m—1)+1=f2m+1)—2010 ... @

OTn=2m—-2 B\
f@Cm—=2)4+ f2m —1)= f(2m)f(2m + 1) — 2010

"5
f@2m—-2)+ f(2m—-1)= f@2m+1)-2010 ... ®

®-@»s f2m—-2)=1.

ke E2/ ORI &
Fom—4)=- = f2)=1
21585,
f@em+2)=f2m)=---=f2m—-20)=1,(1SI<m—-2) PVALT5.

OTn=2m—-2l—1 B\
Fm—21— 1)+ f(2m —20) = f(2m — 20 + 1) f(2m — 21 + 2) — 2010

mo
f@m—21—1)4+1=f2m—2+1)—2010  --e--- @

OTn=2m—20-2¢ B\

F2m =20 —2)+ f(2m — 20 — 1) = f(2m — 21) f(2m — 21 + 1) — 2010
"o

fem—=20—2)+ f2m—21—1)= f2m —2+1)—2010  ------ ®'

® —@ 25 f2em—2—2) =12V Z 5.

L7=D3-T
f@2n)=1 Vn eN

PEDILD. OTn=2m BNk
f2m) + f(2m +1) = f(2m + 2) f(2m + 3) — 2010
"o
1+ f2m+1) = f(2m+3) —2010  f(2m +3) — f(2m + 1) = 2011.
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B {f(2m — 1)} 1R f(1), A% 2011 Q%551
f2m —1) = f(1) +2011(m — 1).
p=f(1)(21) £BLL
f(2m —1) = 2011(m — 1) + p.

BH{f(n)} &
p,1,2011 + p,1,4022 + p,1,6033 + p, 1,... ...

AR

UEDZ eno

BH {f(n)} 12
2012,2,2012,2,2012,2, . .....

2,2012,2,2012,2,2012, ......
1,p,1,2011 + p,1,4022 + p,1,6033 + p, ... ...
p,1,2011 + p,1,4022 + p,1,6033 +p, 1,......

Y55, ZholEQaT I 2RT.
f) + f(n+1) = f(n+2)f(n+3) — 2010
En=2mnrx
f@m) + f(2m+1) = f(2m +2) f(2m + 3) — 2010
n=2m+10Lx
Fm+1)+ f(2m +2) = f(2m + 3)f(2m + 4) — 2010
yidms, O,Q BEALT I EE R L.

72z
1,p,1,2011 + p,1,4022 + p,1,6033 + p, . ... ..

DEE fn—1=1,f2n) =2011(n— 1) +p D5

@ OLELE f(2m) + f(2m+1) =2011(m — 1) + p + 1 = 2011m + p — 2010,

#5581 f(2m + 2)f(2m + 3) — 2010 = 2011m + p — 2010 7% 0 —HT 3.
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@ OEBE fCm+1)+ f2m+2) =1+2011m +p=2011m + p + 1,
I F(2m+3)f(2m 4+ 4) — 2010 = 2011(m + 1) +p— 2010 = 2011m +p+1 £ 7D
—9 5.
DG E BRI O, Q" 2§73 2 &b rb.
UL7=oT iRl
peN&LT
o 2012,2,2012,2,2012,2,. ... ..
o 2,2012,2,2012,2,2012, ... ...
e 1,p,1,2011+p,1,4022 +p,1,6033 +p,......
o . 1,2011+p,1,4022 4. 1,6033 +p,1,......
TH5. [ |
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A& 25 (IMO Shortlist 2014)
Find all functions f : N — N such that for all m,n € N

m? + f(n) [mf(m) +n

R
g f) | mflm) £n e ®
LX<,
OTn=m&BELE m?+ f(m)|mf(m)+m DBEY LD 5

m? + f(m) Smf(m)+m  m(m—1) < (m—1)f(m).

m>2 ¢35 m< f(m).
£oT

m < f(m) Ym=2. @
DOTm=n=2BWV7z4+ f(2)|2f2)+225 2f(2)+2=pd+ f(2),peNLE
5. ZOXEEETHE

P-2)(f2)+4)=-6  (2-p(f(2)+4) =6

FQ) +4Z5EDRS, 2-pROEDHWBT2 —p=1Thbbp=12%43. £oT
f2) =2.
OTm=228LEL 4+ f(n)|2f(2) +n BEDLDNS

44 f(n) £2f(2) +n=4+n.

£oT
fm)<n  VYneN. ®

@L@»r5

f(n)=n Vn 2 2.
@CTn=1t8E f(1)
UEDZENS f(n)=n.
ZDEE m2+ f(n)=m
(=95 ARVAS)
U723 - T il
e f(n)=n Vn e N
TH5. [ ]

SLEIAMFL) 21 ENS f(1)=1%85.

24 n,mf(m)+n=m?+nZ05 m?+ f(n)|mf(m) +n
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FOof(n) SnEFROESITELIZEEHTES.
OTm=f(n) &BLE f)?+ fn)|fn)f(f(n)) +n HBEEOSIDOH S

fF)f(f(n) +n=p(f(n)*+ f(n)),peN

LT 5.

LB TEHDT

BNRT, K2 f(n) < n.
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%8 26 (Zhautykov Olympiad 2014)
Dos there exist a function f : R — R satisfying the following conditions: for each

real y there is a real = such that f(x) =y ,and
f(f(@) = (= 1) f(x) + 2

for all real = ?

e
f(f@) =(@-Df@)+2 ®
rB<.
OTz=1¢BLL
Fray=2. ®

[ 1Z25) (surjective) 225 f(a) =0 £72% a BMFEET 5.
OTr=alBV7 f(fla)=(a—1)f(a) +2H5

foy=2. ®
@T2z=02BW% f(£f(0) = (0—-1F0)+225
fy=0 @

OTz=f(1) bR e®, @O2HHT? L

0=/(2)=f(f(r(1)) = (1) =Df(f(1))+2
= (f(1) =D f(fD) +
=(f(1))—1)-2+2.
£oT
f(l):(). ...... ®)

[ 1E25 (surjective) 722025 f(b) =1 &705 bWFIET 5.

0=fM)=ff0)=0b-1fb)+2=(b-1)-1+2=b+1



[ 1E25 (surjective) 72025 f(c) = —1 &725 b DFIET 5.

L=f(=1)=f(fle) =(c=Df(c)+2=(c—1)-(=1) +2

Mo c=2.
£oT f(2) =-1.
INE @D f(2) =02 FIET 200 Fff%Nu72 T BBUIFEL R,
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f&E 27 (Iran 2014)
Find all continuous functions f : RZ% — R20 such that for all 2,y € R

flxf) + f(fy) = f(x)f(y) +2

FRE

faf)+Fw) =) fy)+2 e @
r5<.
OTy=0,BLL
f@f(0) + f(f(0) = f)fO+2 e ©)
FO)=0%51E, @ £(0)+ F(0) = f(z) - 0+2F bbb 0=2 L0 FEMREL B0

5 f(0) = 0.
a=f(0)%0rBLOR

flaz) + f(a) = af(x)+2 .. ®

N A
@Tx=0&BLL

a+ f(a) =a®+2 fla) =a*—a+2.

@Tzrx=1&BLL

f(l)z Qf(acz_Q — 2a2—612a+2‘

fla) + fa) = af(1) +2

OTz=0&BWza+ f(f(y) =af(y) +2 75

OTa =187k f(f(y)+ f(fy) =FfD)fy) +2 25
2f(f(x) = f(O)f(z)+2. e ®
Dx2-0O 75
20f(z) —2a+4=f()f(x)+2  (2a—f(1))f(x) =2a-2

(QQ—M)]‘@):2@—2 %f(x)zZa—Z.

a
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ax1ERETDL f(r)=a bb. HiZor=alBLL fla) =a»b
ad—a+2=ua a’—2a+2=0.

I &7z 3 R a IJAFEL 7\,

E->Ta=1T

f(0)=1, f(1)=2
®”5

f(f(@) = flz)+1. e ®
©®%HW\T

flm)=m+1 vm € 7=°
ThHod &2 HANRNIETRT.

(i) m=0,1 D& KD 7O,

() m=k(Z1) DEEHOUDLEETSE f(k) =k+1. @CTa =4k BV
FUE) = fR) +125 flk+1) = (k+1)+1=Fk+2.
m=k+t1DEELRK IO

(i), (i) EVEEDO m e Z20 1z LT f(m) =m + 1 DK Y LD,

x %«NFO@aajfy:q—1aB<a

flafle=1)+ f(fle—1) = fx)fl¢—1)+2  flgzx)+ f(qa) = af(z) +2
flp)+q+1=qf(x)+2 p+1l+qg+1=qf(r)+2

f@%=§+1:m+L

£oT
flxy=xz+1 VazeQ=°

f(z) 1 FEREE D 5
flx)=x+1 Vo € R20.

ZHIFQENE7- 7.
X o THEIZ
o f(z)=x+1 Vz € R=0
Ths. [ ]
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&8 28 (Iran TST 2014)
Find all functions f : R* — R such that for all z,y € R

)+ (o) =

f<ﬂ§%ﬁ)+f(§i%)=f@) ...... o
L5<.

yf(y) —1>0 THRIFNERS 0.

yf(y) —1>0 2745y BEET B LRET 5.

1 N z+1 N
v >0) ofly) Y ®

H(7eky) =0

- Yy -
2 f <m> >0IZFET 5.

EoT, Ve R ICHLT yf(y) <1 ERBH5

fwst veerr. ®
g N 2 S RAOPL)

f(y):f(f(ﬂverl))Jrf(;fJEyl)) = f(x;l) - xilf(y)

EIRBMS

yfy) = (z+1)f(z+1) Ve,y e RT. L ®

@Ty=2BLL 2f2) S (x+1)f(x+1).

@Tr=1¢8E, yOrIlrZr+1TEZHMADL (x+1)f(z+1) £ 2f(2).
£oT (z+1)f(z+1)=2f(2).

a=2f(2) B L



OTyDeIsr%y+1 TESHMRLL

_y+1 x4+l ) _ + .
f(f@+&))+f<xﬂy+n> fly+1)  Va,ye RT. ®
L SENPRN sk S

y+1>1, f®+1)§x+1>1tbb!ﬂx+n:>L
7z T+l 1y 1 oo
ES f(y)>1ﬁﬁ‘jk)¢“)ﬁb G+ <1+x>f(y)>1
L7=p5T, Gk

a'igf%l+a‘xilf@+l%=ﬂy+n

tﬁ%.:@ﬁﬂf@+1ﬁzxilj@+lﬁzyil

CL2 CLQZII a

CEE R ED D I ES

a ar o
41 x+1_1 a=1
E-oT
f(:lj):i vl‘E( ) ...... @

OTy=1&BLL

(reem) + () =00

f@il)>L£i$>1ﬁ#6@%@5t

JTCE) R A RTEI S N (U

WAIT f(1)=1&7%D
@Tx@tié%?%ﬁﬁgﬁiét
1,
-y T _ y r+1 _ ‘
f(f(%ﬁ))w(%f(y)) Fw) f(f<%+1>)+f(f(y)) £w)
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z+177\ f(y) z+1
DT
T f(y)
f<y x—i—l) :1:—|—1_f<y)
b@ﬁfy—mi1t8<&

Sy ) ),

T DY A% %’GE%T@"&Z%&

1
f(x)=x+1f<xil) Ve >0, e @

@%ﬁmfmﬁy@ﬂ@:f%ﬁ@Oﬁo:a%aﬁ.

:@t@mu,wzeNaﬁLf[—i—-1}ﬁf@):§;ﬁ&bﬁo:a%aﬁ@

n+1’n
.
x 1 5
— N / — i% 3 X
g(x) = 7 (@>0) LB g'(x) ($+1)2>0420g(x)6i Mg cH 5
(i)n=10&=&
vie [11) L Te =g (0 (1=g0) = —2y) Bl

xilt&é#%f@%:%.

o5 1 1 z x z+1
T x+1f(m+1> f<x+1>_‘ I
£-oT
fH=L1 vie [%1)
F) = 1755
f@):%— We[lyq
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(i) n=m DEEWH LD ERET 5.

vt e m:—2’mi—1 c:ﬁufx:g—l(t)<t:g(x):xi1)us<z
mi—l §x§% LB f(a:):%.
O 1 1 T T z+1
?:xﬁ-lf(x—}—l) f<x+1>: x
£oT
f(t):% We[m}lrfm}f—l]'

), i) £ TRTOEBI n 12 LT {% 1} < f(z) = % A D LD,

+1'n

(0,1] T f(z) = % AR D O ERFEEEDT, @LHbET

fla) = % Vo e RY

g5,
ZDEEQ DU
y z+1 flz+1) | xf(y)
f(f(w+1))+f(xf(y))_ PR
_ 1 I T
(x+ 1)y (x+ 1)y
_ 1
oy

WHEAD fy) ICFELW.
o T X

. f(a:):% Ve € RT
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%8 29 (Kazakhstan 2014)
Find all functions f : Q x Q — Q such that for all z,y,z € Q

f(x,y)+f(y,z)+f(z,x) :f(07x+y+z)

QxQIFEQxQ={(z,y)|z€QyecQ} TE#HINS.
R
Fay) + Fy2) + fz2) = fO,z+y+2) e

b SR
OTrz=y=2=0%18W3f(0,0)= f(0,0) 25 f(0,0) =0.
OTy=2=0&BWV7= f(x,0)+ f(0,0) + f(0,2) = f(0,2) 25 f(z,0) = 0.
DOTz=028B07 f(z,y) + f(y,0) +f(0,2) = f(0,z +y) 5
——

=0
flz,y) = [0,z +y) — f(0,z).
g(x) = f(0,x) £B< &, ¢(0) = f(0,0) =0 2>
flxy) =9 +y) —g(x). e
gflioCT @O 2HIET L

gz +y) —gl@)+g9(y+2)—gy) +9(z+2z)—g(2) =gl +y+2) —g(0)

AR
9@ +y+2)+g@)+9) +9z)=g9@+y) +9y+2) +g(z+z) oo
%5, @Tao DL I A% (n+1)x TEEMZ, y=u,2=-2 BV

9((n+ 1)) + g((n + 1)) + g(x) + g(=z) = g((n + 2)x) + g(0) + g(nz)

9((n +2)z) = 29((n + 1)z) — g(nz) + g(z) + g(—=).
INz%
9((n+2)x) —g((n+ 1)) = g((n + 1)z) — g(nz) + g(z) + g(—x)
YEWU, by = g((n+1)z) — g(nz) LB &
b1 =bn +g(z) + g(—2x).

106



s
bn = bo +n(g(x) + g(—z)) = g(z) + n(g9(z) + g(-2)) = (n + 1)g(z) + ng(—z).

£oTnz21Dk

glnz) = 9(0) + 3" (o((k + 1)) — g(kz))
k=0
= STk + V() + ha(—x))
k=0

~ n(n+1) (n—1)n

SRR IS
g@) o) 5 gla)—g(-a)
= 5 n° -+ 7 n

ZHNEn=00& =L 0D,
FoT
g(nx) _ g(x) +2g(—l‘) n2 4+ g((E) _29(_x) n Vn € ZZO~ ...... @

22T hi(x) = 9(z) +29(_‘C> , ha(z) = 9@) —9(=2) ¢y, h(z) BRI,

2
hg(:lf) ‘i;ﬁj‘ggéﬁf
g(nz) = n?hi(z) + nha(z)  Yn€Zsog.  ceeee ®

L85,
g(—na:) _ g(ZC) +29(_m) n2 — g(:l?) _29(_x) nrEmS

hy(x) (BRI Z D S
hi(nx) = n*hy(z)  Vn€Z.

Flizx=1¢8<L
hi(n) = n2hi(1) Vn € Z.

ho(nz) = 9% —29(—%) _ 9@ —29(—93) n=nhs(z)  ¥n € Zso.

ho(x) 12T BEEZ A2 &
he(nz) = nha(x) Vn € Z.

107



Flizx=1¢8<L
ha(n) = nho(1) Vn € Z.

Ve e QL Ta = %,pe Z.qeN B2,
hi(gx) = ¢*hyi(z) D25

hl(l‘) _ hlégx) — hlq(p) — pQ};l(l) :hl(l):cQ.

[FIBRIZ U T ho(qz) = qha(z) 225

() = hz(qu) _ hzép) _ phz(l) ~ hy(1)

L7DdioT, ®@Tn=1¢8L¢L

g(x) = hi(x) + ho(z) = hi(1)2? + hy(1)x = az® + bz Ve e Q

f(z,y) =gz +1y) — g(x) = alx +y)? + bz +y) — (az? + bzx) = ay® + 2axy + by.

£oT
f(z,y) = ay® + 2azy + by Va,y € Q.

LD PE-L OV R ULES

flz,y) + f(y,2) + f(z,2) = ay® + 2axy + by + az® + 2ayz + bz + ax® + 2axz + bx
—a(r+y+2)°+bz+y+2)
LY A f(0,x+y+2) &FLIRD.

X o TR

a,be QzEHL LT
o flx,y)=ay?+2axy+by Vr,ycQ
Ths. |
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%8 30 (Korea 2014)
Find all functions f : R — R such that for all z,y € R

flxf(x)+ fo)fy) +y—1) = flaf(z) +2y) +y—1

R

flaf(x)+ fle)f(y) +y—1) = flaf(z) +zy) +y—1
ru1.
OTzxz=08LL

@Ty=18BL

(i) £(0) =0 DHADH S

XoT
flx)==x Vz € R.

IR T SMTH B
(i) £(0) % 0 DBA

VEERIZHLULTy=t—f(0)+1&BL@»5 f(f0)f(y)+y—1)=t &R5.

o T fIE2S (surjective) TH 5.
OTy=08BLL

faf(x) + f(2)f(0) = 1) = fzf(z)) -1

fmyZT%yaméaﬁﬁﬁﬁéwg,@@m:aa£<a

flaf(a)+ f(a)f(0) = 1) = flaf(a)) =1 flaf(a)) = f(af(a)) -1
———

=0

RO FEPEL D,

(1), (ii) 2 SR
o f(x)==x Vx € R
TH5.
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& 31 (Middle European Mathematical Olympiad 2014)
Find all functions f : R — R such that for all z,y € R

rf(y) + f(xf(y) —2f(f(y) — floy) =22+ f(y) — f(z +y)
R
zf(y) + f(xf(y) —xf(f(y) — floy) =22+ f(y) — f(z +y)

LB,
OTz=1&B0-

F)+ (W) = f(fw) = fly) =2+ fly) — f(1+y)

Mo
fly+1)=fy)+2 VyeR

@Ty=0&BLL f(1)=f(0)+2. a= f(0),b=f(1) &L L
b=a+2.
OTy=12BWV7

ef(1) + f(zf(1) —af(f(1) = f(z) =224+ f(1) — flz +1)

br + f(bx) — f(b)x — f(x) =2x+b— f(x + 1)
(a+2)x + f(bz) — f(b)x — f(z) =2x+a+2— (f(z) +2)
f(bx) = f(b)x — ax + a.
(i) b= 0 DHGE
br =t B O

f(t):f(b)-%—a-%+a: f(b)b_at+a

5. t I XITRTOEBREND[REH 5
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fo)—a
5 5 +a=a+2 5

o T
flx)=2z+a VreR., ..

ZneE, OOELIZ

zf(y) + f(2f(y) —2f(f(y) = f(zy)
=x2y+a)+22f(y) +a—2z(2f(y) +a) — (2zy + a)
=z(2y+a)+2x2y+a)+a—x22y+a)+a)— (2zy + a)

:O,
FHildlx
2+ fly) — fle+y)=22+2y+a— 2(x+y)+a)=0
i) —HT 5.

(i) b=0DHAE F(1)=0.
b=a+2mba=-22%Y f(0)=—2.
@Ty=1&8E f(2)=f1)+2=2.

QTy=22¢8LL
ef2)+ f(@f(2)) —xf(f(2) - f(2x) =22+ f(2) — f(z +2)
20+ f(2z) —xf(2) — f(22) =22+ 2 — f(z + 2)

EoT fla+2)=22+2=2(x+2)-225 f(z)=2x—2.
IR () Ta=—20BAIER>TNA.

(i), (ii) 5 Rl

a ZEHE LT
e f(x)=2x+a Ve e R
TH5.
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& 32 (Middle European Mathematical Olympiad 2014)
Find all functions f : R — R such that for all z,y € R

wf(zy) +zyf(z) 2 f2*) f(y) + 2%y

R
zf(zy) + zyf(z) 2 f(2) fy) + 2%y

EHKL.
OTy=z BV

"o
@Tzx=0&BW\iz

5 f(0)=0.
@Tzx=1&BLL

(fO)-HA-fW)z0 (f1)-1*=<0

5 f(1)=1.
fla)<aTH2E57a>0MRFELEZLETS.
@Tr=alBV (f(a?) —a®)(a— f(a) Z 025

———

>0

OTy=1,tBLL
20f(z) 2 f(2®)f(1) +2®  2xf(x) 2 f(2®) +2°.

ZOXEERT B L
(f(x) —x)* < f(2)* — f(a?).

@DTr=alBE%EMHI>L

(f(a) = a)® < f(a)* = f(a®) < f(a)* = a® = (f(a) - a)(f(a) +a).
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Fla) —a <05 (f(a) — a)? < (F(a) — a)(f(a) +a) DHLE f(a) —a(< 0) TH
E fla)—a=fla)+alkd. £o5Ta<0. ZHida>0FET 3.

L7255 T
f@)Z2x Vx>0

N AIRVASN
fO)>bTHEE5%b>0MPFELZET S.
@’C“:L‘:\/E,y:L EHLle

NG
VBF(1) + F(VB) = f(b)f (%) + b
Mo
F(VB) = f(b)f (%)
ﬂ)>bf(§§)g:%%ﬁﬁa
1 2 f0f (L) >0
Vb Vb
Mo
fVo)y>vb. ®

@Tz=VbeBLL
(f(b) = b) (Vo — F(vB) 2 0.
<

fO)=b>0&0 Vb— f(Vb) 20 F72bE f(VD)
ZNIEGIZFIET 5.

£oT
f(@) S Va > 0.

Ve > 012 UT f(z) 22 TEH-nH
fx) == Vz > 0.

£(0) = 0 75
flx) == Ve20. (%)
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MZx<0DEED f(r) IZDOVWTHEZS.
r<0,y<0DEEON”5

r-zy+ayf(r) 2 22 f(y) +2%y  2(yf(z) —xf(y)) = 0.

< 07=0o

yf(z) —zf(y) = 0.
©TzeyZzANBZZL of(y) —yf(z) S0TRbSE
yf(z) —xf(y) 2 0.

@’ @J:D
yf(z) —zf(y) =0  Vax<0,y<O0.

@Ty=-128LL —f(zx)—zf(-1) =025

=
8
I

—f(-Dz  Vz<O.

f(x) =cx Va < 0.

IhE@ D (f(z) —2)2 < f(2)? = f(2?) = f(2)? — 22 ITRAT B L

(cx — x)? £ (cx)? — 2? (c—1)%22 < (2 —1)22

£-oT

EEL 21215,
BLEDZ Ems

EELce=12d 5,
IOz 2 RT.
2 20,y> 00 ExODREDIE

f(zy) + zyf(z) =z zy +y - o = 227y,
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OD4IEIT
f@) fly) + 2%y = 2 -y + 2%y = 227y

LB QTESMBKD LD,
z20,yS0DEEOQDLEIIX

of(zy) +xyf(z) =z - coy +ay -z = (c+ 1)z%y,

QDAL
f@)f(y) + 2%y =22 ey + 2%y = (c + 1)2%y

BN 5QTESHED LD,
<0,y 00D EQDLELIE

2f(2y) + 2yf(a) = x -2y + 2y - ca = 2ea’y,

ODFBI
F@)f(y) +a’y = a? -y + 2y = 2%y
c21,2%y 20 &0 2c2?y 2 22%y £ 505 OQDAERDEK D 2D,
rZ0,yS 00 EQDLLIE

zf(zy) + zyf(z) =z -zy + 2y - cx = (c+ 1)z?y,

QDA
f@®)fly) + 2%y = 2% cy + 2%y = (c+ 1)2’y

BN SQTESHED LD,
U727 o TIE
c21zEHELT
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%8 33 (Moldava TST 2014)
Find all functions f : R — R such that for all z,y € R

flxfy)+y) + flay+z) = flz +y) + 22y

R
flxfy)+y) + flay+z) = flz+y) + 22y
B,
OTz=0%128BV7 f(y) + f(0) = f(y) 5 f(0) = 0.
OCTarx=1&B07%= f(fly) +y) +fly+1)=fA+y) +2y 25
f(fy) +y) =2y.

WERKHbf,@Ty:%tB<tﬂﬂw+m:t
& o T fIERS (surjective) TH 5.

zf(y)+ty=z+y<=2(fly) —1)=0&D fly) =1,%Byzr&EA5.

[ 1E2S (surjective) 72005 f(a) =1 £72% a BMFET 5.
OTy=asBLL

flxf(a)+a)+ flax+x) = f(z + a) + 2az,

flx+a)+ flax +z) = f(x + a) + 2az.

£oT
f((a+1)x) =2ax VxR

a=—17%5E0R f(0)= -2z LRVFENELENS ax —1 TH2.
t=(a+1)z 2B LOI

f(6) = az—fl t

LEZEYES.
ax—17DTt=(a+ 1)z FTRTOREEWMOED05

f(a:):a+1x vz € R.

fla)=1&0

2a?
a—+1

=1 2¢*-a-1=0 (2a+1)(a—1)=0.
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Yo a:—% $hlda=1LR500

f(z) = -2z Ve e R
&
flx)==x Vz e R

2195, ZThold@QzH-7.

L7223 > THRIZ
o f(zr)=-2x vz e R
&
e f(x)==x Ve e R
TH5.

117



&8 34 (Turkey TST 2014)
Find all functions f : R — R such that for all z,y € R

F(fly) +2° +1) + 2z =y + (f(z +1))°

fi# 1
f(fly)+2°+1)+2z =y + (flz+1))?

L.
OTz=0&BL Lk
F(F)+1) =y + f(1)%

VEERIZWHLT, @Ty=t—f(1)2 28L& f(fly)+1) =t
o T fIF2H (surjective) TH 5.

fp)=fl@=r&9%. @Ty=pqlBi
flr+1) =p+f(1)% fr+1)=q+ f(1)°

o p+ f(1)2=q+ f(1)2 T%bbE p=qg KD,
& o T fIZHE (injective) TH 5.

[ 1E24 (surjective) TH D05 f(a) =0, f(b) =1 L7325 a,b BFET 5.

@Ty=asBLL

£-oT

OTaz=f(1) rH< L

F(fly)+ fQ)?+1)+2f(1) =y+ (F(f(1) +1))?
—————
—147(1)2
—y+ (1+ f(1)?)°
=y+ f(D)*+2f(1)°+ 1.

£oT

FOF@) +F)?+1) =y+ f()* +2f(1) —2f(1) + 1.
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@%S &
f(y+fuf+1)=f(ﬂigttp+1>.

ZORDEIIZ, @QTynDE I A% f(y)+1 TEHSHMRZA
FUU@) +1)+1) = fly) +1+ f(1)°

RS
Fly+ Q)2 +1) = fly)+ F(1)* + 1.

ZORTyDLIA A% f(y) CEESMRSL
FU@+ PO +1) = FF@) + > +1. e
@, ®&D
FUFW) + FA? + 1=y + f()* +2f(1)* —2f(1) + 1.

£oT
W) =y+ fO)*+ F)2=2F1). e

©OTy=a B\
FO) =a+ f(1)* + f(1)* —2f(1) = f(1) = f(1)* + FD)* + F1)* —2f(1) = F(1)* = f(1)
VARES)
©Ty=>brBW\-

F)y =b+ FQ)* + f(1)* = 2f(1)

AR

b=—f)' — FO2+3FQ).

@Ty=beBWV7
f(2)=b+ f(1)* = —f(1)* +3f(1)

AN

F2)=—f*+3f1).

OTzr=1&BWk
FW) +2)+2=y+ f(2)°
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ANES

FUEW) +2) =y —2+ (—f()* +3£(1))%.

OCTzr=-1¢BW\Wr
F(fy)+2)—2=y+ f(0)

AN

FUw) +2) =y +2+ (F)* = F(1)”.
@, O
y—2+ (—F)*+3f(1)" =y +2+ (FO)* - F(1))°,
f(1)° =2f(1)* +1=0,
(F) = 1) (FO)* + F)P + F(1)? = (1) = 1) =0.
WCTy=a&blL
f@) =a+2+ (F)* = F(1)" = F(1) = FO)? + (F()* = £(1)
BN, @QEMFS L
FO) = FO? + (F)F = F(1)* = —F () +3£(1),
FOP = 2£(1)° + f(1)* = 2f(1) +2 -0,
(F) = 1) (FO)T + F()° + F(1)° = f(1)* = 2) =0.
fx123352, @ O»5
FO* 4+ F(1P + (12 = F(1) — 1 =0,
FOT+F° + F(1)° = F)* =2 =0,

®-@x f1)? 5
F1)*=2

2195, InE@QITRALZ2f(1)+2+f(1)2—f(1)—1=055 f(1)2+f(1)+1=0
2B, f(1) = V2 (D2 4+ f(1)+1 =0 %I R0H5, @), O 23 I3EE

L7\,
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LE#T, f(1)=1Th5.

orE, @, 0, ® @EYa=0,b=1,f(0)=0,f(2) =2 L%3.

72, @Ol

f(f(y)+1):y+17
®

f(fy) =y
N A
@ TyneIrk f(y) CEEHBAZX f(f(fy) +1) = fly) +1I2BVT O 2fi

5L

fly+1) = f(y)+1
A

@ Cy——1e8<E f(f(—=1)+1) =0 = f(0).
[ IZHE (injective) DT f(—1)+1=025 f(—1)=0.
OTy=-1&8BLL

f (xQ) +2z=-14(f(z+ 1))2
—1+ (f(x) +1)?

@l

f(x)® +2f(x).

£oT
f(2?) + 22 = f2)? +2f(x).

MTzDEIr% f(x) TEHESHMAZA
F(f@)?) +2f(2) = f(f(2)? +2f(f(x))

TO &>
f(f(@)%) +2f(2) = 2® + 22,

OTy=-1EBVER [ (27)+20 = ~1+(f(e+1))* & (f(z+1))* = f (2°) + 22 +1

LEBL, QOHMITfHES &
F(fy)+a2*+1) +20=y+ f (+?) + 22 + 1.
ZORTHEBIZOEZMES &
fFlf)+a2?) +1+20=y+f(2?) + 22 +1
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ANES

F(f) +22) =y + f(«2).

IORTyDLIZr% fly) TEEHALRX [ (f(f(y) +2?) =

© ZFH> &
fly+a®) =fly) + f(2?).

OWTy=—-2?BLL f(—2?) + f(2?) =0,%DP5
f(=x) =—f(x) VeeR

2135, LizdiooT, f(x) 3&HAKTHS.
BTz DLIAr%E —g LESHZIN

f (f(—$)2) +2f(—x) = 2% — 2z

ZBWT, @S &
2?4 2f(x) = f (f(x)Q) + 2.

©+ e »5
flz)==x Vy € R.

ZixQzNE-T.

U 72085 Tkl
o f(x)==x VyeR
Thb.

fi% 2

F(fly) +2° +1) + 2z =y + (f(z +1))°

Y8, £, a=f(0),b=f(1) &BL.
OTa=0&B0E f(f(y) +1) =y + f(1)° 25

y=f(fly)+1) =™

VEERIZHMLT, @Ty=t—-0b B f(fly)+1)=t.
& o T fIE2S (surjective) TH 5.

fp)=fl@=r&95%5. @Ty=p,qgeBi
fr+1)=p+0b* fr+1)=q+?°
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Do p+b2=q+bThbbdp=qgdHHD.
£ o T fIXHE (injective) TH B.
@%zOIfAT 2L

Ff)+22+1) 42040 = f(f(y) + D+ (f(z+1))>  Vr,yeR. - ®

[ 1E25 (surjective) 7226, VE e RIZHULT, fly)=t—1&745yecRPEFEET D
5, QIFIRD LS IZEZHEYES.

f+a?)+20+0>=ft)+ (flz+1)> Va,teR o @
@Tt=02BWV/
f(2%) + 22 +b* = £(0) + (f(z + 1))

"o
Fa+ D)2 =f(@)+2w+t—a e ®

®zOIZRATZ L
ft+a®)+22+b% = f(t)+ [ (2°) + 22+ b* — q,
ft+2%) =ft)+ f(2*) —a

£oT
f+z)=ft)+ f(z)—a Ve, teR,z2>20. ... ®

r<0DEEL ft+z)=f(t)+ f(x) —aDPEDVEDI L ERT.
®Tt=—x &bl

fO)=f(=2)+ f(z) —a  f(=2)+ f(z) = 2a.
Ihzffisb <0 &

f(z) =2a— f(-z)
=2a— (f(t+x)+ f(—=) + f(t+z)
@2@—(f(t+x+(—x))+a)+f(t+x)

=a— f(t)+ f(t+z).
EoT ft+z)=f(t)+ f(x)—aDEOI2N5
ft+2)=ft)+f(x)—a Va,teR. ... ®
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@OCTr=y=128LL f(2)=2f1) —a=2b—a.
@Trx=1&8L f22=f1)+2+b>—a=b*+b+2—a.
FoT@2b-a)?’=b>+b+2—ah5

2b—a)Y+a=0b>+b+2. ..
@Trz=-1B0 f0)2=Ff1)-2+—a=b+b—-2—aDb
a4+a=b+b-2. . ©)

®-0 &0
4h% — 4 = 4ab.

b=0FZDHEXZHMZI RN 6, bx0T

L b1
b

—p— L
=b— -

a=b— % E@ILRAT B L

<b—%>2+b—%:b2—|—b—2,

b2+b—2+bi2—%:b2+b—2.

£-oT
1

1
EE A

"o b=1%1F5%.

orE, a:b—%:()’@, a=0,b=177%bb

f(0)=0,f(1)=1
AR
IhEflioTE, @FESHET L
(fe+D))?=f(@) +2c+1. G
flet+ty)=fl@)+fy) VeyeR e @
@ Ty=—x BV f(0)=f(z)+ f(—z) 5
f(=z)=—f(z) VzeR
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$Thbb, f(z) ZHEKTHS.
@ & f)=1%6nE 2HEEHETL
(f() + f(1))* = f (2?) + 22 + 1,
(f(x)+1)* = f(2°) + 22+ 1,
f@)?+2f(z)+1=f(2%) +22+1

ANES

f(2%) = f(z)* +2f(x) — 2z Vx € R.

WTzDLIA A% —x CESHMIDLL
f(2?) = f(—z)* + 2f (—z) + 22.

fla) A2 5

f(2?) = f(z)? —2f(x) + 2z Vx € R.

©-O &Y
flz)==z Vo e R.

INxO%EET.

U 7253 o TR
o f(x)==x Yy e R
Thb.
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& 35 (USAMO 2014)
Find all functions f : Z — 7Z such that for all z,y € Z

212 () —2) + 9212 = 1) = L9 4 rur)
% ,
ef(2f() — ) + 252 — f) = L 1 fuf )
B,
DTy=0HE 2
ef(250) - ) = L9 4 5(0).

W fO=008a
@ af(—2) = L grpy,

X

@ x f(z), @x f(—z) 25

2 f(2)f(=x) = f(2)°, 2*f(2) f(~x) = f(-2)°.
f(@)? = f(—x)3 25 flx) = f(—x) THOLIIMERKTH 5.
oL, @

LIRDEMS

f(x) € {0,2%}

N AIRVASR

@Tz=1&8LL f(1) €{0,1} &dn5 f(1) DETHERTE2T 5.

i) f(1) =1 0HBa
Fla)=02%% a0 FELEET S,

126



OTy=a B

ef=a) +atfa) = L0 L p0)  wfe) +a?r(en) = L9
@ 2> & af(z) +a’f(2z) = zf(x) B 5
fx)=0 VNVzxez e ®
@h5 f(2) = 0.
DCae=2y=1tB07-
21211 -2+ 14— £ = L8 4 g 2500+ 1) = 1)

75 f(3) = 1.
OCTz=3y=2rBLL

3f(2£(2) =3) +4f(6 - f(2)) = —3— + f(2f(2)),
3f(=3) +4f(6) =

@#6ﬂ®:0?ﬂ4ﬂ=ﬂ$:1E#6%&®ﬁﬁ3:%t@b%@ﬁ
H LB
LEdioT fla) =0 &7 a5 0 RIFELRVLS, ©LD

f(z) = 2? Vo € Z.
ZDEEQDEMIIZ

zf(2f(y) —x) +v°f (22 — fy)) = 2(2y° — 2)* + (22 — ¢*)?
= z(4y* — day® + 2?) + y? (42 — day® + o)
=z +y°,

OnA01%

f(x)2 4 2 3 6
x

T

&7, ORI,
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(i) f(1) =0 DEE
Dcy=1e8L

2 2
ef(-a)+ f22) = L 4 f0)  np@) + f2m) = L
@ 2S5 L xf(x) + f(22) = xf(x) 25
fx)=0 Yxez ... ©’

Fb)=b2 275 b0 WEEL LT 5.

© 25 bixHFHE 5.

OQTy=bebBLL

2
e f@2F0) — )+ 1 2x — 1) = TE 4 pore).
xfpﬁ—xy+wf@x—ﬁy=i@i+faﬂ

r=2k k€L kx0DLE® ZfE>L

Vf(4k —0*) =fF(0%). . ®@
F (%) €{0,(*)?} 205 f(0%) =0 D E@iF

Vf (4k —0*) =0 f(4k—b*) = b

F7z f(4k—b%) € {0, (4k —b*)?} Tb %= 07ZH»5 f(4k—1?) % 0 T
4k —b?) = (4k — b%)°.
koT (dk—02) = b* 4k — b = +b2.
Ak -2 =P TR0 =2k D E b IXBREBVGRTH DI LILFE
I5.
4 =0 = - Thbb k=00 E kx0IZFET .
L7zdioT f (b%) =0 &b f(4k —b?) = 0.
b=2b1+1,b; €Z B L 4k —b* =4k —bF — by — 1) + 3 1% 0 AL DIEF
DERIZINS [ (4 —b%) =0 & D

f(z)=0 Vo = 3 (mod4),z % —b?
235, Zheflise
f(x)=f(—=z)=0 V — 2z =3(mod4), —z % —b?
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N AIRVASIONG

f(z)=0 Vo =1, 2 =3 (mod4),r % +b>.

EoT £ 2RI RTOFBUIH LT f(x) =0 DO LD, oovns (%)
bIZFERDTO X 22 DL Z1E (%) 225 f(b) =0 &7 b f(b) =b%(x0) IZF
J53 5.

U725 T be {b?, b} Thifm be {1,-1} &7 5.

b=10Ds& fb) =256 f(1) =1. £IZAT[f(B}) =0Tho7rb
f(y=0&%b f(1)=1I1ZFFET 5.

b=—-1DLE fb) =025 f(-1)=1. 2IZ5T f(b®) =0THo7zh5
f(-1)=0&%mY f(-1)=1ZFET 5.

L7285 T f(b) =0 £725 b 0 IIFIELRVRS, LD

f(z)=0 Vx € Z.

ZDEEOIXED VLD,
(2) f(0) =0 D&
@Taz=2f(0) £BL L

2402 = L5 + 10
YRANS, ZORELHTSE
2
2(2f(0) — 1) = (%) S

RDETWIFEEENS, QDHEBIFEBL L EAZNROENSE KL s, &2 AN
®DENIL 2 x T DD T HFEIZ SR NDTHFENREL 5.
U2 oT, ZDEEITIRIZ .

PAED Z & h o i
o f(x)=2? Ve € Z
bt
e f(x)=0 Ve € Z
Thb. [ |
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G178 36 (Uzbekistan 2014)
Find all functions f : R — R such that for all z,y € R

F @)+ (7)) =@+y) (f(@®) + fF@°) — fay))

R

F @)+ () =@ +y) (F(@®) + f°) = f(zy))

£B<.
OTz=y=0&BWV7~Z2f(0)=0»5 f(0)=0.
OTy=0&BLL

OCTy=—a bl
f@)+ f(=2®) =0 f(=2’) = —f(z?).

23 T RTOEREEZID 15505

b, flx) X&HEKTHS.
OTyDLIsr% —y CTEHESMA DL

F @)+ f(=y°) =(@—y) (f&®) + fW°) — f(—2y)),

F (@) = £ (%) = (@ —y) (f@) + F&?) + f(ay)) -
O+@»5
@5 &
ef(y*) =yflxy)  Va,y€R
©@Ty=1&B<L af(l) = f(z). c=f(1) B
f(x) =cx Vz € R.

INiFO%zW7Zd. Lizddo TR
e f(x)=-czx vz € R
THb.
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il 36 & L7 BRI A 1996 FFITHESI T W 5.

F9%E 37 (China 1996)
The function f: R — R satisfy

f(@®+9%) =@+y) (F(@®) = f@)fly) + f?)),

for all real numbers z and y .
Prove that f(1996x) = 1996f(z) for every z € R.

fRE

F(@@+9%) =@+y) (F@®) = f(@)fy) + f7))

rB<.
OTy=0rBLL

@Tax=0&8BLL f(0)=0.
@TzrDeIlr% Yr TESHZ-K

flz) = Yaf (Yz)?

A5
r20= f(x) 20,22 0= f(z) =0

MDD b5,
F={keR|f(kx)=kf(x) VreR} LB ELHGMNIZ1EF.
ke FDOe x

ke f ()2 5k (%) = f(ka®) =f ((S’/Ex)?’ 5 N (f({”’/Ex))2

keF
o 2 2 2 2
(%) Fx)y? =7 <€/Ex> ({)’/Ef (x)) =f <€/Ex> :
(%) 25
Vkf(z) = f <€/Eac> :
£oT

VkeF.
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WIZh,ke FOEh+keF %257,
f«h+km):f((3mﬁ3+<3mﬁﬁ

((v7) + (R0) | 1 (32)" -1 (v7) 1 (90 1 (45

® .
(V)= Vs (). (V)= Vs (V)

= (Vi + V&) &/ (Vi2 = Ve + V02 1 (V)

= (h+k)Vaf (Vz)°

5 (b + k).

FoThkeFOEEh+keF DKoo,
1€ F o fHERBFNRNET, I RTOEDER nlZne FTHDEI IR

5.

() LEF EMSn=10r HIHH L.
() n=k DEFHOIOLFETBL Lke FENS k+1€F L5,
koTn=k+1DLEEHKD O,

i), (i) £V TRCOEDHR n lEne F Th3.
FHZ 1996 € F 7255 £(19962) = 1996f(x) & D 3L,

132



&8 38 (Balkan 2013)

Let S be the set of positive real numbers . Find all functions f : S% — S such
that , for all positive real numbers x,y, z and k , the following three conditions are
satisfied :

(a) zf(z,y,2) = 2f(2,y, ),
(b) f(x, ky, k22) = kf(2,y,2)
(c) f(Lk,k+1)=k+1

B1x=Fkux,y=ky,z=2 (kz1,91,21 >0) &L &

kxlf (k2x17k2y17k2z1) = kxlf (lC, kyv k22)

(?) kalf(xayaz) = xf(x,y,z)

o 2f(z,y,2) = 21 f (21, kyr, kP21

& kz1 f(z1,y1,21)

(:) kxif(x1,91, 21).

£ oT f (K2, K2y, K221) = far,y1, 1) BHRD 325
f(ta,tb,tc) = f(a,b,c) Vt,a,b,c>0. ... ©)
DTt = % Ll
f(a,b,¢) :f<1,%,£>
:@iﬁf‘kl:%,k?(lqtl): Lol

C R =k Kk =k L rk2 e lp oo
a a a a

_ 2
ThEMm L k= —0E V;; + dac

E>07206

e — —b+Vb?% 4 4ac
2a '
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oT

fla,b,¢) = f (1%%) = [ (L kLK1 + 1))
(?) Ef(1,1,l+1)

1
=k(l+1)=k(1+1)
= kU+1) =R+
c 2a

a  —b+ b2 1 dac
_ b+ vVb? + 4dac

2a

_ oyt \/y2—|—4a:z'

f(z,y,2) o

ANCY S

g2 t,k>0r95. f(1thk,t*(k+1)) (_;)tf(l,k,lﬁ—l) =tk+1) &0

FLth, 2k + 1) =t(k+1).

a=tk,b=t*k+1) £B<. t:% 2b=1(k+1) ITRAT B L

2
b=2(k+1) bk®>—d’k—a®>=0.

k2
E>04&D
a(a+va? + 4b) a Va*+4b—a
k= = — = )
2b k 2
£oT

Va2 — 2
f(l,a,b):f(l,tk’t2(k+1>) ki t—qgt VO +4b—a _ a++va +4b.

2 2
(a) Tx=1ly=a,z=b&EL
1'f(17a7b):bf(b7a71)
NS BVASIONG
2
f(ba,1) =L f(1,a,0) = AF VA £4b
b 2b
£oT
_a+Ver+4
f(b=a71)_ 2b '
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,y,2>0HLTEk=z2BL
Y
xya Ty ——"- \/E
( Vz
Y
7_71
( f)
Yy ‘/_
\/_ Z—|—4x

“,_.
-
S
[\
N—
Kﬁ
VN
JR
|
=
=
W
N———

@\/E
Y+ VY? +4xz
2x
£oT
2x
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%8 39 (Benelux MO 2013)
Find all functions f : R — R such that for all z,y € R

fla+y)+y = f(f(f(2)))

1
flet+y) +y = f(f(f(2)))

L1,
OTy=[f(f2) -z LBV

FFF @)+ f(f(2) =2 = F(F(f(2)))

i)
f(f(z)) = =
@Tzrz DL I A% f(z) TEZSHAD L
fUf(f(2) = f(2)
Q& ZDANS
flz+y)+y= f(f(f(2) = f(z)
XoT

flea+y)+y s fla)
@TyneIsr%y—x CTEHSMAZ f(y) +y—z = fz) 56

fy)+y = flz)+a
@Taz=128V7%E fy)+y < F1)+125

fl@)+z= f(1)+1.

@Ty=1&BLL
F1)+1E f) 4o

®, @25 flr)+x=f(1)+1%285. a=f1)+1&BLL
flx)=—x+a Vr € R.

ZORIFOEMT. Uizdi> THEIZ
o f(x)=—2x+a VreR
Thb.
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fi2 2
flx+y) +y = fF(f(f(x)))

L.
OTy=0,BLL
f(x) = f(f(f(x))).

DTz D Is% f(z) TEREMX, y=f(f(f(2) - f(z) LBV
FU (@) + fF(f(2) = f(2) = FIF(f(f(=))))

AN

@’ @J:D

/5. @xMHES> 2O

AN
®Tr=018V7~= fly)+y < f(0) 225

f(z) +z = f(0).
®Ty=—z B0 f(0)—z < flz) B
f0) = f(z) + 2.
®, @75 f(z)+z=f(0)%213%. a=f0) B
flx)=—x+a VzeR,

ZoRIXOZEHE T,

U 72235 TR
e f(z)=—-x+a VzeR
Th5.
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%8 40 (Baltic Way 2013)
Find all functions f : R — R such that for all z,y € R

F@fy) +y)+ F(=f(2) = fyf(z) —y) +y

fRE
ffy)+y)+ f(—f@)=flyflz)—y)+y - @
Y51,
OTz=02sBLL
fy) + f(=f(0) = fyf(0O) —y) +y. e ©)
@Ty=0&BWVE f(0)+ f(=£(0) = f(0) 5
f(=£(0)) =0.
OTy=0,BLL
f(@f0) + f(=f(x)) = f(0). e ®
a=f(0)2BLL f(—a)=0TO®, @b
fl@)=f(la—Dz)+z. e @
flaz) + f(=f(x)=a. . ®
(1) a=0DHE £(0) =0
@, GlFFENTH
flx)=f(-x)+2z .. @’
f(=f(x)=0 ®’
L.
® &> O
flafy) +y)=fwflx)—y)+y e @’
b AN

O Tor=-128L
F=fw) +y) = flyf(=1) —y) +v.
@ &Y —f(y) +y = f(—y) BHOLODS
F(=f@) =fwf(=1) —y)+y
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2185, ® 25k
flyf(=1)—y)+y=0.

f(-H=1o&x, ®I
0O+y=0 VyeR

LRV VDT f(-1)x1Ths.
b=f(-1)—-1x0tBL, O

fly)=-y VyeR
B, r=by £ BL Lz IFTRTOFEBUEZED 505

f(:v):—% Vx € R.

c:—%agmtf@qu%cyaﬁxﬁéa

Pz =0 VzeR.

hhsce=0%2155.

EoT f(z) =0 £750, T f(—1) %1 iz,

a=1088 f0)=1,f(-1)=0
@H 5

£oT

O P-A OV R UIES

faf)+y)+ f(—=f(@) =2fy) +y+1—flz)+1
=z(y+1)+y+1—(z+1)+1

=xy+y+1,
ySBULES

fflx)—y) +y=yflx) —y+y+1

=ylze+1)—y+y+1

=xy+ty+1
L0, OIZED LD,
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(3) a 0,1 D5

@cr=——9%_ B
a—1
a N a  _a
f<_a—1>_f( a) a—1  a-—-1"
— a Q J—
c=———7 LB fle)=c.

OCTax=—-ay=clBLlL

f(=af(c) +¢) + f(=f(=a)) = f(cf(=a) = c) + ¢,

f(=ac+c) + f(0) = f(—c) +c fla)+a=f(—c)+ec.

£oT
f(—0) = fla) +a—c

@Cr=—% B\
a—1

F(=2) = fla) + 2

a—1 a—1

o

f(=¢) = fla) —c.

@, ®&Y fla)+a—c=fla) —cPHHEDIDba=0%"5. ZNidax0ITFE

5.

(1), (2), (3) 2SI
o f(zx)=x+1 Ve e R
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&8 41 (Brazil 2013)
Find all injective functions f: R* — R* from the non-zero reals to the non-zero

reals, such that

flx+y) (f(x)+ f(y) = flay)

for all non-zero reals z,y such that x +y = 0.

fi# 1
f@+y)(flx)+fly)=flzy) e ®

ru<.
2>02F3. OCTy=1e8LE flz+1)(fx)+ F(1) = f(x).
a=f1)x0rBL

I A G
flx+1)= OETE ®
@ % i 5 & BUANIRINIE T
flx+n) = nf_(lx) ...... ®
o+ (£ ) 1w
k=0

PrtEs. @Tz=1&8LL

fin+1) = - = 1 L @

(1) la| > 1 DBE

w5 1 1
1) = = a= .
f(n+ ) an_1+an_1 2an_an—1_1
a—1
£oT
fln) = o (n22)

2a" 1 —agn 2 -1 =

ZORFn=1DLETELHEDLDNS

f(n) = a—1 YneN 0 aeee.. ®

2an—1 _ an—2 -1

OTarx=y=nrbL&



®rffi> &

9. a—1 ) a—1
2an—1 _ an—2 -1 2a2n—1 _ a2n—2 -1
_ a—1
2a™ —1 an2—2 1
9. a—1 . a—1
_ 1 1 _ 1 1
a’ 1<2_E_ a”_1> o’ 1<2_E_ a2”_1)
_ a—1
nZ—1 2_l_ 1
a anzfl
9 a—1 ) a—1
A N (e ey
a an—l a a2n—1
_ a—1
an273n+1 (2 1 o 3 )
a a™ -1
BEDEATn >0 2T 58
2
il — 2. “_i ., A8 =0
9_ L
a
ERBEDDS
2
a—1
2 2_i =0
a
la| > 172006 ZDFEXE 729 a l3FIE LR\,
la| < 1 DG
ZoGLEHEG, O D,
®m5
. o a—1 1
) = B T oy =

®Tn—oo00 T BE

2l—a)?*=1-a (a—1)(2a—1)=0

|~

koTa=
TDEEOD

YN

Bfmﬁaéttbfﬁ%%Omeaﬁﬁéztt%ETa
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(3) a=—1DHH

. A
@06 flz+1)= o) -1
IhEHWS L
o f(x)
_ fe@+ly) fl®) -1
flz) =1
L7 f DG (injectve) TH D Z LIZFET 5.
(4) a=1DE f(1)=1
@0
flo+n) = Hffj?( z
ZOXTzrz=1&BLL
fln+1) = n—lkl
f)y=17%o7T
f(n)=— Vn € N.

OTy=nbLl e

f(nz) = f(z +n)(f(x) + f(n)) = 1+fff§3(x> (@ +L) - ff)
£oT
f(nx) = f(nl’) ......
DTy=z B f(20) 2f(z) = [ (¢2). DEY f(22) = f<;> e
f(2='17) Qf(g;) =f (:BQ) f(x)2 = f (IQ)




Vo,y % 01 UT fry) = f(z)f(y) DK DNIDZ & %RT.
T, y>0086%2%2%. QTyDLIAr% ny CESHZ

f(@+ny)(f(x) + f(ny)) = f(nzy)

fny) L fay)
fotmy) = S0 T

f(x) + f(ny) f(z) + f ;y) nf(z)+ f(y)
IoT

B f(zy)
fetnm) = 5+ fw)

OTzDEIA% 2nzy, yNDE&EI % n2y? TEEHMI L L
f(2n’zy?)
f@2nzy) + f(n?y?)
f(Q2zy?)
n3
f@zy) S (1/22)
n n
f(2xy?)
n®f(2z%y) + nf(y®)

f(2nzy +n?y®) =

£-oT
f(2zy?)
n?f(22%y) + nf(y®)

OT2zDeZr% 2nady, yD&Ii% nr?y? CEESHZ DL

f(2nPaPy®)
f2nay) + f(n?2?y?)
f(2z°y?)

nS

f(2§3y) N f(:f;yz)
f(22°y?)
n? f(22%y) + nf(z?y?)

f@naya + n’y?) =

F@na®y +n?y?) =

£oT
f(2z°y?)
n®f(22%y) + nf(z?y?)

f(2nx3y + n2y2) =
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OTzDEIA% 2, yDEI A% 2nzy +ny? TEESHZ T, OEHNS &

f (mQ + 2nxy + n2y2)
_ f(2na3y + n2x2y?)
f(a?) + f(2nzy 4+ n*y?)
f(22°y?)
n’f(22°y) + nf (1;2)1/2)
2 f(2zy
&)+ 250y + nf )
B fz5y?) (nf(2xy) + f (%))
— (nf22%) + f(2?y?) (n2f (22) f2wy) +nf (22) f (v2) + f (22°))

f@?) = f(@)? L@EB Y

(7238) = f (z® + 2nxy + n?y?) = f ((z + ny)?)
= f(z + ny)?

- ( nf(i)(?f(y) )

FQa®y?) (nf(2xy) + f (7))
(nf(223y) + f(22y?)) (n2f (2?) f(2zy) + nf (22) f (%) + [ (2297))
_ fxy)?
n? f(x)? + 2nf(2) f(y) + f(y)?

ERZY 2R

F22®y®) (nf(2zy) + f (v%)) (0 f(2)® +2nf(2) f(y) + f(y)?)
= flay)? (nf(22%y) + f(2°y?)) (n*f (%) f(2zy) +nf (%) f (4°) + f (229°))

LR5DT

N AV RVASN

(J) IHEEDOEAE n IZOVWTHK D LD, WAk n 220V TO 3RRELS n 2D
WTDMEFA LS.

nd OFEBE LT 5 2

f(22°y®) f 2zy) f () = f (xy)” £ (22°y) f (=) f (22y)

f (2a75y3) =f (23:33/) f (x2y2) .
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f (%) _ f(2%)

@zfds & 5 =5 f(22y?) 2B h S
f (:r5y3) =f (xgy) f (ﬂc2y2) Vo,y >0. e ®
YVu,v > 01 ﬁb’Ca:—\/ \/ 9:2]5<c‘:u—a:y,v_xy w = z°y3
HOTO»S
(v) Yu,v > 0.

Fz) EHEBE DS
flxy) = f(x)f(y)  Yo,yx0 .. ®

135,
O, ®@hr 5
flxz+y) (f(x) + f(y) = flay) = f(2)f(y).

W% f(x+y)f(z)f(y) THB L

1 1 1
ety F@  F)
%%5.F@y:7éya8<a
Flx4+y)=F(z)+ F(y) Vr,yx0. ... (%)

7 f(2?) =f(@)?>055 f(z) >0 Vz>04DT

F(x)>0 Vo >0

MR D LD,
=Y —DEBARREZRHZL, (x) VKT 2006 F(r) =k 75,
1

Fl)= ——<=1&9D k=1

=T

£oT

flx) == Vo € R*
DL E

Fo+y) (@) + 1) = ] (i n i) — L iy
LIk b SO,
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(1), (2), (3), (4) P S
o f(x)= % Vo € R*

TH5 u
fi# 2
fe+y)(fl@)+ fy)=fley) e @
re<.
DTar=y=1rB0 f(2)-2f(1) = f(1) 5 f(2) = %
OTr=y=-1&8LL
2f(-2)f(-D)=f¥). ®
OTa=-ly=2tB07 f(1)(f(-1) + f(2)) = f(-2) #5
f(1) (f(—l) - %) =f(-2. ®

Tg(—1)=-1,¢9(2) =2.
@' Ty=1&BV gz +1)g(x)g(1) = g(z) (9(x) + g(1)) 25

gz +1) = o) +1. @
@' Ty=-1eBWV gz —1)g(z)g(-1) = g(—2) (9(z) + g(-1)) 25
—g(z—Dgx) =g(-z) (9(z) —1). ... ®

@DTzDeIZr%2 -1 TEESHADL g(z—1)=9(1)(9(z) —1) x*0TZDORZED
LA LT —g(1) (9(z) — 1) g(2) = g(=2) (9(z) = 1) 25

g(—z) = —g(Dg(z) Vxx01. ... ®
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®TrDEIAr% —x CEHEHZLL

©®© x@»o1=g(1)2F%bb g(1) € {1,-1}.

g \FHH (injective) T g(—1) = —-17Z256 g(1) % —1. £>Tg(1) =1.

©1%
g(=z) = —g(x)  Ve=x0,1

A,
ZORWF =10 ELKOTONS

g(—z) = —g(z) Vo € R*.

@l
glx+1)=g(x)+1 Vo % —1,0.

£/, ZOXEMES L, g(—1)=-1,9(1) =175
gln)=mn Vn e Z\ {0}

HEEND.
BOEHIRNIE R 5 &, WYn € Z)\ {0} I L T

glx+n)=gx)+n Vo % —n,0

nREOoNS.

x:%e@*wa%, QD Tar=qiBEyDLIisrs s THEEMASL

9(q+2)g(q)g(x) = g(qz) (9(q) + g(x)) (9(x) +q)q-g(x) =p(q+g(z)).

YoTgla)=L =z ms
g(z) =2z Vo e QF.

@' Ty=neZ LBV g(z+n)g(x)g(n) = g(nz) (g(x) + g(n)) 75

(9(x) +g(n)) g(x)n = g(nx) (9(z) + g(n))

£oT
g(nz) = ng(x)
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r=LcQ prs
q1

a9z +71) = g(qiz + q1r) = g(qrx +p1) g) 9(q1z) +p1 = qug(z) +p1
N
Mw+r%=g£g%i£5:g@)+r

EoTreQrok
gle+r)=gx)+r VNrx-r0 ...

NS A RVASH
O Tcy=axbL
9(22)g(2)* = g (2?) - 29(2),

2g(x) - g(x)* = g (2°) - 29(2).
£oTyg(2?) =g(x)? 213205
g()=0 VreR* .

NS A RVASH

g(x) == Vo >0

DO DZ L ERT.
glz) <z & TBL glx)<r<azBZEHEr MEETS. Z0LEO, Qi e

r>g(x)=glx—r)+r=r
—_———
>0

LY FENEL B.
g(z) > T BL g(x)>r>a LRBAEE r BWEAET S, 20 E@, @fE> 2

r<g(x)=gx—r)+r=—g(r—z)+r=r

IR FIEPEL B,
L7=oT



AN R T
() WA BB b 5

BNZ 5.
iz O =9,

L7203 > TR
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& 42 (ELMO Shortlist 2013)
Find all functions f : R — R such that for all z,y € R

f@)+ fly) = flz+y)

and
f (1‘2013) — f(x)2013
fRE
f@)+ f(y) = flz+y)
f (332013) _ f(x)2013
B,

@Tz=1280x f(1) = (1) 25
f(1) e{0,1,—1}.

Oh 5
flgz) =qf(x) VYqeQ VzeR
N AIRVASN
@TaxDLIi B r+q TCEEHIDL f((x+q)2013) = fa + )23,

(2)2913 1 2013 ()22 + 901502 f ()20 + - - -
+2013Crg" f(2)?3 77 . 4 OB F(1),

4)
= f(z + q)2018
(f(2) + fla)™
= f(2)**" 420131 (2)**** f(q) + 2013Cf (2)**"' f (¢%) + - -
+2013Cr (@) 2087 f (¢7) + -+ [ (2°1)
= f(2)*" +2013¢£ (1) £(2)*™2 + 2013Caq® f (1) f ()™M + - -
+2013Crq" f (1) F(2)20837 .o 4 2013 (1)2013.
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@=0 »roB35Nn5%EA

F()?1% 4+ 2013¢ f (2)*" + 2013C24” f ()M + - -
+2013Crq" ()27 4+ PO (1)
= f(2)*" +2013¢£ (1) f(2)**"? + 2013Caq® f (1) f ()M + -
+2013Crq" f (1) f($)2013—r Ly g?013 g (1)2013
N ——
=f(1)
AR LT B 2 5013, f (22037%) = 5015 Co f (1) f(2)205375 (1 5 < 2012)

F@®P7%) = (1) f(2)PP7 (1£s22012).

(1) f(1) =0 DEE

©h5
f(2®7%) =0 (1=s<2012).

s=20120D¢E%2EZ5L f(r)=0 VreR %2f55.
i@, @%H2T.
(2) f(1) =1 DHA

©h5
f (1132013_8) — f(.fl?)2013_s (1 § S § 2012).

s=2011DE&2EZHE
EIRBENS
BTx=1&BLe

N AIRVASR
Vo € R,Vh(h > 0) IZ LT D flz+h) = f(z) + f(h) RO LOHS
flx+h)—f(x)=f(h) 20  f(z+h)= f(z).

£oT fz) EHRDEBTH S,
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Ve € RIZHLT, p, £ 2 < qp, 1i_>m Prn = 1i_>m Gn = x %729 A BT
{pn} gnt 22 2L f(2) ZIERDBEBTH 205

pn = f(pn) = f(2) = f(gn) = gn-

ZOXTn—oo00d&dT sl
flx)==x Ve e R

2155,
Zniz®, @iz
3) f(1) = —1 DEA

©n5
f (x2013—s) = (=1)*f(x)?98~ (1 <5 <2012).

s=2011 D2 EEEZDL  f(2?)=—f(2)?S0 VzeR Y EZN5
fl) <0 Vo0

ZZTglx)=—f(z) £BLE, (2) LAKILTgx) =2 28505
f(x)=—x Ve e R

BNWZ 5.
i@, @%HEZT.

(1), (2), (3) PofRIFRDIDL7ED.
e f(x)=0 Vz € R,
o f(zx)==x Vx € R,
o f(z)=—x Vx € R. [
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B8 43 (Austrian Federal Competition 2013)
Find all functions f : R — R satisfying following conditions:

(a) f(x)20forall z e R
(b) For a,b,c,d € R with ab+ bc + cd = 0, equality f(a —b) + f(c —d) =
f(a)+ f(b+c)+ f(d) holds.

21 () Ta=b=c=d=0%1B\7z2f(0)=3f0) 25 f(0)=

() Ca=b=c=0EBW0E f(0)+ f(~d) = F(0) + f(0) + ()ﬁ‘bf( 4) = f(d)
£oT f(z) HMEEETH 5.
z=—a,x=by=ct=—-d&ELab+bc+cd=01F(—2)-z+z-+y-(—t)=0

ERAY 2R
xz_l’_yt:xy ...... @

7Y, (b) OFRE f(—z—2)+ f(y+1t) = f(—2)+ flx+y)+ f(~1t) T&DS
f+2)+ fly+0) =G+ O+ fla+y) e ®

LiRB.
y=mzt=x—zrBLaztyt=az+a(x—2) =22 =2y RV OMPEHIDOD
T, @&b
fle+2)+ f2x—2)=f(z) + fle—2)+ f(22). - ®

@Tz=—z BV f(0)+ f(3x) = f(—x) + f(2x) + f(2z) 25
FGr) =220+ @), e @
@Tz=-2z B

fl=x) + f(4x) = f(=22) + fBx) + f(22)  f(z) + f(4z) = f(22) + f(3z) + f(27)

£oT
fldz) = 2f(2z) + f(3z) — f(x)
=2f(2z)
=2f(2z) + 2f(2x)
= 4f(2x)
AN
f2x) =4f(z). . ®
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®#%ffi> @ik
fBx)=9f(x) e @'
5.
BUE AL T
fnz) =n?f(z) (%)
M ONDZ L ZRT.

(i) n=1,2,3D & EHbLD.
(i) nSk(k=23)DEEHOILDEINET 5.
®Tz=kr &bl

f((k+1)z) + f(=(k—2)x)
f((k+Dz) + f((k = 2)x)
f((k+1)a) + (k= 2)*f ()

f(kx) + f(=(k = 1)) + f (22)
f(kx) + f((k = 1z) + f (22)
K2 f (2) + (k= 1)°f (2) +4f ().

£-oT

fk+1)z)= (K +(k—1)%—(k—2)*+4) f(2)
= (K> +2k+1)f(x)
= (k+1)*f(x)

EHED n=k+t1DEEBHY O
GL()ib?«f@ﬁﬁﬁn0ﬁbfbgimbio

vnge@(q>0)c:ﬁb‘tf< % ( )7‘77?@

ﬂx+@+f@ﬁ—w;wz>=ﬂ@+f<xy:“)+f@+yy ...... ®

Y+ xy;l’z :_a:y;xz =y’ 420y —202=0 TH 5.
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Vo, z > 01208 UTy?+ 20y — 2202 =0 DIEDfREE ¢y £ BXL.
Tabby=—a+ V2l 2z £BLE f(wW) :f(%) AR D 3
o205, @ik

fle+2)=flz+y)+ f(2)

L7 (a) 5 fa+2) — f(2) = flz+y) = 0.
2T f(z) 1% (0,00) THBIDEETH 3.

Ve e RIZWHULT, p, S v < g, lim p, = lim ¢, =z 2723 HEES {p.}, {qn}
ErBr o) RIERSEETHE TS

paf(1) = fpn) £ f(2) £ flan) = @2 f(1).

ZOATn—oc0ldT 5L

2135,
flo) HBEBE DS 2 < 0D EED

)
f(0)=0&D

k=f1)z0&BLE, k20T
f(z) = ka? Vo e R.
ZDEE (a) LY LH, (b) IZDOWTIE

fla=0b)+ fc—d) =k ((a—b)*+ (c—d)?)

—_——

=k (a2+b2+02+d2+2(abcd))
=bc

=k(a®+ (b+¢)?+ ¢ +d?)
= f(a) + f(b+¢) + f(d)
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QLN A/RVASR
U7zh% > TR
k(20) e LT
o f(x)=ka? Ve e R
ThH5. [ ]
2 (b)Ta=b=c=d=0&BW\7z2f(0)=3f(0) 725 f(0)=0.
(b)) Ta=b=c=0&BW f(0)+ f(—d) = f(0)+ f(0) + f(d) 5 f(—d) = f(d).
&oT f(z) HMEREBTH 5.

c#OtT%.ah+m+md20#6d:—%?—b
2
a—b=b4+clZZtbE5IZa=2b+c <‘:B<td:—M—b:—%—2b.
k=Y rpcr
C
2
a=2b+c=2k+te=2k(ct1), d=—20" _oph— 2ck% —2ck = —2ck(k + 1).

c

Ihok (b) DERITRAT B L
F((2K* +2k + 1)c) = f((2k + 1)c) + f (—2k(k + 1)c)

5
F(@K2 +2k+1)e) = f((2k+1)e) + f 2k(k+1)e). e ®
Vo, y(zy £ 0) LT o= 2k + 1),y = 2k(k + 1)c {727 k,c(c % 0) BFHET S
MESERERD.
cx0,yx0hb k0L _1TCIDLE

2
Yy _ 2k* 42k
x 2k+1
t=2L ey
’ U2 +20—t)k—t=0. . ©)

fi(k) =2k +2(1 —t)k—t B L
f1(0) = —t =0, fi (=5) = =5 %0, fi(-1) =t =0,

%:(1—t)2+2t:t2+1>0.

157



L2 T @0, —% UMD RED 2 ODERRE E O,

- Kok fi71 x N
— _“9 = —
DEBIRD—D% ko 2 U c S 1 Bl

_2k3+2ky  2K3 + 2ko _ op2

R T I ey | (2ko + 1)c = (2k§ + 2ko) ¢
—(‘\

2% 4y = (2o + 12 + (2k2 + 2ko)°
= (2k§ + 2ko + 1) ¢*.

£oT

2k2 4 2k + 1 = £/22 + 92

fx) BRI S f (262 + 2k + 1) = f (\/W) L EoTORS
F(VEFE) = 1@+ f) Yeylyx0) ®

y=002E [ (VETy@) =) | = f@)+[(0)= @)+ ).
z=00LELRABIZLT [ (Va? +97) = f(2) + fly) HHD 05

(Vo) = f@) +fly)  vayeR e @

@& (a) 5

f(\/m> — flz) = f(y) 2 0.

Vo =2 0,Vh >0 LT /a2 +y2=a+h&BLL 22 +y? = (z+h)? = 22 +2ha+h?
"o y=+v2hr+h?>0LK25DT

fle+h)—flz)=fly) 20

£ 5T f(z) 1[0, 00) THMABMTHB.
g:RZ0 5 R0 % g(x) = f (Vo) CTEET DL, @LDY

g(z®+y*) =g(2?) +9(v*)

ERAY5R5)
gz +y)=g(x)+g(y)  Vo,y20.
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72 g(0) =0 T g(z) X [0,00) THFPPEKTH 5.
glFa—y—oBHARERZRZL, g(z) 1% [0,00) THEBLEKTHE1S, Ve 20
X UTg(x) =ke §7805

f(x) = ka? Vo =20

Y.
Flo) HIBBIBE RS o <0 DL =

£oT
f(z) =ka® VzeR.

k=f1)20&D k=20Tdh5.
ZDEE (a)ldEbiLh, (b)ITDOWTIE

fla=b)+ flc—d) =k ((a—b)*+ (c —d)?)

=k (a2+62+02+d2+2(abcd))
N’
=bc
=k(a®+ (b+¢)?+ 7 +d)

= f(a) + f(b+ )+ f(d)

QU AIRVACR
U 7203 o THRIZ
k(20) zEHe LT
o f(x)=ka? Ve e R
TH5. [ ]
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78 44 (Austrian Federal Competition 2013)

Let k be an integer. Determine all functions f : R — R with f(0) =0 and

f(2*y") = ayf(2)f(y) forz,y=0

%
f (@) = 2y f() f(y)
B,
OTrz=y=128\7= f(1) = f(1)> 25
f(1) €{0,1}.
OTarz=y=-1&8BLL
£(1) = F(-17?

OTy=a 2L

OTy=1¢BLL

(1) k BERDEE
@15

FE) === fED (=02 +1) =0,

EoT f(=1)=0. Zh%EMHES> @05 f(1) =0.
©5 f(2F) =0. 28 FTANTORBUAZID 5255

f(x)=0 Vx € R.

Zhix@Qz W27
(2) k HMEET f(1) =0 D&HE
@5 f(—1) =0.
©»5 f(zF) =0. 2" IZ 0 U EDOTARTOELMEEIMD H55 5
f(z)=0 Va 2 0.
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@5
0=1 (@) = @f(@)? =fz)=0.

rx0DEE f(x)=0,7025D f(0)=0725
f(x)=0 Vo € R.

k AMBHT f(1) = 1 0BA

@n 5
FO)=-f-1° 1=-f(-1 f(-1)=-1
©n5
f@@)=af(x. ®
© %> &

F(a*y*) = F ((a9)*) = 2y f (xy).
F-O&0 f (xkyk) =zyf(x)fly) 26
zyf(wy) = zyf(x)f(y)
PO IO, zy % 0 72H 5
flzy) = f(2)f(y)  VYz,y(zy =0).
FO) =0ED50%R T r=0%dy=0DEEHHYTODT
flay) = f(@)fly) Vo,yeR e @

fla)=0,%% ax02FETIE, OTr=aqa,y= % rece

fla-2)=r@r (L) ray=o

a

e f()=11ZFET5.
L7=h 5T

=
oy
I
=
&
[
o
©

@fy—w“1k8<tf()= x)f (a"71).
2@ BB E of (x) = f(o)f ().
Qibx#O@t%ﬂ) 0755

f (xk_l) =x Vz = 0.
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fO)=07=Z25Z0FARE =00 EHH LD,

£oT

f@" ) =2 VzeR.

Vi e RIZHULT o =t77 (ab~1=1) B f(t) =177,

£oT

ZDE =

f(a"y*) =

&7 OIFE D LD,

(1), (2), (3) &bk
e f(x)=0 Vr € R
&

o kIIEET,

f(a) = o7
TH5.

VreR

€rk-1.

flx) = a7 Vo € R.

k k 1
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& 45 (IMO 2013)
Let Q< be the set of all positive rational numbers. Let f : Q<o — R be a function

satisfying three conditions:

(i) for all z,y € Qso, f(2)f(y) = f(zy);
(ii) for all 2,y € Qso, flz+y) = f(z)+ f(y);

(iii) there exists a rational number a > 1 such that f(a) = a.

Prove that f(z) =z for all z € Q¢

RE () Ter=1ly=a&bLl

a>17%Em5 f(1)21.
BOEHIIRIE T

MDD Z & &ERT.

(1) n=1D%EFHH L.

(2) n DEZROIDERETS. (ii) Ca=ny=1&E&
fln+1) = fn)+f(1)2n+1
ERD n+1DEEHED IO,

(1), (2) B5FTRTOERK 0 1ZDWT f(n) 2 n AR D LD,
pgENDEE (i) LO%MHS &

f(g) F@) 2 fp) = p>0
yARN5)

f<§>>0 Vp,q € N.
FoT
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Ik (i) 25 & Vo,y € Quo 1T LT

fle+y) = fx)=fly) >0 flz+y)> f(o).

U7eio T f(o) IBREFEDHMBIKTH 5.
(i) Tax=y=abBLL fa®) £ f(a)? = a® 72h 5 IRMIZ

f(ak)§ak keN

NWZ 5.

¥72 (i) Crx=y=a &BLE f(2a) 2 2f(a) = 2a 7ZH SR

f(ka) 2 ka keN

PR B,
FRRIZLT (i) Ty=a B L f(2z) = 2f(x) 72h SR

f(kx) 2 kf(x) keN

NNWZ 5.

f(ka) = ka Vk e N

ThdI%ZmRT.

LLE f(la) >la 7221 e NDPMFELZE TS, a= f(la)—la>0&BK.

meN&gTLHE
f(mla) 2 mf(la) = m(a + la) = mla + ma.

m%Ema>aliRbdEOIlesE
meN, m> L OrE

f(mla) = mla + ma = mla + a.
a>1725 (] >ml PO IDE 5% ke NBIFET 5.
(ii) 5

gkl > f(akH) _ f(ak~a)

©

> f([ak] 'a) = f(([ak} —ml)a—l—mla)

ak-a>[ak]-a, f B
> ([a*] =ml)a+mla+a

= [ak} a+a.
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XoTaktt 2 [ak}a%—ab‘v} ak > [ak] +197%bbH [ak] <aF—1.
Zhidd —1< [ak} WZFIET 5.
& o T (%) b 3D,

az%é@wtﬁ<t

f(k%):k% Vk € N.

kDeZA A% gk TEZMHZS L
f(kp) = kp Vk € N.

(ii) Z#E VIR LS &

kp = f(kp) = f(k+ (p—1)k)
2 f(k)+ f((p—1)k) = f(k) + f(k+ (p—2)k)
= f(k)+ f(k) + f((p—2)k) = f(k) + f((p—2)k)
> .
2 pf(k)

o f(k) <k 2135,

f(k)2kThHo7hro
f(k) =k YVeeN.

Vo € Qso,Vn e NIZH LT, (i) TCy=neBE@2M>L f(x)f(n) = f(nz) 15
@&V f(nz) Znf(x) THoZ05

f(nz) =nf(x) VreQso,¥YneN ...

Vo= L e Quo LT, @k f(r) = f(s- L) =sf (L) = sf(a) B0 20
DT

£oT
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%8 46 (IMO Shortlist 2013)

Let Z>( be the set of all non-negative integers. Find all the functions f : Z>o —

Z> satisfying the relation
f(f(f(n) =fln+1)+1

for all n € Z>g

B h(z) LT A (z) 2RO ES ITEHLTEL .

ho(z) =z, h'(z) = h(z). n=21 D& & Wt (z) = h(h™(x)).

Pin)=fn+1)+1

LE<.
QR

) =f(Fm)=ffn+1)+1)  fn)+1=f(fn+1)+1)+1

OTnDEIAr% f(n+1) TEHEIMMAD L

Pfn+1))=f(fln+1)+1)+1 fAfn+1)=f(f(n+1)+1)+1.

FoT
frn+1)=f*(n)+1

ANES

frn+1)— fin) =1
@75 f4n) = f40) +n.c= f40) B &
ffn)=n+c  Vn€Zsg

Inns fr o {c,e+ e +2,... kB,

©OF)
fP(n) = f (f'(n)) = f(n+c).

@TnDEIsr% f(n) TEESHMA DL

£oT
f(n+c¢)=f(n)+c  VneZsy.
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@Z&MF\ f BHE (injective) THDBZ L ERT.
fim) = f(n) &WETZ L fA(m) = f2(n) T f4(m) = m+ec fin) =n+c 25
m+c=n+cPAIZT m=n.
Ri % fi(i 2 0) Oftilfie§5L, fOIRESEM fOx) =2 7295 Ry=Z>o T, H5
AN
Ry2Ri2Ry;2R32DRy 2 ...

Ry={c,ce+1l,c+2,...}.
Si=Ri 1 \Ri(i>1) &8k S (i <4)I3EREGERSE. ®

Ry2RI DRy DR3 DRy D ... TZso\Re=1{0,1,2,...,c— 1} BHERBREAT
MEi<4DEE, S;=R; 1 \R; CZ>o\ Ry £V S; (i £4) 1IEREATH 5.

—7Ji, fIZHE (injective) 7ZH 5
n e Sz < f(?’L) S Si—|—1
NI RVASR

ne€S; = f(n) € S;;1 DL
nesS; &34d&neR;_1, n¢ R,
neR_175 fiml(my) =n,my € Zso &85 my BDZ05 f(n) = fi(my) €
R;.
HEUD f(n) € Ripy DRV DETNIE f(n) = fiTl(me) £705 mo B 5. f
(X HG (injective) 726 n = fi(me) € R; &0 ,n ¢ R XFIETS. koT
f(n) ¢ Riya.
L7zh 5T f(n) € R; \ Rit1 = Sit1.

f(n) € Siz1 = n € S; DIt
fn) € Sixi=Ri\Riy1 £95& f(n) € Ry, f(n) & Rij1.
f(n) € Ry 25 f(n) = fi(my) 75 my D3 5. f ILEL (injective) 7275
n=f"Y(my) € R;i_1.
LlbneR BPEODETHIENR = fi(ma), mg € Zsg L7825 ma BHE05
f(n) = fT(mo) € Rixq £780 f(n) ¢ Ry 1 CFETS. £>Tné¢R,.
L7zWoTneR, 1\ R =85,
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f WHS (injective) THDZ L @OFHWD &, f OEHREE S; ITHRE L 7B

fs; :Si = Lo BEZ DL [, IFRHEL (bijective) (2725,

fs, PHLAS (injective) TH B Z &1F f AHLA (injective) TH DI & oD 5.

fs, D2H} (surjective) TH B Z L 2RI ITIFOZHERILT L.

Vt € Siv1 = Ri\Ri+1 LTt = fz(m), m € ZZO ERBEmMDBDHB. t =
Fim) = £ (f7Y(m)) EZLTn=fi~'(m) EBHE = f(n) L7553,

f(n) =t€ Si+1 7‘:75‘5)@& Dne S;.

EoTt=fs,(n),ne€S; 72D f,, 124} (surjective) TH 5.

@85 |S1| = |Sa| = |Ss| = |Sa| B oM S ZNSDIEE k EB<.
81U32U53US4:{0,1,2,...76—1} 726 c=4k THA.
0€ Ry LIRETBE f3(m) =0 245 me Zog B, DLD

0=/ 3(m)=f(m+1)+1  flm+1)=-1<0

720 f(m+1)Z0IZFET 5.
£oTO0¢ Ry &15H5

OGRO\R3281USQU53

PWZDE. LEBoTk21(c24) Thb.
Ro\ R3 =851 USyUS3 DEZRIZ D DWTHHNS.

0€S;USyUS3 TIRD 3 DDFEMDA &H 1 DIEh7=1.

M b=0

(1) b= f£(0) + 1

() b—1€ S,

(I), (II), (III) DFART &= T 2T
bx022bx f(0)+12Db—1¢ 8 MO ILD.

bx0M»”65b=21Tb-1 ¢ S1 & S1US US3USy = {0,1,2,...,6—1} "o
b—1€SUS3USy &%, £oT f(n)=b—1,ne€Zso %5 ndbHd. n=07%

L F0)=b—1Tbx f0)+1CFETEMEn 21 55,
OCTnDEIs%n—1(20) ClEEMmIBL

frla=1)=fm)+1=b-1+1=b.

Mmoo be Ry &b bERo\R3251U52U53 WZFET 5.
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S U Sy US; DBADEHEE by, 2T 5L8% 0,£(0)+1,by ®3MUA Sy U S D

FRIZR 50,

by M SR T byr — 1,y —2,...,1,0 EEZTWVL.

@& bOE% 3MD by, f(0) + 1,0 ZFREFRD IZTRT S BT 5.

£oT
3k=1S1USyUS3|=[(S1US)US3| =k+3

o
3k<k+3 kE=1.

£oT k=1,c=14 ERBEMNG f4(0):4,51U52U53US4:{0,1,2,3}.

2in)=fn+1)+1

f4(ﬂ) =n+4 VTLEZEO

f(n+4)=f(n)+4 Vn € Zx>g

E5. @hs
fn+4k) = f(n) +4k Yk € N,Vn € Zsg

B D SOH S F(0), £(1), £(2), F(3) DIHIZ & 5T f(n) DENPE S D Z L Hbh 5.

H5a€lLsy WFIELT
Sy = {a}, 82 = {f(a)},Ss = {f*(a)}, Sa = {f*(a)}
N ARVASN
MDD ezRLTHL.
fn)xn Vn € Z>g
HELUD f(n) =n Ao 61R
) = f2(f(n) = 2 (n) = F2(f(n)) = f2(n) = f(f(n)) =

@& fAn)=n+47Z95 fin) =n TFIET 5.
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(1) a=0DH&

{0, £(0), £2(0), £2(0)} = {0,1,2,3} 225 {f(0), £2(0), f°(0)} = {1, 2,3}.

(i) f20)=10k &

FQ) = f(f20) = f10) =4 25 f(1) =4,
DOTn=0&80z1=F30)=f(1)+125 f(1)=0&7%b f(1)=4IZF
59 5.

(i) f2(0) =20k &
OTn=0&BW072=[30)=f(1)+1256 f(1)=1&%R2H» f(1) 11
FET 5.

(iii) f3(0) =302 E@Tn=02BWV7=3=f30)=f1)+125 f(1)=2.
4= f10) = £ (f2(0)) = f(3) 5 f(3) = 4.

F0) 21, f(0) = f(1) =2, £(0) % £3(0) = 3 45 f(0) =1.

£ -T f2(0)=2.
f(2) DfEIE £(2) = f (f2(0)) = £2(0) = 3.
L7zRoT
fO)=1,f1)=2,f(2) =3,f(3) =4
E@ns
f(n) =n-+1 Vn € Zzo.
Zhix@Q#ET.

(2) a =2 DGH

{2,£(2), £22), £32)} = {0,1,2,3} 25 {£(2), /*(2), £4(2)} = {0,1,3}.
OTn=2¢B0 fB3(2)=f3)+1=21256 f3(2) = 1.
() f32) =1 Ok = {£(2), f2(2)} = {0,3}.

1=f32)=f3)+ 175 f(3) =0.

f) =F(f22) = /') =2+4 =625 [(1) =6.

FIXEE (injective) 2205 f(2) % 0= f(3) DT f(2) =3, f2(2) = 0.

Dk E

FO)=f(f22) =2 =fB3)+1=1

£oT
f(0)=1,f(1) =6, f(2) =3, f(3) =0.
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@ »5

n+1 n=0 (mod4)
n+5 n=1(mod4
Fln) = — ) moc
n+1 n=2 (mod4)
n—3 n=3(mod4)

2135, ZhiEQEWET L 2RT.
= dk(k €€ Zsg) D& X

fUfm)) =f(fn+1) =fn+6)=n+T7=(n+6)+1=f(n+1)+1
n =4k + 1(k €€ Zsp) D& X
fFUfm) =f(f(n+5) =fln+6)=n+3=(Mnm+2)+1=f(n+1)+1
n =4k + 2(k €€ Zsp) D& =
FUUm)) =f(fn+1)=fn-2)=n+1=m-2)+1=fn+1)+1.
n =4k + 3(k €€ Zso) D& ¥
FUUW)) =Ff(fn=3))=f(n=2))=n+3=n+2)+1=fn+1)+1
(i) f2(2)=3o&& {f(2),%(2)} ={0,1}.

B)+125 f(3) =

3= =/
- f3)=f(r32) = ﬂ()—2+4:6tﬁbf@%:2K%ET6.
(3) a=10H4E
{1, f(1), £2(1), £2(1)} ={0,1,2,3} 225 {f(1), f2(1), f2(1)} = {0,2,3}.
OTn=1&¢8L¢&

PO =f)+1. ®

@75 (1) =f2)+121 k3D (1) 5105 f3(1) =2
i) fF) =20t

@75 f(2) = 1.

O =f(£Q)=,2) =1

LZATONS fA1)=1+4=5,7%b0 fA1)=11ZFIET 5.
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(i) f3(1)=3nk &
@06 f(2) =2. 2N f(2) 2 TFET 5.
(4) a =3 DEGHE
(3.73), 23, PB)} = {0,1,2,3) 25 {£(3), 23), S*3)} = {0,1,2}.
OTn=3&¢BLL

@75 f33)=fA)+121¢k30 BR)<2E205 1< f3(3) L2
i) fPB)=10r=
@» 5 f(4) = 0.
@Tn=08BL0=7,4)=f0)+425 f(0)=—-4<0 &7&DAH.
(i) f23) =20t &
@h 5 f(4) = 1.
@Tn=028<L1=[f4)=f0)+4725 f(0)=-3<0 &b .

(1), (2), (3), (4) »SfEIZ
4 f(n):n+1 V’REZZO

&
(0 +1 n =0 (mod 4)
n+5 n=1(mod4)
e fln)=
n+1 n=2(mod4)
(n—3 n=3(mod4)
TH5. [ |
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%8 47 (IMO Shortlist 2013)
Determine all functions f : Q — Z satisfying

((15) - (252)

forall x € Q,a € Z, and b € Z~¢. (Here, Z~( denote the set of positive integers.)

g 3

o ccZEEHLLT f(r)=c VreQ,

o flz)=|z] VzeQ

o f(x)=z] VreQ

BRI > TWBZ 2R T.

f(x) =clZHSMTFEB AR %727
V(z,a,0) € Q X Z X Ziog 12X LT g = V’ffaj ruir

q§x——ga<q+1 gp<=zr+a<qlb+1).

£-oT
bg < |z +a] <blg+1) bg < |z| +a<blg+1)
"o
b b
L7z ->T

e - [

v 75 % i R f(2) = |o| VBB [ (&b”) = F(2Ee) migrr

FRRIZU T, V(z,0,0) EQXZ X Zsog 2 LT g+ 1= P—Jbrﬂ relr

q <

x——ga§q+1 gp<zx+aZqb+1).

£oT
bg < [x+a] < blg+1) bg < [z] +a=0b(g+1)
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U7=hio T
o). 2

v 7% 0 s T f(2) =[] REBOTER ( f(@) +a ) = £ (2F9) pirey

f (—f(:z:z)Jra) — f (1'_4b‘a> ......

B[,
OTz=0,t8LL

f(%+@> :f<%)_ ......
(1) f(0) >0 DIHE

@TadeZ?% f(0)a, bOLZ A% f(0O)b(>0) TEZHMR S L
f(Qa  fO)\ _ ,( f(0)a
/ ( O f<o>b) -/ (f(O)b)

O RO R

r=2 y= %,q >0,p<riHLT, @FEVELHNSE

)15 8) a2

£

|
~
T~
|3
~__

ZhF@QE N7,
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(2) f(0) <0 DHE
@TaneZ?% —f(0)a, bOLZA % —f(0)b(>0) TESHMR S L

1(=fos + =raw) = (For)
fe-Lyg(e). o

xzﬂﬂF=§ﬂ>0m>TKﬁbf,CV%% DELAWS &

() -1(2-2) (- 2)—mr(2-22) - 2

flx)=fly) Ve,yeQurx>y
MDD, ZOFEX T rz=9y DL ZIXPESLITKDILOH S
flx)=f(y) Vo,yecQ.

XoTkZ2BEDEKELT
flx)=k Vz € Q.
INFO %G9
(3) f(0) =0 D&

f(d)=0&8%2%dx0,decZWFET 254
OTr=dipt

() =) )G o

d>00r %, @' TaDLZs%kda, bDE 5% db(>0) TEEMZ 2L

(5)=1(5+%)

70 (1) FBkIZLT

f(z)=0 Ve € Q
2135,
d<0D&EdH
flx)=0 Vr € Q
2185
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PR f(d) =0 &7%% d%0,d € ZIABIELEWNEEEER B LITT 5.

ER/NPR5
fla)=0,a€Z=—0a=0. ... (%)

fl@)=fly)=rz,yel ¥2.
OCTa=—-2b=1tBLL

f(fly) —z)=f(0)=0  f(r—z)=0.
OTr DL A%y TEEMZ, a=—-a2,b=128<&
ffy)—z)=fly—x)  flr—z)=fly—2).
FoTfly—x) =0T (x) S y—ax=098bby=x 5.

L7zhoT
f@)=fy),z,yel=x=y. e @

OTb=1&8LL f(f(x) +a)= f(xr+a).
Ve € Z 12/ UT, @OWHAT f(z)+a=2+a BN 5

flxy=2 Nzxez. . ®
reQDLEIOTI=1,BLL
f(f(@) +a) = f(z+a)
F@)+a €ZENPSOEMS & f(f(z)+a) = flz)+aRDT
fx)+a= f(z+a) VeeQ e ©
285, o 3BEEHS, KIE[0,1) 1I2BWT f(o) DESEENE, KMl [o,a+1) 8
JAMEIZIRESZDT, KM [0,1) IZBRELTHERS.

f(l)em1}%%¢

f(3)>40es OCo=f.a=f(5)-1b=2f(5)-1>0 282
PO R -1 _ (3 S
()~ o) 0=1(3)
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)_l
| —

f(2><5®t% DCx=

w|»—~

a=—f(5)-1b=1-2f ()0 x5
f(3) = f(3) 2 = 1G)
f(1—2ﬂa )_f(1—2ﬂ>) 10=1(3)-
F0)=0%En5 f(3) =0,

&off(%)emﬂ}ﬁﬁbﬁo.

N DN

N[

@’C“:z:— qu>0a:p,:q+1,n:f(%) Bl

-B+p n—+p p
q+1 =/ q+1 f(q+1):f(5):”'

Ocr=" ntp a=n+p=q+22rELL

g+1’
n—+p
f n+n+p —f q+1+n+p f 2n+p —f n+p 0
q+2 q+2 q+2 q+1 '
Ihzmoikde
f<%f§>:n Ve € Zoo el ®

@D%HE> &
%EQ@>Qn:f<§>®K%

WWGZJi#QVzEOKﬁbTiﬁ;f#n—ﬂlﬁﬁbﬁo.

zn+p

s n—MWPEY DL M cZ,M %0,z € Z>o WMFELTETDH L

f(%%%?)zf@—ﬂﬁzn—ﬂ[

a:%Tf(?f5>:nEWBn—M:n?&bEMZOKEDM:OK
FET 5.

%EQ@>Qn:f<%>®t§

WWEZJf#OKﬁbT(n_ﬁ?%ﬂ)@#ﬁ®%ﬁﬁﬁﬁéﬁw. ...... (%)
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VM € Z, M % 0,¥z > 012 LT Z::Zp S — M A D LORS
zqn_:_zp#n—M nz+px(n—M)g+(n—M)z (n—M)qg—p=x Mz.
£-T
— M)a —
(n M)q P vr Veels,
LEdoT, VM € Z,M % 0 125 LT (”_]}\?q_p I3 IEE DB X S

ANTAN

O<:c<1,:z::%,q>0,n:f(x):f(§) EHELLO<p<qgind.

(x) TM=-1&8L

1 _
W<O (n+1)g>p n—l—1>§>1 n = 0.

() TM=1tBL

1 —
W<O (n—l)q<p1>§>n—1 n < 1.

oT0=ns1»5ne{0,1}.
L7z-oT, 0<ax<l,zeQdrZ f(x) e {0,1}.
. 1\ oA
(1)f<2)_00)f@m
fl@)=1%220<z<]1) PFEELELETS.
OTzDLZr%2r TEEMZ, a=0,0=2,F 5L

F(£52) = ) =1

©»5 f(2z) € {0,1,2} TH2BH f(2x) 0, 1.
0<22<1DrEEf(22)€{0,1}, 2z=1D& XL f(22) = 1.
1l<2r<202EF@®LD

fRx)=f(142x—-1)=f(1)+ f2x—1)=1+ f(2z —1).

0<2x—-1<1m6 f(2r—1) € {0,1} DT f(2z) € {1,2}.
£ -T f(22) €{0,1,2}.
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ﬂ%):owt%uf(igﬂ):f@):ovf(ﬂ?”>:1m%ﬁ

2
5.
f@@:1@a%uf(i%ﬁ>:f(%):Oﬁf(i%ﬁ):1K%E
T 5.

EoT f(20)=2T f(25) =22 %502 >1 DL ETH5.
72, 2= f(22) = f(Q+ 22— 1) = f() + f2x — 1) = 1+ f2z — 1) 5

f2z—1)=1.

vy =20 —1(>0) K LTI ORERTY, ZOXRERDELES &
rT—ox1=2r—1—x9=201—1—>23=200—-1—> ... 22, —...
B, xpy1 =2z, — 1L, xo =205 x, = (2" — (2" - 1).

nEtRoRkELLdez, =22 —-2"-1)<0,%D 2, >0IXFET 5.
o f@) =1 255 20 < 2 < 1) BEELBNDT

f(x)=0 VeeQ, 05z < 1.
@& > & — i
f(z) = |z| Vo € Q.
ﬁﬂf(%):l@%é
f@)=0,7%252(0<z<]1)PFEELZETS.
OTzDLZr%2x TEEMZ, a=0,0=2cF 5L

F(£52) = =0

©»5 f(2r) € {0,1,2} TH2ED f(2x) = 1,2.
f@@:1@a%@f<i@ﬂ>:f(l):1@f(f%”):oa%ﬁ

2 2
5.
ﬂ%):2®t%uf(f%w):fﬂ):lﬁf<ﬂ?i>zoﬂ%ﬁ
5.

FoT f22x) =0T f2x) =02,725DEF0<22<1DEETHS.
r1 =22 (0 <z <1)IZHLTIOHEEEZITY, ZOHREMREVIELITO &

T—T1 =20 > To=201 > T3 =2T3 —> ... > Ty —> ...
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ERD. Tpy1 =22y, xo = PO x, = 2",

Tp=2" 00 (n—o00) 25, nEtHRECLELr,218HD0<z, <1
ZXET 5.

FoT fla) =042 2(0<z<1)ZFEMELEVDT

flz)=1 VreQ, 0Sz<1.

©% 5> & —fEIIziZ
f(x) = [z] Vo € Q.

PLEDZ & o iRl
o ccZEEHELT
flx)=c Vzeq,
o fl@)=lz] VzeQ
e f(x)=z] Ve Q
D3DOCThH5b. [ |
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&8 48 (India TST 2013)
Find all functions f : R — R such that for all z,y € R

fle(l+y)) = f(@)(1+ f(y))

R
f(1+y)) = flz)(1+ f(y))
L1,
@Tese f(0)=fO0)1+ f(y)
FO)S0DEE1=1+ f(y) B5

f)=0 VyeR.

2N F(0) X0 1CFET 5.
£-o>T f(0)=0.
OTy=-12BV7~ f(0)= f(z)(1+ f(-1)) 5

1+ f(=1))f(z) = 0.

I+ f(-1)x0mkE
flx)=0 Va € R.

INEQE TSR TH 5.
I+ f(-)=0D&& f(-1)=—1.
OTczr=1&BLE
(A +y) = FO)A+ f)

OTr=-1¢8LeE

f(=1-y)=f-D)A+ fly) f(-1-y)=-1-f(y).

£oT
fl@)+ f(-1—2)=1 Vx € R.

OTr=-2y=18L f(-4) = f(-2)1 + f(-1)).
DTEBLE f(=2) = —(1+ f(1)) Ehb

F(=4) = f(=2)(1 + f(=1)) = =(1 + f(1))*.
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DTr=3,8LY f(—4) =1 f(3)
DTr=1y=2cBE f(3) = f)(1+ F(2)).
@Ty=1&BE f(2) = fD)A+ (1) LBBDT

FB)=fMA+f(2)) = fQ) A+ FQ)A+ F1) = F(1) + f(1)* + f(1)*.
fA)=-1-f(3)=-1-f(1) - f(1)* = f(1)".
FoTf(=4)=—-(1+f(1)* &Y
1= f(1) = f(1)° = F(1)° = =(1+ f(1))%,
L+ f(1) + f(1)% + £(1)° = (1 + f(1)%

£-oT

ANES

(1) f(1) = —1 OBA
DCTy=1,BVE f(22) = fl2)1+ f(1) =05

f(x)=0 VzeR.

IRl f(1) = —1 KFIET 5.
(2) f(1) =0 DBA
DTo=12BVE fly+1) = fD)1+ fly) =055

f(x)=0 VzeR.

IEQZ7ZshroTH 5.
(3) f(1) =10%4&

Ol
fA+y) =1+ fy). e

OTE EHWS L
fla(l+y)) = f@)A+ f(y) = f(2)f(1+y).
yD& I A% y—1TESHA DL
flay) = f@)fly) VeyeR e

182



OTE &2HVB &
flx(l+y)) = fx)A+ f(y) = f(2) + f(2)f(y) = f(z) + f(zy).

£oT
flx+xy) = f(x) + f(xy)  Vz,y e R

Vu,v € R (ux0) 2 LT, x:u,y:% LBl ay=0vT
flu+v) = fu) + f(v)  Vu,veR(u*0)
u=00,EE f(0)=07h5 f(v) = f(0)+ f(v) DBIRD DM 5
flutv)=fw)+ flv)  Yu,veR . ®
O 5 f(22) = f(x)2 2075
fz)=0 V&0,

fiRa—y—oBBABREXZHZU, Ve 2 0IZHLT f(z) 2 0K IEDDT
flz)=cx &b, f(1)=1256c=1. £oT

flx)==z Vo e R.

ZhFOQzHZTIroMTH 5.

PLED Z & o iRl

e f(xr)=0 Ve e R

&

e f(x)==x Ve e R
ThH5. [ ]
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& 49 (Iran 2013)
Find all functions f : R — R such that f(0) € Q and

fla+fW)?) =fl@+y)?

R
fla+f@?) =Fflz+y® ®
rB<.
OTy=08BLL f(z+ f(0)?) = f(z)2
a=f02 B
flx+a)=f)* ©)
@&V f(x+a)=f(@)2Z0DBVZENn5
fx4+a)=0 Vx € R.
£oT
f(x)=z0 VYzreR. .. ®
OTzr=0&BL L
FUw? =rw> @
OTyDeIsr% fly+a) TEHEHMZD L
fla+ffy+a)) =f@+ fly+a)’ e (+1)
zZT
P+ s U+ a)) 1 (o+7 (W2
@f<w+(ﬂw33
= f(z+f(y)?).
OTyDeIAr%y+a TEEHMRLL
fla+fly+a)?)=flx+y+a)? e (¥2)

ZORT@%MS &
[+ fy+a?) =f(o+ (FWH°) = f @+ FW)°)
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L7eiio T (+1), (+2) DALIZE L VA S
fla+ fly+a)’ = flz+y+a)

@&0
fx+fly+a)=flz+y+a).

ZDXTyDLIA A% y—a TEZHMZ DL
fl+fly)=flz+y) Vz,yeR.

GOTzrz=0r8BLL
f(fw)=fly) VyeR

®Ty=0BLL
flx+ f(0) = f(x) Vz € R.

@QTaxDEIA A% r+a CEEHISLE

2

fla+2a) = fz+a)? = (f(2)?)" = f(2)7"

HOE IR 2 5 ¥ )
f(z +na) = f(z)? n € N.
2
ﬂ@e@ibf@%z%é@ﬂ>0&£<ta:§5t@5
TnDEIs% ng> TEHESHMZ DL

2"‘12

f(z+np?) = f(z)

@Dh 5
flx+mf(0)) = f(x) VYm € Z

NS AIBVASH

m=0D& ZIXESPIZHKD LDDT, BFWRMNETT RN TOERE n 1206 LT

f@+nf(0) = f(x), flx—nf0)) = f(z)

MRS B 2 %R T
D n=1DLE@h5 flz+ f(0) = f(z).

@OTzDeIZr%z— f0) LEEHZRX f(z) = f(xz — f(0) 25

Fz — f(0) = flz) kD 7.
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(II) n=k DL EHD IO LIET 5.
DTz DEIB% o+ kf(0) LEEHAL Y

[+ kf(0) + £(0) = fz + kf(0)) = f(z)

AN

f(z+Ef(0)+ f(0) = f(=).
@DTaxDeIlr%x—(k+1)f(0) LEESHADL
fle=kf(0)) = f(z — (k+1)f(0)).
REDS f(x— (k+1)f(0) = f(x —kf(0)) = f(z) 7205
flz = (k+1)f(0) = f(x).

EoT, n=k+1DEEEKH LD,
1), (II) XD FTRTOHRE n 12 LT

fx+nf(0) = fz), flx —nf(0) = f(z)
ANDRVAC IS
ZDOXRTmDEZA% npg TEHSHZ S L
flaet+np?)=flx). e (4)

(+3), (+4) £

f(x) 20 THo=DT

@) f@) > 10rE lim f(@)" = oo &0 @MY 7.

n—oo

(i) 0 fla) <10 E lim f(@)* =0%En5, @Tn o0 £FBE flz) =0
2185,

(iii) f(z)=1D¥ @I .

UDEDZ Eeno
f(x) € {0,1} Vx € R.
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®TzDEIAr% f(r) CEEMMR L7

ﬂﬂ@+f@»=fﬁ@%u0éf@+w

AN

f(fx)+fy)=flx+y). e @®

ZDANS f(x+y) DIEIX f(040), f(140) = f(0+1), f(1+1) T7bB f(0), f(1), f(2)
DIETHRE D Z D Dn5.

(1) f(0) =0DHAE
®Ty=—z2&BLL
flx+ f(=x))=0. . D)

OTz=-28L f(-2+ f(2) =0.
f(2)=0&%5%.
f2)=1&95& f(—24 f(2)=0»5 f(—1)=0.
OTz=1&B07 f(1+ f(-1)) =055 f(1)=0.

f2)=f0+1) = f(f(1) + f(1)) = f(0) =0

Sl

Yy, f2)=11IFET5.
f)=027%%.
f)=1r92%

=101 (34 2) 51 (0(3) +1(3) = (r (3):

1

f(g)=0rreo%tizi=71(2/(5)) = f(0) =0 LBV FEHELS.
fg)=1reeosRrEi=7(2f(5)) = FQ) =0 B0 FEALLS.
LiioT
flxy=0 VzeR
CNROEET.
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2) £(0) =1 DHE
D75

flz+1) = f(x)

@ Tr=0128L f(1)=1,f(2) =1

U7z ->T
flz)=1

Q%G9

PAEDZ &b o iRl
e f(z)=0 Ve e R
&

o f(zx)=1 Vr e R
Thb.
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&8 50 (Iran TST 2013)
Find all functions f,g: RT™ — RT such that f is increasing and also:

1) f(f(x) +2g9(x) +3f(y)) = g(x) +2f(x) + 39(y)
(i) g(f(z)+y+g(y)) =22 —g(x) + fly) +y

RE I IZWIBEEZ S h(x) = f(x) + o FIEMBIE & 72 0 5T (injective) TH 5.
i) %

h(f(z) +29(z) +3f(y)) = 3g(z) + 3f(x) +3f(y) +3g(y) -+ ®
YEXEES, DT by & ABMAS Y
h(f(y) +29(y) +3f(x)) = 3g(y) +3f(y) + 3f(x) +3g(z) - ©)
rih, Qr@hs
h(f(x) +29(z) + 3/ (y)) = h(f(y) + 29(y) + 3f()).
h 335 (injective) 7270 5

f(z) +29(z) +3f(y) = f(y) +29(y) + 3f(x)

(ii) Ty=z BV
g(f(x) +x+g(x)) =22 —g(x) + f(z) + =3z +c

5
g(f(x)+z+g(@)=3z+c VzeRt. ... @

@&V g(x) lZc kb REWEDRENS.
f(x)=g(@)+c &b f(z)Z2c KO KEVEIENS.
@&fwv (1) 2 f CHZET L

(@) +2(f(x) =) +3f(y) = fz) —c+2f(x) + 3(f(y) — ¢),
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FBf(x) +3f(y) —2¢) =3f(x) +3f(y) —4c = Bf () +3f(y) — 2¢) — 2c.

3f(x) > 6¢,3f(y) >6¢c &Y 3f(x)+3f(y) —2¢>10c &Y 3f(x) +3f(y) — 2¢c i 10c

FOREWVELPEND 1S

flx) =2 —2c Va > 10c.

g(z) =z — 3¢ Va > 10c.

2>10cDEE, Zhb%E (i) IKRATS L

glx —2c+y+y—3c)=2x—(x—3c)+ (y —2¢) +y g(x+2y —5¢c) =x+2y+c,

r+2y—5c—3c=xz+2y+c c=0.

£oT
flx)=x,9(x) ==z Vz € RT

2RI (1) BT SMTH S,

U 7208 o TR
o f(x)==x9(x)==x Vr e RT
TH5.
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%8 51 (Japan 2013)
Find all functions f : Z — R such that the equality

f(m) + f(n) = f(mn) + f(m +n+ mn)

holds for all m,n € Z

FRE

Fm)+ f(n) = f(mn) + f(m+n+mn) oo ®

LB,
DTn=—12BVE f(m)+ f(—=1) = f(—m) + f(=1) 25

f(=m)=f(m) VmeZ ... @

&b fMERESTH B.
DTn=1,BV7E f(m)+ f(1) = f(m) + fFCm+1) 5

f2m+1) = f(1) YmeZ e ®
OTn=204+1,leZ BV
fm)+ fRI+1) = f(2l+1)m)+ f(m+20+1+m(20+ 1))

Mo
fm)+ f()=f(2L+1)m)+ f(m+204+1+m(20+1)). --ees (%)

ZZTm+20+1+m@2i+1)=2m2l+ 1) + 20+ 1 FTFHE» 5@ &b

fm+20+1+m(20+1)) = f(1)

DT (x) 1

fm) + f(1) = f(2L+1)m) + f(1)
ERANPR>

f(2L+1)m) = f(m) YimeZ @
ER5.

TR 0 TRWERE, A p b2 +1 2HVT 2P0 +1) &RELZDT, @
Tm=2P B L&
f2P2l+1)) = f(2°).
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L5 T f(2°) (p=0,1,2,...) BXC f(0) DERE ENIE, TRTOEH n 2OV

T f(n) DIEPRET 5.
@Tm=2&BLL

fAal+2)=f2 VYiez ..

OTn=-meBWE f(m)+ f(—m) = f(m?) + f(m?) 25

f(m? =f(m) VYmez. .

OTn=-2¢8LE
f(m) + f(=2) = f(=2m) + f(—m —2).
fIRMERE =D 5

f(m) 4+ £(2) = f(2m) + f(m +2).

WA IRANIE T

f@2%)=f(2) VneN

MDD & ERT.

() n=10D& EHESAIZHD L.
n=20rEFOTmMm=2¢BL f(4) = f(2) £V ®IFEDID.
(i) n=k(k=2) DL EEMWHYIDOLFEET S.
@OTm=2F2BlL
FERFY =2+ 2 -f(2"+2).
fREH S f(2F) = f(2).
®%f> &
F2F+2)=f(4-2"2+2) = f(2)

B

FEF)=F025)+1@) - F2 +2)=F2)+ f(2) - £(2) = f(2).

FoTDOn=k+12EE®IFHDID.

(i), (i) £ DT RTOHAE n IZDVTEIEELD LD,
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NEDZ Eeh s, FEDFEEK C1,C2 Wz LT

1 (n DMEE)
ca  (n DYEE)

(x) TRINDEM fI3OQERMT I L 2RT.

m,n NEEHITBED L Z, m,n,mn,m+n+mn lETXTEEZ 26 QDL L 4381
201 L —HT 5.

m,n BEEBIZHEHDOL E, m,n,mn,m+n+mn lETRXTEHEZ» QDL L A0
200 L2 —HT 5.

m,n ODEHFNRELDEE, mn 3MERT m+n+mn ZEEELSQDOEL L FHTIZ
c1+cy 2D —HT B,

£oT (%) TRINBLBE [ 13O,

PLED Z & ol
FEEDFER c1,c0 ITRLT
c n HIMEE
fly = R
co  (n DA
ThA. [ |
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%8 52 (Korea 2013)
Find all functions f : N — N such that for all m,n € N

f(mn) =lem(m, n) - ged(f(m), f(n))

FRE
f(mn) =lem(m, n) - ged(f(m), f(n))

£B<.
OTn=1&8L & f(m)=m ged(f(m), f(1)).
a=f(l) B L
f(m) =m ged(f(m), a).

@QTmDEIA A% ma TEIMHMZSL

f(ma) = ma ged(f(ma), a).
@M 5 al| f(ma) BE D NLDDT ged(f(ma), a) =a &725. £->TOIIX
2

f(ma) =ma-a=ma

Thbb
f(ma) = ma®

A,
ODTnDLIA A% na CEHEHZSL

f(mna) = lem(m, na) - ged(f(m), f(na)).
@& lem(m, n) - ged(m, n) = mn 25 &

mna® = % -ged(f(m), na?)

ANY
ged(f(m), na?) = a ged(m, na).

® & a|ged(f(m), na?) BEONEDZ DS al f(m) PNAT
ged(f(m), a) = a.

©O%fi>@h 56
f(m) =ma Vm € N.
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£oT
flx) =ax Vo € N.

ZDE X
f(mn) = amn = a lem(m, n) - gcd(m, n)
= lem(m, n) - gcd(ma, na)
L Q%7
X o Tl
e f(x)=ax Ve e N
TH5.
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& 53 (Middle European Mathematical Olympiad 2013)
Find all functions f : R — R such that for all z,y € R

flaf(@)+2y)=f(2®)+ fly) +z+y—1

1
flxfx)+2y)=f (@) +fly)+z+y—1 e
eH<.
@Tx—y—Ot%m# ()
OTy=02BWVE f(zf(z)) =

= f(0)+ f(0) =125 f(0) =
f(x2) fO) +z—-1556

faf@)=f@)+z.
OTy=—zf(z) LBV
f(—zf(x) = f(2?) + f(—af(2)) + & — xf(z) -
25
@, @nb5
fxf(@) =zf(x)+1.

z=af(z) BLE f(z2)=2+1,4D f(z) =2+ 113QZHZTIhbND. )
flx)=g@)+x+1 28O

gx(g(x)+x+1)+2y)+z(v)+2y+1
=g(@®)+2°+1+(gly)+y+)+az+y—1

ERANPX=
g (zg(x) + 2>+ z+2y) + zg(x) = g (z°) + g(y). -

rg(x) + 22+ +2y=y EiizT LIy =—ag(x) —2?> -z &BLL, O
g(x2) = zg(x) VeeR. e
©OTaz DA% —x TEZHMZ DL

g9 (2%) = —zg(—x) VeeR. ...
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©®, @Oro
zg(x) = —rg(—x)

rx00DEE g(—x) =—g(x).

g(0) =076 LOERNT s =0DE EHLHD LD,

£oT
g(—z) =—g(z) VzeR

Thbb g FHHEHETH 5.
®, @75

g9 (zg(z) + 2° + 2+ 2y) = g(y).

@Tx=0&BL e
9(2y) = g(y).

®OTrDEI A% 2r CEHEHZ /-

21)2) = 229(22) = 2zg(x
g9 ((22)%) g( ) g9(z)

AN
g (42%) = 2z9(x).

F-OEMS &

s he, WL

rx0DEE g(z)=0.
g(0) =070 LOFEXIFT =00 EHLHD LD,

£oT
g(x) =0 Vz € R.

ZNix@ %N,

U7ehio TR
o f(z)=x+1 Ve eR
TH5.
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fig 2

flaf(@)+2y)=f(2®)+fly) +z+y—1

<.

OTax=y=0,18BWV7% f(0)=f(0)+ f(0)— 125 f(0)=1.

OTy=—af(x) BV

fl—zf(x) = f(2*) + f(—zf(@) + 2 —zf(z) — 1

AN

f(z?) =zf(z)—z+1.
OTz=0B0V7 f(2y) = fly) +y 5

f2z) = f(z) + =

@Tr DL I A% 2r TESMAZ f(4z) = f(2x) + 22 = f(z) + 3z 225

fldz) = f(z) + 3z.

CDART DI A% 2 TEEHZLL

f(4x2) :f(acQ) + 322 éxf(a:)—x+1+3x2

ERAY.0X=
f(42®) = af(x) +32° —z + 1.

LZAT@QEHWS L

f(42%) = f ((22)?)
=2xf(2x) —2x+1
5 (22)
=2x(f(zx)+x)—2x+1
5 (f(z) + )
=2xf(x) +22% — 22+ 1
AN
f (42®) =2z f(z) + 22* — 22 4+ 1.
@’ @J:D

vf(x) +30% —x+1=22f(x)+22% -2z +1
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ERAY 2=
rf(z) =2+ Vx € R.

rx0DEE f(z)=x+1700o
flx)=x+1 YV = 0.

f(0)=172256 EOFEXRIFr=0D& EHKH LD,
£oT
flx)=x+1 Vx € R.

oL E
flxfx)+2y) =af(x)+2y+1=a(z+1)+2y+1=a*+2+2y+1,
FE)+f+e+y—1=2a+1+y+l+az+y—1=a+a+2y+1
L Oz

U 7203 THRI
o f(z)=x+1 Ve e R
TH5.
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fERE 54 (Romania 2013)
Find all injective functions f : Z — Z that satisfy :

[f (@) = f(y)] = [z -yl

for any x,y € Z

FRE

[f(x) = f(y)] = [z -yl

EHL<.
g(x) = f(x) — f(0) &BL & g lXHG (injective) TOH 5

l9(z) —g(W)| = |z —yl.

72 9(0)=0TdH5.
@Ty=0&BLL
lg(z)] < |

@Tz=1BWVizlgl) <125 g(1) € {-1,0,1}.
g(0) =0 T g \ZHH (injective) TH 2 Z & h 5 g(1) * 0.
£oT

9(1) e {-1,1}.

(1) g(1) =1 D & SHER AL T
g(n) =N Vn € Zzo.

NI DZ & &RT.
(i) n=0,1 D& E@ILAK D LD.
i) n=kk+1(k=Z0) DLEDQWRILDLINET .
@Cao=k+2,y=k+12BLL

lg(k+2) —g(k+1)[ =1
g(k+2)—g(k+1) e {-1,0,1}.
g \$H 5 (injective) DT gk +2) —glk+1) * 0725

gk+2)—gk+1)e{-1,1}.

200



gk+2)—glk+1) = 1722322 gk+2) =glk+1)—1=(k+1)—1=k
&b, LAU g ldHE (injective) 72D T g(k +2) x g(k) =k ITFPET 5.
FoTglk+2)—gk+1)=1Tgk+2)=gk+1)+1=(k+1)+1=k+2
EDn=k+20LEH@OIFKD LD,

(i), (i) EV@DIFTARTOIADEL n I L THY L.

A B IR C

g(-n)=-n  VYn€Zso.  eeee ®
2T
() n=0D % g(0)=07Er 5RO,
n=—-10&x

@Taz=—-1BW0Eg(-1)] <125 g(—1) € {-1,0,1}.
g(0) =0,9(1) =1 T g X #H] (injective) TH B Z 95 g(—1) %0, 1.
EoTg(-1)=—-1¢%AD, n=—-1D&XEIIHKH L.

(i) n=kk+1(k=0)DLE@VKILDLET .
@CTrx=—(k+2),y=—(k+1) &L

lg(k+2) —g(k+1)[=1
9(—=(k+2)) —g(=(k+1)) € {~1,0,1}.
g \XHEF (injective) DT g(—(k+2)) — g(—(k + 1)) % 0 ZH 5
9(=(k+2)) —g(=(k+1)) € {-1,1}.
g(—(k+2)—g(—(k+1)=1Ktd5d&
g(—k+2)=g(—(k+1)+1=—(k+1)+1=—k

725, LU g 1$5S (injective) DT g(—(k +2)) = g(—k) = —k (ZFJF
T 5.
FoTyg(—(k+2)—g(—(k+1)=-1T

g(—(k+2)=g(—(k+1)—1=—(k+1)—1=—(k+2)

LD n=k+2DLETHLOIXHKD LD.
(i), (i) VW OIFTRTOIEADE n 1T L THD LD,
PLEDZ &h 6
g(n)=n Vn € Z.

201



£oT
f(n) =n+ f(0) Vn € Z.

FRED ce ZIZRLT

flx)=x+c Ve €7

Oz ITHLOMTHS.
(2) g1)=—-1D& &
hz) = —g(z) B < & hIEHS (injective) T h(0) =0,h(1) =1 ZHi7z L,

h@) - h@| Sle—yl

DO LDDT, (1) DFEERDS h(n) =n,g(n) = —n, f(n) = f(0) —n 2155.
£oT
f(n) =—n+ f(0) Vn € Z.

EED ce ZIZH LT

flz)=—x+c Ve € Z
FQERMZTHSMTH 5.

(1), (2) SRl

ceEL BTRDEHE LT
o f(x)=x+c Ve € Z
&

e flx)=—-xz+c Ve € Z
THb.

202



518 55 (Romania 2013)
Determine continuous functions f : R — R such that

b b
(a2+ab+bz)/ f(x)d:)s:3/ 22 f(z) de,

for every a,b € R

R ) b
(a2+ab+b2)/ f(x)dx:?)/ 2 f(x)de - @

LE<.
OTa=0tBLL

b b
2 _ 200N dr L
b/of(x)dx—S/Ox f(z)dx ©)

b b

f(z) B0 5, /f(x)dx,/fo(x)dx 30 THAFREETH 5.
0 0

@0l % b TH LTz

b
Qb/o f(z)dx + b f(b) = 3b2f(b)

AN b
b dr = b°.
| raas
bx0D&ZE )
/Of(x)dxzbf(b). ...... ®)
@rERT DL b
/f(m)dm
f(b):OT, ...... ©)

bx00DEE, @ OLELIIMAARENS, f(b) IXbx0 THAARETHS. @DMI
ZbOTHWMHUE f(b) = f(b) + f(b) 75

Fb)y=0 VbeR,bx0.

£oT
f(z)=-c Vr € R,z % 0.
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f () 13 B 72 20 5
flz)=c VxeR.

DL E

b
(a* + ab + b2)/ f(z)dx = c(a® + ab + b?) [m]z

= c(a® + ab + b*)(b — a)
=c (b3 — a3) ,

b b
3/ .er(.r)dm:?)c/ r? dx

=cs’],

=c (b3 — a3)
L OIFRL D D,

X o TR

c ZERDEHE LT
e f(x)=c Ve eR
Thb.
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% 56 (Romania TST 2013)
Determine all injective functions defined on the set of positive integers into itself

satisfying condition : If S is a finite set of positive integers such that 1 is an
ses S

integer , then 1 _ s alsoan interger.

sesS (S)
s S={1)eTre Y = 1EBuErs Y L = L yromnens.
sesS seS f(S) f(l)
ko7, f(1) =1.
Vn 22128 LT
= 1 1 1 1 1 1,1
Sl:; i(i + 1) +_:l:1 (7_ z‘+1>+ﬁ_1__+_:1’
1 1
52_7;1 z(z+1)+n+1 !
S
n—1 n

1 1 1 1
2 TG T W 2T D

1= Z:1

T BT LD, ZrLdE
1 1 1

fan+ 1)~ Fn+1) )

(BT QAT
IS (injective) 2706, f(1)=1 &0

CA, IhnEMfS

1 _ _l 1 1 . 1 l l_ _
2Ty S ) Ty F S22 0
1 1 1 B .
SR [T R [ el B
e T Fe T - e TEr o
O

1 _ 1 1 _ fetD—f(n)




EoT fn+1)—f(n) >0 270 f(n) dn =2 0L ZRNELTSH 5.
) =2(n=2)T f(1) = 1 55

f(n)lEn =210k &nE&ZcH». ®
R S S ey JNE NI NI SRS S

3
2

B

@75 2 < £(2) < f(3) < f(6) B o
3 1 1 _ _9
@7 TTe e T 7O

o L .1 _ 1
£oT f(2) =2, 73) + 6 " 2

2 1 1 1 9 1
B Te T Te 2 Fm 2 TI@>ie=2

£-T f(3) =3, f(6) =6.
@%zMi> & f(4) =4,f(5) =5 &2H55.

BUAWIRANE T, TRTOERBE n I LT
f(ny=n ®

MDD & %&RT.

(i) n=1,2340r @R .
(i) n S k(k>4) D E@IRD LD LITET 5.
OCTn=k-2r8Y
1 1 1

flk=2)(k—1)  f(k—2) f(k—1)
DS flk—1)=k—1,f(k—2) =k — 2 BKHZODT

1 1 1 1 1 1

fk=2)k—-1)  f(k—=2) fk—-1 k-2 k-1 (k—=2)(k—1)"

£oT
flk=2)k=-1)=(k—-2)(k—-1). . @
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k>40b %
k—=2)(k—1)—(k+1)=k*—4k+1=k(k—-4)+1>1>0

0 (E-2)(k—1)> (k+1) 2D LD,

f@) =4, f(k=2)(k—=1)) = (k=2)(k—1) £@P5

) < f)<f6) <...... < f((k=2)(k=1)=1) <f((§(;_22§§§_:)1))
4 < 5 < 6 <...... <(k-2)(k—-1)—1 <(k—=2)(k—-1)

Lo T, d<m< (k—2)(k—1) 273 m=5,6,...,(k—2)(k—1)— 112
HUT f(m)=m &%5.

FZim=k+10,&E f(k+1)=k+1242006n=k+1D&ELEITKY
AR

(i), (i) &0 FRTOERE 1 LTOAHD 31D

@onrs, Y Lamgnor, Yo = Lasgens.

ses ses [(8)  jes s
Lo THEIX
e f(n)=n Vn e N
Ths. [ |
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fERE 57 (Pan African 2013)
Find all functions f : R — R such that for all z,y € R

f@) f(y) + flx+y) =y

R

f@)f(y) + fle+y) =2y

£B<.
OTy=0&BWV f(z)f0)+ f(z) =025

(f(0) +1)f(x) = 0.

FO +1x07E2T5L
flx)=0 Vz e R

5N, ZnxQEEZE 2.
£-T f(0) = —1.
OCTy=—2 BV f(z)f(—z) + f(0) = —22 25

f@)f(—x) = —2® 4+ 1 Vx € R.

@Ta=12B0E fO)f(-1) =025 f(1) =0 £/ f(-1) =0 &% 5.

(1) f(1) =0DHE
OTy=1B0E fo)f()+ flx+1) =25

fe+)=z=(z+1)—1 Va € R.

£oT
flx)y=2-1 Vz € R.

ZDe =

f@fy)+flz+y)=@-Dy-+(z+y) —1
=zy—(z+y)+1+(x+y) -1
=2y

720 OIXE D L.
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(2) f(-1)=0DH4E
OTy=-1&8LE flo)f(-1)+ flz —1) = —x D5

fe—1)=—2x=—(x—1)—1 Vz € R.

£oT
flz)=—2z—-1 Vz € R.

ZDExE

f@)fy)+ flet+y)=(—z-1)(-y—-1)—(z+y) -1
=zy+(z+y)+1—(z+y) —1

::ny
¥ IOIES LRVASH
(1), (2) &R
([ ]

flx)=o2—-1 Ve e R

o f(z)=—-x-1 Ve e R
ThH5.
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618 58 (Stars of Mathematics 2013)

Given a (fixed) positive integer N , Solve the function equation

fZ—=R, f(2k)=2f(k)and f(N — k)= f(k), for allk € Z

fek)=2fGk) ®
FN=R =g e ®
EH<.

N N &HOBE
I Z2FETHE, @&D

_ _ N-1)_ N +1
O =1 b s 2 (F50) =27 (N - 55

{4
_ N +1
@2f< 2 )
= f(N +1
®( )
= f(=1).
@ﬂ )

£oT
f(=)=f0) vViez ldFEE ®

TEDacZiZa=2",1€Z>,: B OBIZLIFENS, OEBEVRELMES &
fla) = f(2°) =2°F(), f(=a) = f (2" (=1)) = 2"F(—D).

@&l &

@%f> % f(k)=f(N—k)=f(=(N —k)) = f(k—N) »5

kDI A% k+ N TCEESHZSLL

flk+N)=f(k) VkeZ
EoT [ A N(AR) 2 boMMBECHS. e )
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N BB DIGE

Fk) = SN =) = LSRN = k) = = f(N = (2k - N)
= b m= i (2o 4))
532 (k-5):
£oT
f@ﬁzf(k—%%) vk € Z.
FOLIBE k4 THESADE

f@wa%):fw) Vk € 7.

ioffﬁ%%Aﬁ:%C%%O%%%ﬁf%a
N, DEBO & = 1%

2/(k) = f(2k) = fk+ M) = f (2 (k+ 55)) =2f (k+ OF

f@%%A@:%}%%a%ﬁ%ﬁ?%a
Ny DMBERD & % XA U E A48 0T 2 L ic k0, f IR p(p 13480 % & > R
CHB L NNE .

EDZEmS, fIXAN pe Np RHK) 25 MUK cHs T2

flk+p)=flk) VkeZ
28 p EHEWICEENS, 415 —DEHED

2¢(P) _1=0 (mod p)

M ONLDDT, [FEOEH a2 LT

f (a . 2@(1})) = f (a +a (2%0(17) — 1)) = f(a).
P DFEE

f (a . 2@(19)) — Qw(p)f(a)

¥7-
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THLHEND
f(a) =27 f(a).

£oT
fla) =0 Va € Z.

ZhiFQ®, @%hizd SR
e f(z)=0 Ve € Z
Ths.

[E] A1 7—0&H aq&mdPEWIZERSIX
a®™ —1=0 (mod m)

A BVASH
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& 59 (USA TSTST 2013)
Find all functions f : N — N that satisfy the equation

e (abc) + fOP7(abe) 4+ [ (abe) = a + b+ ¢

for all a,b,c 2 2. (Here f*(n) = f(n) and f*(n) = f (f*~'(n)) for every integer k
greater than 1.)

21
fae=(abc) + fo*=(abe) + f¥(abc) =a+b+c .. ®

SR

1) f©* () =z Vr=2 E2R7Y.
OTa=b=c=x BV 3" 7 (%) =3z H 5
fa'-e (@ =2z vVez2 ®
@TaDLIr%® TEEMAD L
(@) =2 ez

£oT
fmg—z (wQ) — f:r:3—m (fmg—m3 (ZBQ)) — fat3—m (.13‘3) =

»no .
froe (:cg) =x Vo 2 2.

OTa=z,b=123c=2° BV

fmg—w ($9> _|_fm9—w3 ($9) +fx9—m5 <x9) — 1’—|—(133 +1’5

g g

=x =3

»no

fm9_m5 (xg) = z° Vo = 2.
OTa=2>b=2a3c=2?> BV

fxg—xs ($9> +2fx9—m2 (IQ) — I5 + 2!172
————

=25
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f”cg_":2 (2) = 2? Vo 2 2.

£oT
fo—:c (.732) — fac2—a: (facg—:c2 ($9)> — f:rg—m (xQ) =

&Ry .
[ (2?) =2 Vo 2 2.

fabfa(ab) + fab*b(ab) =a+ b \V/CL, b z 2 %E_\‘T
OTc=ab,a,b=2&BLL

FUU () 4 FU P (a20?) + f 0 (aPb?) = a+ b+ ab.
(1) 5 [0 @) = ab £ BOT

fazbz—a (a2b2) + fa2b2—c (a2b2) —a+b

fab—a(ab) — fab—a <fa2b2—b (a2b2)> — fazbZ—a (a2b2)

25 »
fab—a(ab) _ fa b“—a (a262)

MO D., TOARTa b baXHTLHL
Ftab) = fUV (a%0?) .
INSOREMS LBk
FO=(qh) + P (@b =a+b  Va,b=2
Y755,

fabe=a(abc) — a + fo%°~b(abc) — b = fabc=ab(abc) — ab Va,b,c > 2 ZRT.
(2) CaD&Z A% ab, bDLI A% c CEHEHAS L

fabc_ab(abc) + fabc_c(abc) =ab+ c.
OTInEfis e

fabc_"“(abc) —a+ f"’bc_b(abc) —b=c— fabc_a(abc) = fabc_ab(abc) — ab.
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(4) VniZ,Val,ag,...,an 2 2,p:a1a2...an Ciﬁb’C

n

Z(fp_ai(p) _ai) =0 e
i=1
DO ALD T & 2 BUANRANE TR .
(i) n=2D& &I (2) S LD.
n=30D&EIOPSMEYID.
i) n=k—1(k23) DL EXDILDLINET 5.
1,02, ..., 0—2,0p—1,0k = 2R LUTp=aay---a, £HBK.
REDPS a1, az,...,ak_2,a,_ 10 (2 2) 1L T
k—2
SO (p) — ai) + P (D) —agp—rap = 0. e ®
i=1

(3) Ta=ag_1ax,b=ag,c= Bl

ap—10k

P (p) = ap—1 + P (p) —a = [P (D) — ap—1ax

MO0 S, GOk

k—2

}:(ﬁ_%@)—%)+f“ﬂ“‘@)—ak44aﬁ_%ﬁﬁ—ak=0

k
pra —ai):()

=1
ey, n=kDLETHLRD D,
(i), (i) %5 2 BLED EARE n 18] LT@RE D 7.

(5) Ve 2 31T LT f(z) =2 —1 DD DI LRT.
VrZ 112/ LT, 4) Tag=x,a2=1ua,...,ar =2,a,11 =2 —1(22) B &

rfT DT (@ (@ — 1)) 4 7 D@D (0 (@ — 1) = ra 4+ (z - 1).

z, = fr @2 (grz—1)) L&, ZoHERZ
re+ fle)=r+(@—-1) ©®
L.
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Vr > x TR LT
re, <rey + flz,) =re+(z—1)<re+r=r(zx+1)

Pox,. <z+137%bb 2z, <z
rikr >z EEzZLT0uEI0ns, BEEO r =2+ 1L,24+2,... IZHLT
r. €{1,2,...,2} THZ2NH, B2y < e WFHELTCx,. =y &85 r > x IZEERAE
H5.
©®h 5

ry+f(y):rx—|_(x_1) ...... @
Wi r > o ISERED 5.
OEERT L

ry—z)=(x-1)— f(y)
y—rx 072 INEFHZT r X 1ELPRVRS

y—xz=0 72 (z-1)—f(y) =0

LB, g ENET Y
flz)=z-1 Vz > 3.
LMo T
{ F(1), F(2) 1ML D R

fn)y=n-1 Vn =3
L0, ZhIQENZTIEERT.
n=230&E fn)=n—-17E»5

ffn)y=n—k VEk2=>1.
Inzflis e

fabc—a(abc) + fabc—b(abc) + fabc—c(abc)
= abc — (abc — a) 4+ abc — (abc — b) 4+ abc — (abc — ¢)
=a+b+c
MR DL S, iRl
{ F(1), F(2) BAERED FARK

fn)=n-1 Vn =3
TH5. [ ]
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fi# 2
fae=(abc) + fo*=(abe) + f¥(abc) =a+b+c .. ®

SR

(1) VEZ 2 LT 51 () =t 25Rs. (Rl (1) 21, )
(2) t=abc 2B L fF14t) —a+ f10t) —b+ f1C(t) —c = f17%(t) —ab B D LD,

O" s
e+ O+ ) =a+ b4+ ©

OTaD&ZA%ab, bt CEEHZSLL

FEE) ) () = ab e,
=t

O () 4t 4 10 () =ab+t 4o,
FE () 4+ 0 (1) = ab+ e
ZORE@N5

ft_“() a+ft_”()—b
ft c
ft —ab ¢ +ft —c t2 —ab— ft—c(t)

(#)
_ ft ab (ft2 t (tQ)) ft c (ft2t (t2)) —ab— ft—C(t>
—— S————

=t

—|—ftct ftc()

WZIZ, t=abc B L
) —a+ ) — b+ fO) —e= ) —ab. e ®

(3) p > q > max(a,b),p,q BEME LT, s=aPbl,t=s2 LB L
p(F7ot) —a) +q(f7 ) —a) = Fo () —s=0  aeeen @

NS A BVASH
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@S de fZ22DEt=def Bk
(ft—de(t) N de) _ (ft—e(t) _ e) — ft_d(t> —-d ... ®)

N ARVASR
p > q > max(a,b),p,q EEHEL LT, s = aP’b?,t = s> Zh 5, d = a,e =
a7, f=aPbl L LTEZEHNVS &

(e ) = anbr) = (1" (1) — a7 N00) = ) —
d=a,e=aP"29, f = a7 L LTOERMVS L
(= @) = arer) = (@)~ 2) = ) —
d=a,e=a’309, f =aPt?p? L LTEZHNS &

<ft—ap’2bq (t) - ap_zbq> _ (ft—a?’*%q (t) — ap—3bq> _ ft_a(t) _a

d=a,e=bl,f=a?’"109 L LTEZEHANVD L
(7" @) = ab?) = (/7" (1) = @707 = 00 — @
d=be=b"1f = a?b L LCOEMNS &

(F e =) = (F" O ) = T b

d=be=b,f=a*p?1 2 L LTEOEHND L
(£ 0 —8) = (170 — 1) = £ (1) b,
INsDFEADL~ 2 A D &
(£ @) = am?) = (720 = 8) = p (S —a) + (g = 1) (/' (0) ~ b)
TROLL
p () —a) +q (f70) = b) = [V () — aPd

218



(4) 125
p(ff ) —a)+q(f7(t)—a) =0

Tp & qEEWZEEDLS
pIf=oH) b 2D g )
p,q & p>q>max(a,b) il TERDOIRKZNP S
FP) —b=0 »> fUt)—a=0 Va,b=2.

7272L, t = aPbl.
FilZa=nb=n+1&8B<Lk

) =n, O =0+ 1.

INoho
n=f") =) = fln+ 1)
ERAN PR
fln+1)=n VYn = 2.
L7=h3oT

(n)=n-—1 Vn =3
0, ZThxOrmT I L E2RT.
n=230DLE f(n)=n—172715, VkZ1IZHLT fF(n) =n—k »0LD.
INzfis e

{ F(1), F(2) 1HEED H R
f

fabc—a(abc) + fabc—b(abc) + fabc—c(abc)
= abc — (abc — a) + abc — (abc — b) + abc — (abc — ¢)
=a+b+c

S, OBEDLD.

U7z, fRix
{ F(1), £(2) BAEED HAK

fn)=n-1 Vn =3
Ths.
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A8 60 (Turkey TST 2013)
Determine all functions f : R — R™ such that for all real numbers x, y the following

conditions hold:
(i) f(z?) = f(2)? - 22f()
(i) f(—=z)=f(z—1)
(1i1) l<zx<y= f(z)< f(y)

fRE () Txz=0rB<L f(0)=f(0)27T f(0)>07Zh»5 f(0)=1.
(i) CaD&IAh% —x CEHESHADL
f@®) = f(—2)* + 22 f ().

(i) &> &
f(x)? =2z f(x) = f(—x)* + 2z f(—x),

(f (@) = f(=2))(f(2) + f(=2)) = 22(f (z) + f(-2)).

Fl@)+ f(—2) > 0 7h5

f(=z)=f(x) —22. ©)
f(=z) > 0706
fl&)>2x VYzeR ©)
(1) & © &P
ﬂ@Zwa—szP@+&»5f@+n—2@+n.
koT
fx+1)=f(z)+22+2 VreR ... ®
Vm e Z Iz LT
fl@+m)=f(z)+2mz+m’+m VeeR ... @

MDD Z & &ERT.
m=00D&ZFHPHSPIZOIEE D LON S, BANRMET n VEHARBD L &

flx+n)=fx)+2nz+n*+n »2 f(r—n)=f(z)—2nz+n’>—n
MDD & 2RI L.
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I)n=10&&
@25 flx+1) = f(x)+ 2z + 2 1D LD,
@OTDzr &Ilr%2r—1TESHZIDL f(z)=f(z—-1)+2(x—-1)+2T4Kbb

fa-1)=fx)=22 (%)

2135,
2) n=k DY EHD IO LFEET .
@OTDr L Ir%h o+ k TEEMASL

fle+k+1)=fz+k)+2(x+k)+2
= f(x)+ 2%k + k> +k+22+2k+2
f(@)+2(k+ Dz + (k+1)* + (k+1).

(x) COz &IlBl%r—kTEESHBILL
fle—k—=1)=f(z—k)—2(z—k)
= f(z) — 2kz + k* — k — 2z + 2k
f(x) = 2(k+ Dz + (k+1)* — (k+1).

D n=k+1DLEHWY IO,
(1), (2) XV ITRTOELE n LT

flx+n)=f@)+2nz+n>+n »2 flz—n)=flz)—2nz+n®>—n
NI RVASR
w=%€@ﬂ>0&8<t

f((x+9q)?) = f(2° + 292 + ¢°)

=f(a® +2p+¢*)
@ f (:1:2) + 2 (2p—|—q2) %+ (2p+ q2)2 + (2p—|—q2)

= f(z)* — 2z f(z) + 2 (2p+q2) % + (2p+ q2)2 + (2p+q2) )
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72 (i) VS L

f«$+@) fl@+q)* =2+ q)f(x +q)
flz+q)(f(z+q) —2(z +q))
U(%+%x+f+@)Uu&+mx+f+q—2x—%)
=(f@)+2p+ ¢ +q) (f(x) =22+ 2p+ ¢ —q)

= f(2)? = 22f(2) +22p + ) f(2) — 2(2p + 4>z — 2q2 + (2p+ ¢*)° — ¢°
et
= f(a)? = 2ef(z) +2(2p + ) f(2) —22p + Pz + (20 +¢*)" — (20 + ¢°)

LB
f(z)? = 2xf(z) + 2 (2p+q2) z? + (2p+q2)2 + (2p+q2)
= f(2)? = 2uf(z) + 22 + ) f(x) = 22p + )z + (20 + )" — (20 + ¢7) .
pEgIEAEWVIETHEINS 2p+¢> x072DT
flz)=2*+2+1 Ve e Q

185.
RIZ
flz)=a2>+x+1 Ve € {—oo, -1} U{l,00} - ®
M ONDI L ZRT.
r>lzeRDEE1<r, <2<s, T limr, = lim s, =z &74&5HHEEF
n—oo n—oo
{ro}, {sn} 2E D& (iii) &P
2 4 1= f(r,) £ f(@) < f(sp) = 802 + 5, + 1.
lim (Tn2—|—7“n—|—1): lim (Sn2—|—sn+1):x2—|—x+l
n—oo n—oo

2o
flz)=2>+x+1 Vo > 1.

r>1D2EOM5
fl=z)=f(x) —2z=a*+2+1-22=(—2)*+ (—z) + 1.

£oT
flz)=2*+2+1 Vo < —1.
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BT
flx)=a*+2+1 Vr € R
R
2>0DEE (i) 15
= f(zz—1) = (—z —1)? —1)+1=2a? 1
fa)=flcz-D=(=z-1)"+(@@-D+1=2"F+z+

<-1

ERAN R
fl)=2>4+z+1 Vo > 0.

r<0DEXER TarDelAhr—1TEZHILYL

f(:zc):f(u)+2x:(:1:—1)2+(x—1)+1:x2+:c+1

<-1

ERAY.0X=
flx)=a*+2+1 Vo < 0.

®, @ f(0)=125
flx)=a*+2+1 Vx € R.

DL E

f(x)? —2zf(x) = (a:2+x+1)2—2:1: (2 +z+1)
:(x2+sc—|—1) (acZ—x—f—l)
=zt +2*+1=f(a?),

fa-1)=(@-1)"+@-1)+1=2"—z+1=f(-2)

l<x<yne&

fy)—f@) =y +y+1—(z®+z+1)=(@y—-2)(y+z+1) >0

o f(z) < fly) &b, (i), (id), (iid) B L.

X o TRl
e f(z)=2>+2+1 VzeR
Ths.

223



P92 61 (Vietnam 2013)
Find all functions f : R — R that satisfies f(0) =0, f(1) = 2013 and

(z—y) (f (f@)?) = F (fW)?)) = (f(x) = fW) (f(=)* = f(»)?)
Note: f(x)? = (f(z))?

LX<,
OTy=0&BWz(f(f(2)?)) = fl@)f(z)? 75

z(f(f(2)?) = flz)’.
OEZERTEILE2E25. QOLUEERTS L

af (f(2)%) +uf (fW)?) —2f (fW)?) —yf (f(2)?)
= f@)’ + f()® = f(@)f(y)* — f(2)*f(y).

@%fli> &
af (fW)?) +uf (f(2)?) = f(@)f(w)* + f(2)*fy).

@%fli> &
I (@) =2y f (f(2)?), 22 f(y)° = 2%yf (f(v)?)

MDD S, WLEMAS L
2 f(y)® + 2 f(2)® = 2y [zf (F()?) + uf (f(2)?)]

(v
5 7 F ) () + 1)

£oT
2 f(y)° +y* f(2)? = wyf (@) f () (f(x) + f(y).

@CTy=1¢8LE
x?-2013% + f(x)® = o f(x) - 2013(f(z) + 2013),
f(z)® = 2013z f(x)? — 201322 f () + 2013322 = 0,
f(z)?(f(z) — 2013z) — 20132z (f(x) — 2013z) = 0,
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(f(z) —2013z) (f(z)* — 2013%z) =0,
r<0D&E f(x)? —2013%x > 07255 f(z) — 2013z =0 F bbb
f(z) =2013x Va < 0.

r>0DLEE
f(z) € {20132,2013/z, —2013v/=} . ... ®

2>00 ES f(z) = 2013z RO VDI L ERLAEY. 207D, b>0,bx 1T
7(6) € {20135, ~2013Vb} k755 b BHAET B A LTI &L

(1) f(b) = —2013Vb DIGE
@Ta=brBwia(f(f(b)?)) = f(b)?=—-2013°bvb » 5

£ (2013%b) = —20133v/b.
®Tz=2013%b Bk
f (2013%) € {20133b,20132\/5,-20132\/5}

s
—2013%vb = —2013%Vb

DAL LRI NUEZR 570D, b > 02D TAAEETH 5.
(2) f(b) =2013Vb DHH
@Tz=brBWVz(f(f()?)) = f(b)3 = 20133V 5

f(2013%b) = 2013%Vb
®Tz=20132 LB &
f(2013%) € {20133b,20132\/5,——20132\/5}

Y250
2013%V/b = 2013%v/b, —2013%v/b

EhS
2013%vb = 2013%b

PIEAE LR T L7 & 7.
ZORPSb=VbERDb=0F/13b=1%7532, b>0,bx1IZFEFET5.
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f(x) =2013x Ve e Ryx > 0,2 = 1.
£(0) =0, f(1) = 2013 %5
f(x) = 2013z Ve e R,z 2 0.
r<DEE f(r)=2013x THo/h b

f(x) =2013x vV € R.
ZDEE
(z—y) (f (f@)?) = fF (fW)?)) = (x —y) (f (2013%27) — f (2013%y?))
= (z —y) (2013°z* — 2013%y?)
= 2013%(z — y)(2® — y°),
(f(z) = f(y) (f(z)* = f(y)?) = (2013z — 2013y) (2013%2” — 2013%y?)
= 2013°(z — y)(2* — ¢?)

L OIFEK D LD,

X o THRIZ
o f(z)=2013x Ve e R
Ths.
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678 62 (Uzbekistan 2013)
Find all functions f : Q — Q such that

fla+y)+fly+2)+flz+0)+ ft+z)+ fle+2)+ fly+t) 2 6f(x—3y+52+Tt)
for all z,y,z,t € Q

FRE

f@+y)+fy+2)+f(z4t)+ f(t+az)+ fa+2)+ f(y+t) Z 6 f(x—3y+D5z+Tt) - 0]

<.
OTy=z=t=0&BWV7 f(x)+ f(0)+ f(0) + f(x) + f(x)+ f(0) Z 6f(x) 25

fl@) < fO0)  VzeQ. .. ®

OTz DA% %T%%%@m y:%,z:—ﬁ,tzﬁ ARy

J(@)+ F0) + F(0) + f(2) + F(0) + f(z) 2 6f (£ — 22— 22 4 T —6£(0)

5
@, @75

ZDEE, OO,

X o THRIZ
c 2 EEDOAHHL LT
e flr)=c VzeQ
TH5. [ |
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& 63 (Albania 2012)
Find all functions f : R — R such that

F@)+ %) =@+ f (@®)+f?) - f(ay)
forallz € R
fRE

FE)+f @) =@+u)f(@®)+r @) —fl@y) e
r 6L,
DTz =y=02BWV=2£0) = f(0) — £(0) 25 f(0) = 0.
OTy=0&BW~ f(23) + f(0) =af (z%) + f(0) — f(0) 25

f (:U3) =uxf (x2) Vee R, .

OTz=0&BL f0)+ f(¥°) =yf0)+ f (v) — £0) 5 f (v°) = f (v?)
ERAYPXS

f (@) = f(2?) YeeR. ..
@7 @75)6

rx1DLE

@Taz=-1&8L f(1)=0.
o T
f(z)=0 VzxeRaz>0. ...
r<0DEEt=Yr(<0)BLr=tTOEMS L
fl@)y=f{t*) =tf(*) =t-0=0.
(z) ()@ ()@

£oT
f(x)=0 VzreRz<0. ...

®, ©®@&H
f(x) =0 Vz € R.
ZHIFQ %77,
X o TR
o f(z)=0 Ve e R
Thsb.
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&8 64 (Albania TST 2012)
Let f: RT — RT be a function such that:

r,y>0  f(z+fy) =yf(zy+1)

a) Show that (y — 1)(f(y) —1) <0

b) Find all functions that require the given condition.

fRE
fle+f)=yflzy+1) e @

LE<.

a) y=10&Z (y—1)(f(y) —1) =0 &7 b RERUIL Y LD,
yx1oeE, 3L (y—1)(fly) —1)>0&%25y>0,yx17»1FETEH0IE,

DTz = f;y)__ll (>0) &BLE

f(f(yy)__ll +f(y)> ny(f(yy)__1>-y+1,
f(yf(y)f) :yf(yf(y)l—l).
y— y—

koT, y=1%M85. Zhit(y—D(fly)—1) >0 KFET 55

(y—1)(f(y) —1) <0 VeeR".

b) (a) 5, Vz € RTITHUT (2 — 1)(f(2) — 1) S 0 B D 205

z>1 O&E f(2)£1 )
0<z<l D& f(2)21
2135,

z>10)i%é.\f(z):% YD ERT.
OTz= z—1 y=z&B< &

z Y

F(EE+1@) =af (B2 +1) f(EE+1() = 2(2).

z z

ZOXERET DL




fe) =L <oorso<i-Life) <1rms, (&b
F1-L+7) 21
£oT
()21 f(z) -+ 20

:M@f@y~%<0K%ETé.

£(2) 1>0®K%L~%+ﬂ@>1ﬁ#&(ﬂib

z

£oT

:Mﬁf@y~%>omﬁﬁﬁé.

L7zhoT
fe) =1 ves1
r,y>00D8E, zy+1>17EZ1256@0&0 fay+1) = asyl—}—l Thb.
fiis & ,
Fat i) ==ty Va0
@TCcr=1&BLL y
1 - _ ¥
S+ fy) S+
L+ fly) > 10T f (14 f(y)) = g gy PO 15
1 Y y+1
T+ /) i ==y
£oT
fly) == Yy >0
o
flx) == Vr € RY.



DL E, Vo,y >0 LT

f(fﬂ+f(y))=f(x+%) =f<$yy+1) = mnyrl =yf(zy+1)

Ly Q%7

Ko THRIZ

. f(x):% Vz € RT
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B8 65 (Balkan 2012)
Let ZT be the set of positive integers. Find all functions f : ZT — Z* such that
the following conditions both hold:

(i) f(n!) = f(n)! for every positive integer n,

(i) m —n divides f(m) — f(n) whenever m and n are different positive integers.
FRE
fn)=fFfxy @
m—n|f(m)—fn) . ®

£B<.

DTn=128E f(1)= f11) = (1)
OTn=2ctBE f(2)=f(2) = f(2)L

ml=m(m e Z") iz DiEme {1,2} DATH 5.

mz23D&EEml=mim—-1)(m-2)=2m-2>m.
m=120&E m! =miIKILD.

£oT
f(1) €{1,2}, f(2) € {1,2}
MK D ALD.
@h5
n-nl=mn+)=n!f((n+ 1)) — f(n!) 5 f(n+ 1= f(n)l
£oT
n-n!|lf(n+ D)= f0). ®

D5 k(Z22)€ZTITHUT f(k)=1DKOLDR 6K
fln)=1 Yok @
L7052 & BRI TR Y.

(i) n=kDrEIKY L.

232



(i) n=m k) DL ERDTOLHETS

m-m! = (m+1!—m!|f((m+D)—f(m!) = f(m+1)!=f(m) = fim+1) -1

-

AN
fm+1D!'=1 (mod m-ml!).

l=f(m+1) L& Il=1 (mod m-m!).
122 RET 5.

25 l<moeE, !'m-m&il=1 (modm-m!) 25 11=1 (modl!) &
%50 ZHEI! =0 (mod I!) IZFET 5.

mS1lDEE, =1 (modm-m!) 25611 =1 (mod m!) &7%257%, Zhid
['=0 (mod m!) IZFET 5.

EoTI=1948DE f(m+1)=1,2Dn=m+1D&EHKHILD.

(i), (i) &b kB EDTRTOEKE n 128 LT@AH D 7.

1) f(1) =1, f(2) = 1 DEAE
@5

Ay
fn)=1 VneZ".

I (4), (i) 2723 hoMTH 5.
(2) f(1)=2,f(2) =1D5GA
@5
fn)=1 VYn=2
LB,
@n 5
3-1[fB) - f()=1-2=-1

LHBEN2 1 EFETS.
(3) f(1) =1,f(2) =2 D&A

VYn e ZT Iz L T

B 2L B FEWNIRMNIE TR,
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i) n=120% =@M L.
(i) n="k(k>2) DL E@OIKY LD LIEET 5.

@05
k-kl=(k+1)! =K [ f((k+ 1)) = f(kD) = f(k+ D)= f(R)! = f(k+1)! -kl
et

£oT

flk+1)!=k (modk-k). . ®
© % fHu

fk+1) <2k

NI

flk+1) 222328 fk+1)! =0 (mod k- k) Zh5, ®k0 k! =0
(mod k- k!) £725. ZORIE k 227060 L7272\,

EoT f(k+1) < 2k DK D LD,

@&V k=k+1)—-1|fk+1)—f(1)=flk+1) -1 DK ZONS

f(k+1)=1 (mod k).

Fk+1) < 2k Eind
f(k+1) € {1,k +1}.

fk+l)=17ed2¢L
kbl = (k+1)!=k! | f((k+ 1)) = f(RY) = F(4+1)!1— f(B)! = f(k+1)1—k! = 1—k!

=97 AVA VR AN
FoTflk+1)=k+1&0n=k4+1DEEHKH LD,
(i), (i) & D FTRTOHEARBIZDOVWTEOILK D VLD,

£oT
fln)=n Vn € RT.

ZiE (i), (i) 2= I oRTH 5.
(4) f(1) =2,f(2) =2 D5HE
YneZT iz LT
fny=2 . @

L72% 2 & 2RANIRNA TR Y.
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() n=120% DI L.
(i) n="k(k>2) DL E@OWKY LOLIET 5.

@05
k-kl=(k+D! =k f((E+1)) = f(k) = f(k+1D)! = f(k)! = f(k+1)! —2.
=7
£-oT
flk+1)!=2 (modk-k). ..
® % fHw
flE+1) <2k
2RT.

fk+1) 22k 35L f(k+1)!'=0 (mod k-k!) 25, ®&Y
2=0 (mod k- k!

5. ZORE k22706072720,
£oT f(k+1) <2k DD LD,
@b

k=k+1)=1[f(k+1) = f(1) = fk+1) -2,
k—1=((k+1)=-2|f(k+1)—-f(2)=f(k+1)-2
AN A RVAST I
flk+1)=2 (mod k(k—1)).
Jk4+1) <2706 f(k+1) =20 n=k+1DEETHE LD,
(i), (i) EOITARTOERBUZDOVWTDIZED 2.
£oT
f(n) =2 Vn € RT.
T (i), (it) Z2Wi7z I oMTH 5.

PLEDZ D SHRIZIRD 3 DOTH 5.

e f(n)=1 Vn € RT,
e f(n)=2 VYneRT
e f(n)=n  VneRt.
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8 66 (Baltic Way 2012)
Find all functions f : R — R for which

flx+y) = flz—y)+ f(f(1 - 2y))

hold for all real numbers = and y

R

flx+y)=flr—y)+ f(f(1L - 2y))
r 51,
OTy=0&BVE f(z) = f(x)+ f(f(1) 25

f(f(1)) = 0.
®Tx=0KBVkﬂw:wa+fUﬂﬂéwaﬁ%

f(=xz) = f(z)Vx € R.

LDt C f MBS TH 5.
OTy=1&BE
fla+1)=flz-1)+ f(f(1—2)).

@TaDLIr% o+ 1 TEHEHALL
f(x+2) = f(x) + f(f(=2)).

IR 5
floz+2) = f(z) + f(f(z)).

@DTorDEI A% 11—y CEZHZISLE
f2—2)=f(—z)+ f(f(2)).

BB S
flx =2) = f(z) + f(f(z)).

®, ©»5
flx+2)=f(x—2).

OTy=2¢BLL
fle+2) = flz—=2)+ f(f(1 - 22)).
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D> &
f(f(1—2x)) =0.

122 IZTRCOEBEZID 5505
f(f(z))=0 Va € R.

%> Ok
flx+y)=flz—vy)

LEZEES. ZOATy=2BL

f(2z) = £(0) Vz € R.

20 X TR TOEHEZIDEE05
f(z) = f(0) Vo € R.

c=f(0)&BE, fla)=cZ2RATEELc=0%17E5.
Zx@QEH T,
U 7278 o THRIZ
e f(x)=0 Ve e R
Thb.
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&8 67 (Brazil 2012)
Find all surjective functions f : (0, +o00) — (0, +00) such that

20f(f(z)) = f(z) (x + F(f(2)))

forallz >0

fRE
20f(f(2)) = f(x) (@ + f(f(x)) e ®
B,
f IZ#ET (injective) TH B Z & %2 RT.
fp)=fl@=r>0&3%. OCTa=prsLL

wf(r)=rp+fr)). @
OTa=qtBLL
20f(r)=r(g+ f(r). ®
@ -0 "5
2(p—q)f(r)=r(p—q).
FoTp=q X f(r)= % Y 3.
f(r)= % MDD T 5. Zhz2QIZRATBE

ro_ T
wog=r(r+ )

Dok =03HbbEk=02%2%, k>0IZFET 5.
Lo Tp=q &b fIXHEH (injective) TH 5.

1324t (surjective) TH B0 6 f I3 HE (bijective) TH 5.
1

x>0%2BEEL, a, = i) >0(n=01,2,...) 28L. =~L, ) =,
nZ10rE frz)=f(f'(2) 5 5.
20 x+ f(f(x)) x
V=50~ Tirw T I0w)

2 1 1

T Fw @ T TU@)
2 1 1

T TF@  Pe I



oT

f@) )
AN IRVASN
@TaxDeIlr% frl(z) TEHEMR

2 1 .1
[y @) ()
mo
20, = Gp_1 + Gn+1
Tibb

an+1 = 20y, — Gp_1

2135, @£k TsL

n41 — Gp = Gp — Ap—1-

ZDOAMS
an = ag +n(a; — ap) Vn € Z>g
MDD bbb,
a1 —ag<0DLE, nZ+opRELLEEa,<08RD a,>0IlFFET 5.
£oT
a1 — Qg 20
N ARVASN

f i Et (bijective) 72205 f QWK f~1 2T

) = <f’(”’1)(x)> vn > 1

TfMEET .
@OTarDZr% f7"(x) TEESHMA DL
S S S
@) ) ST )
1
by = >0(n=0,1,2,...) &8
RO )

2bn = bn+1 + bn—l
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ERAY X5
bn_|_1 - 2b'n, - bn—l ...... @

2195, LoiEimE FERICL T
by —bp =0 @

DI D LD,
@TzDEIr% fl(z) TEESHMAD L
2 1 1
oz ()
ITHbH 2a0 = by + a; DD ILD.
ODFEHIFOTEHESVHR LU WE, @O+ W 25 a +by > ag+by = 2a9 &2 0
200 =b1 + a1 IZFETSH. LIzh>Tay =ag, by =by &5,

_ I 1 55
a1 =ag &9 ORE, ERAY X

flx)==z Vo >0
2135, ZOLE
20f(f(2)) = 20f(z) = 22%, f(z) (x + f(f(2))) = 2(z + f(2)) = 2(z + z) = 22

RDOTOIEE D LD,

X o THEIZ
o f(x)==x Vo >0
TH5. [ ]
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A& 68 (China TST 2012)
N being a given integer, find all functions f : Z — Z, such that for all integers z,y

we have
flx+y+ fy) = flz)+ny
2N
fle+y+fly)=fx)+ny . @
EHL.
(1) n=0DHAOIX
fe+y+fy)=Ff Q@'

s,
RO yeZIZHLTy+ fly) =00 & O IFEKHLDDT,

flx)=—=zx Vx € Z

IR TH 5.
UFy+fly) x0,%2ycZ P FETEIEEEERS.
cEZ% flc)+ex0,idEDLd5. O Ty=ckBL

flx+c+ f(c) = f(e) Vo € 7Z

flO)+e(x0)iF fOAHELENS, T2R/NDEDREME TS, (BEOHIPHTH
HaZEZTVWE2 55/ NDEDRBIXGFERET S, )

f(x) DfEIE {0,1,2,...., T — 1} 1269 2148 {£(0), f(1), f(2),..., (T —=1)}iTk»
TkES.

0Sr<T—-1ITHLTr=T—-1&BLL

rlo 1 2 ... T-1
i‘T T-1 T—-2 ... 1

O Ty=T—i BV fa+T—i+ f(T—1i)=f(x) "5
flat+ f(T—i)—di)=f(x). e ®

F(T—i)—i ETEVENG Z L &RT.
F(T =) —i B0z (1<i <T) BEELE LT 5,

f(T—i)—i=Tq+r,0<r ST -1
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LBIFENS, ThE@QIZRATSE
fle+Tqg+r")=flx)  flz+r) = f(2)

(> 0) 1 f(x) DRMHTO<r ST 170256 T OR/MECFET 5.
LhoT f(T —i) —i \3E0 Iz s o

f(r'—i)—i=Tq (q€Z)
EBIFB. ZoXREHESETL f(r)=Tq+ (T —-r)=T(q+1)—r»5
f(.T):—.T—f—Tgx

Ge F (0SS ST - 1D ITEoTREDERTHD. £/, c+ fle) x 0243
cELMFEETENS, go,01,92,.-.,97—1 DRI 0 TRVWEDVFET 5.
g:7Z—7%

xe{0,1,2,.... T -1} D& &, glx) =g, &L, gle+mT) =g(x)+m meZ
TREREZ Z £$THRLZ DET DL

fx)=—z+Tg(z) VrelZ
LFB. 2L, g(0),9(1),9(2), ..., g(T —1) DEHIZ 0 THRNEDWEET 5.
ok
F@4T) = —(a+T)+Tg(a+T) = —(z+T)+T(g(x)+1) = —z+Tg(z) = f(z)
DEOLH, y+ fly) =Tgly) 2005
flety+f)=flz+Tg(y) = f(x)
Ly, @ &Y.

AN Z DI f(x) = —x 1% g(0),9(1),9(2),...,9(T = 1) W¥TXT 0 DEAHIC
o TW5,

nx 0 DEE

fIXHS (injective) TH 5.

fp)=fla)=r(pqgeZ) 35,

OTrz=py=qeBLL f(p+q+r)=r+nq.

OCTarx=qy=p&BLL flg+p+r)=r+np.
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FoTr4+ng=r+npP2nx02»56p=q&2DT fIXHH (injective) T
»H5.

OTz=y=0&8LL f(f(0) = f(0).a= f(0) &L L f(a) =a.
OTrz=ay=02BW

fla+f(0) = fla)  [f(2a) = fla) =a

75 f(2a) = a.
OTax=0,y=a bk

fla+ f(a)) = f(0) + na f(2a) = (n+1)a a=(n+1)a.
a=(n+a&nx0m5a=0.
£-T f(0)=0.

OTz=0¢8B<LL
fy+fy)=ny ©

@Ty=x+f(z) £BLL

f(w+ﬂ@+f@+fwﬂ)—n@+fﬁﬁ [+ f(z) +nx) =n(e+ f(z)).
————

=N

£oT
fnx +x+ f(x)) =n(x+ f(x). e ®

OTazDeZb%nx, yDL I %2 x CTEEMHMI L
fnz +z+ f(2)) = f(nz) + na.
IhE@IHS & f(nz) +ne =nz +nf(x) R5
fnz) =nfzx) VYreZ. e @

RKiZdpy =(m+1+f(m+1)—(m+ fim) (meZ) &L, dy, FEREL %
5 %Y.
OTz=0y=m+1&B\V

fm+1+fm+1)=n(m+1).  en ®
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OCax=d,,y=m&blL

[l dm+m+f(m) | = f(dm) +nm

:m—&—l—?—rf(m—l—l)

mo
fm+1+fm+1))=f(dn)+nm. e ®

®, ©&Y f(dn) +nm=n(m+1)34%bbH
fldn)=n Ym € Z.

fldm) =n, f(d1) =nh5 f(dy) = f(d1) T, f IZHEH (injective) D T. d,,, = dy
ORI EREDOEE m IZHUTEOLODNS, dy), FEBTH 5.

m+ 1+ f(m+1) = (m+ f(m)) = dy

oA
ERAY X5}

f(im)=(dy — 1)m m € 7.
UL7zioT

flx) =cx €L
2185, ZhzxOIZRATBH L

fl@+y+ f(y) = flz) +ny,
f(x+y+cy) = cx+ny,
c(xr+y+cy) =cx+ny,

c(c+ 1)y =ny.

INPEREOER y T UTHDIDODE n=clc+1) DLETHS.
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y=x(x+1)DII37%2EFXT

n <0 D& ST,
n>0Tnxclct+1),ceZ DE&EMILR.
n>0Tn=clc+1),ceZ\{0,-1} D& ERIX f(z) = cx.

PEDZ ens, ffi
e n=00rETEZ" ¢g:Z—>7%
glx+mT)=g(x)+m meZ
TEHEINLIEBLTH L E

f(z)=—z+Tg(x) Vx € Z,

en>0Tn=clc+1),ceZ\{0,-1} D& Z
f(z) =cx Vo € Z
LB,
(TN D & ST,
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%8 69 (Czech-Polish-Slovak 2012)
Find all functions f : R — R satisfying

f@+fy) — flz) = (x+ f(y)* —a*

forall z,y e R

FRE

fla+f) - fl@) = @+ fy)* - *

LE<.

OTax DI A% —f(z) CEEHA DL

F(=f@) + ) = F(=f@) = (= f(@) + fFy)* = f(2)"
Q%S &

F(=f(@) + f W) = (f(@)" +a) = (=f(2) + f(y)" = f(2)*

ANES

F(=f@) + f() = (= f(2) + f()* +a

x ey ANZ DL

fz) =0 Vo cRIBMETHENME, BT f(z) £0 £F 5.
flu) 0272 uDMFET LD 6 v=f(u) £BL.

VEERIZHLTt=(z+v)* —2* 3D s —DOERMAEL DI L ERT.

g(z) = (x+v)t -zt &BLL
g(x) = 4vz® + 6v%x? + 403z + o*

o0 &0 3WERAEDT g(z) =t 11D &d —DODEEKME & .
DTy=u B flr+ fw) - fl@) = (@ + f)* —a? 5

fa+v) = f(z) = (@ +v)* =2,
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VEERIZHLTt=(z+v)* —2* 29T Mz 2 aBLLt=(a+v)* —a?* T
flatv) = fla) =t.

ri=a+v,ra=a BT &IZLD,
Vie RIZHUTt= f(x1) — flag) £725 11,10 DFHET 5.
@Ta=u1x1,y=1x9 LBV f(f(21) — flx2)) = (f(21) = f(22))* +a 25

f)=t*+a VteR.

£oT
fz)=2*+a Vx € R.

DL E
fla+f@) = fl@) =@+ ) +a— (" +a) = @+ f(y)' -2*
720 O D 7.

UL7=h3- T, f#l

a ZEHE LT
o flz)=z*+a vz e R
TH5. [ |
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%8 70 (European Girl’s Mathematical Olympiad 2012)
Find all functions f : R — R such that

flyfx+y)+ f(z)) =4z +2yf(z +y)

forall z,y e R

fRE
flyfx+y)+ f(x) =4z +2yf(x+y) s @
B,
OTy=0&8BE
f(f(x) =4« ©)

Vie RIZXNILTa= % EBLE f(f(x) =t ZS flEes (surjective) TH 5.

fp)=flq)=r&BLL@Tar=pqeBLL f(r)=dp, f(r) =4 D5 p=q L7
DT f XL (injective) TH 5.
U7’ o T, fIZEHS (bijective) TH 5.
@Tz=0&8LL
fr) =0 ®

OTy=-z&BLL
f(=xf(0) + f(2)) = 4o — 22 f(0).

324t (surjective) 2725 f(a) =0 785 a BdH 5.
@5 f(£(0)) =0= f(a). f IEHE (injective) 72525

fo0)=a ®

@Trx=alBWV f(f(a) =4a 25

f(O):4a ...... @
@, @Oroda=aThbba=0%2%55%.
£-oT
f(a):o{:;a:o ...... (*)
NS A RVASH
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OTz =08V f(yf(y) + f(0) =2yf(y) »5
fyfy)=2yfy) e ®

@CTr=1r8<L f(f(1) =4

@Ty—1 5L f(f1)=2f(1) 255 2f(1) =4 Thbb f(1) =2 235,
@Cr=18BL [(J(1) =4 ED5 [(2) =4 2145,
OTy=1—a&BLL

S(A=z)f(1) + f(z)) = 42 +2(1 —z)f(1),
fA1—2)+ f(z)) =4z +4(1 — x),
fRA—z)+ fx)) = 4,
FA—=z)+ f(z) = f(2).

[ IZHGS (injective) 72205 2(1 —z) + f(z) =2 &V

flx) =2z Vx € R.
ZorE
ffle+y)+ f() =2wf(z+y) + f(@) =2yf(z+y) +22) = 4o+ 2y f(z +y)
L) Q%7

Ko THEIE
o f(z)=2x Ve e R
Ths. [ ]
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& 71 (ELMO Shortlist 2012)
Find all functions f : Q — R such that

f@) fy) fle+y) = flzy)(f(z) + f(y)

for all z,y € Q

R
f@fWrfx+y) = flay)(f(@)+ fly) e @
ru<.
OTz=y=028LLk f(0)*=2f(0)2 25
f(0) € {0,2}.

(1) £(0) =2 DA
OTr=0rbBL

FOVFW)?=FO)FO)+ fy)  fwP=2+fy)  (f)+D(fly)—2)=0.

£oT
fly)e{-12} VyeQ.

ZDT M5
fly)x0  VYyeQ

MWZ 5.
V2eQ,zx 112 LT, OCax=2z2y= ﬁ Bz

f(z)f(zfl)f(zz_zl)zf<zz_21)(f<z)+f(zfl>>

ﬂ@i(gf1>€{42}ﬁ#6,:@%ﬁﬁ&bﬁo@@

f(z):f(zi1>:2

DEETHS.

£oT
flx)=2 Ve e Q,z = 1.
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@“C“a::y:%é:33<é:

() rm=r()er (L) arw=s
25 f(1) = 2.
L7zho T
flx)=2 Vx € Q.
NF A=A Ve I
(2) £(0) =0 DBE
DCae=y=1rB07 f2F(2) = f1)-2f1) 25 f(1) =0 £ f(2) =2 &
5.
@) (1) =0 DBE
OTcz=1&8L L

fOfWfA+y) =fWFO+ fy)  fy)?>=0  fly)=0.

XoT
flx)=0 VvV € Q.
ZHhxO %77,
(i) f(2) =2 DBH
S={ze€Q]|f(z)=0},T=Q\S &&LL, 0€5,2¢T.
seESteTDLE, OCTa=sy=tebB\i

) @) f(s+1) = f(st)(f(s) + f(E))

AR

0= f(st)f(2).
ft) 0700 f(st) =03 7Rbb st eS.

WIZ, ti,to €T DL X :—1 ceT THHI LERT.
2

tieSf:“t@‘éé:tlzi—l-tQGSé:iﬁD, tESIFETS.

to 2
- 11 N 1

Bizl="2cT s —cTT
t1 to
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PWNWZ 5.

UEoZ enrs, 0€5,1€T,2€T T,
seStel —= ste s,
hETﬁgETzihheT}%
c=f(1)eBLE1ETHS f(1)X0RDTcx0.
OTy=128LL f(2)f()f(z+1) = f(=)(f(z) + (1) 25

cf (@) f(z+1) = f2)(f(z) +¢).

eT.

£oT

fa)=0 FriE farn=1428 ®

¢
AN ABVASH
ce{-2,-1,1,2} THBHI L &R,
cx -2 LIRETS.
fQ) =2%0E»5@Te=2,8<L
f@):1+‘%?::ct2.

cx 2L fB)x0EZR6@Tr=3,8LL

2

f(3) 1+ 1 2 +c+2

N — —C — — _— =
f@) =1+ ===1+— I+ +5 5

FA)50E»S@Tr=42BL L

1 2
14+ =+ =
£(4) te T2

f(5) =1+ — 14 — 141

C

f(5)=07&95%. OCTar=2,y=3,BLL

e}

F2)f3)f(5) = F(6)(f(2) + f(3)) 0=ﬂ®(&+—)

iofc:—%itﬁf@%:08ta
23T £06=2-3¢T#h5 f(6)=0.
IDZERS, c=—2 TIDeES+A+ce+2=cc+1)+(c+2)>0

3 ~—~— ~—~—
>0 >0

3 2
B f(5) = ST FCT2 Lo rny f(5) =0 FET 5.
C
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U7zDioT f(B) X077 56@Ta=52BLL

£(6) =1+

1+l 2
& C C :1+l

6 _ .,

C c

e}
Q
)
)

OTr=2,y=3&BLL

ZORIEZSETRDE £(2), £3), £(5), f(6) BIRAT 2 &

2(1+2) (1+ L+ 5+ %)
C C C C

d =

2 1

Il
/N

—_

_l_

Lypcr

Cc
22d+1) 2d* +d>+d+1) = 2d" + &®* +d* +d + 1) (2d + 3),

2 (4d* 4+ 4d® 4+ 3d*> + 3d + 1) = 4d° + 8d* + 5d° + 5d° + 5d + 3,

4d° —3d® —d* —d+1=0 (d—1)(d+1)(2d—1) (2d* +d+1) =0.

roT d:il,%bw}c:il,z

CcC =

a)

2 DOBELEDT e {—2,-1,1,2} L3,
c=208E  (f(0)=0,£(2) = 2,f(1) = 2)
@lx

flz)=0 F7iZ f(x—f—l):l—kf(;) ------ (x1)

L85, BAHNRNTET
fln)=2 Vn e N

NrREd., Zhrs, VneNIZHLTneT &7%5. mneNDEZE
mneT 05 ™ ecT &y f<ﬂ>ﬂ;0.
n n

£oT
f(x)x0 VYeeQt. ... ®

zeQt T3, @&V f(x)x0,f(z+1)Xx0E"5 (x1) 25 &

GRS N R TR 1
I R e— 7 T

flx+2)=1+
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L7RY, BANRNIET

j%+ L f(z)
2

fla+n) =1+

2<%>

1
2

ey

ERAYP)5)

ﬂx+m=2—(lyh{%ﬂ@ Vo >0,YneN ...

DRE S,
TmneNab,@@ng%aB<a

o2 (3 e (2).

OTa= %,yzn LB\

AN

a:f(%)a8%®%@5a

c12—<l>n1+—— —a+2 a?t(2"—2a-2-2"=0
2 on ) = =9
(a—2)(a+2") =0.
k5T ace{2-2"}.
_ _on & m — _9n
a=-2 tt?%tf<n> on.
DTnDLIA A% 2n CEZHZILL

flx+2n)=2— <%>2n_1+ J;(Qii)
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:@ﬁ?x:%}tﬁmt

)

m n
f (7 +2n> =2- 2271—1 + 22n

=2- 227}—1 + ;22:
AREY . .
f<%+2n>:2_w_2_n. ...... ®

OTax=2ny= % LB\

f@n)f (%) f (2n + %) = f(2m) (f(?n) +f (%))

Mo
2a-f@n+€%>:2@+ay
£oT
my_2+a _ 4, 2 _ 2 _q__1
f<2n+n>_ « _1+a_1+—2”_1 on—1"- @
©, @O»5
1 1 1 2n—1 -1
2—2271—_1—2—71:1—2”_1 2” +2n —1:()

22—l on=1_1>91490 _1=9>0xE2sZ0fER2#~dIneN
WEFEE LR,
bkﬁofa:2ﬁf(ﬂ):2aa5#6

n

flx) =2 vz € QT.

RIZ, 2e€Qr<0DGLHEEHEZS.
(x1) Tz=—-1BWVk

F(=1)=0 =& f0)=1+

5 f(—1) € {0,-2}.
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S—
~
YaS
|
H
SN—
~
—~
—_
S—
Il
~
~—
|
[\)
SN—
~~
~
—~
[\)
S—
+
~
—~~
|
—_
S—
SN—
[\]
YaS
|
[\
SN—
[\
Il
~
—~
|
[\)
S~—
~~
[\
|
[\)
S—

MH —8=0 RO FENELS.
koT f(-1)=0Th3. OTy=-1,8LL

f@)f(=Df(z-1) = f(=2)(f(z) + f(-1)) 0= f(z)f(-=).

—x>0056 f(—x)=272DT f(z) =0.

£oT
f(z)=0 Va < 0.

MEDZ &5
{2 x>0
f(z) =
0 250
L85,
ZorE, O%liLTIE%ERT.
z,y DL EHL—=Dd2N0DLEIE f(z)f(y) =0, f(xy) = f(0) =0 7Zh
5, OIZEK DD,
&y NEFETROE oy <0 D& EE f(o)f(y) =0, f(zy) = 0 7ZHh
5, OIZEK DD,
r<0,y<0D& & f(z)f(y) =0-0=0, f(x)+ f(y) =0+0=07H»
5, OIXEK DD,
r>0,y>00EFQOELEAHDIZEHIZ8 &R OIXKD LD,

c= 1 OB (f0)=0,f(2) =2,/(1) = 1)

@i
flx)=0 E7& flz+1)=1+f(x) - (x2)

L5, BENRNIET
f(n)=n Vn € Z>g

DrREd., Zhns, VneNIZHLTneT &7%5. mneNDEZE
moneT Ehs ™ cT kv f<ﬂ>ﬂv0.
n n

£oT
flyx0 VvzeQt. . )
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xcQt 9%, @ &Y f(2)=0,flx+1)x07En5 (x2) 2> &
fla+2)=1+flz+1) =141+ f(z) =2+ f(z)
L0, BEFENIRENET
flx+n)=flx)+n Vr=0YneN ...

RE 5.
mneN&d5. OTz= %,y:n LB\

f(%Jrn) x07Zh5

£oT
flx)==z Vz € QF

f(0)=07%E"5
flx)==z Vo € Q>o.

MZ, 2€Qrx<0DEEEEZS.
(x1) Tzx=—-1&8BLL

f(=1)=0 F7&i&x f0)=1+f(-1)

5 f(—1) € {0,—1}.
f(=1)=0mt %
OTy=-128BLL
f@)f(=Df(x-1) = f(=2)(f(z) + f(-1)) 0= f(z)f(-=).

—z>0M56 f(—x)=272DT f(z) =0.
£oT
flx)=0 Va < 0.
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MEDZ EHS

{x x>0

f(z) =
0 250
AR
ZorE, O%NLTIEERT.
z,y DB EHL—=D2N0D L X f(z)f(y) =0, f(xy) = f(0) =0 7Zh
5, OIFEK DD,
&y NEFETROLE oy <0 D& EE f(o)f(y) =0, f(zy) = 0 ZHh
5, OIXEK DD,
r<0,y<0DEEF f(2)f(y)=0-0=0,f(z)+ f(y) =0+0=07»
5, OIZEK DD,
x>0,y >00LZXOOLBEABITLEBIT ay(z +y) L2 D OIFHKD
NLD.
f(-)=-10k=
AR T
f(=n)=—-n Vn € Z>o

PWRESD., N6 Vne NIZRHUT —neT &5,

mneNDEEm, —neT#Er5 T eT kb f<£>ﬁv0.
—Nn —Nn

£oT
f(=2) %0 veeQt. ... o4

@ LhrbEBL
FO X0  WeQtx0

Ens, (32) 5t x0DLE ft+1) = f(t)+ 1B IO, £
F) =1,£(0)=07%m5

fE+)=ft)+1 VteQ

AN RVASH
flz+1) = f(x)+1 T 2 ZA%2 21 CTEEHMAD L f(z—1) = f(z)-1.
ZOREMES &

flx—n)=f(z)—n Ve € Q,Vn € Z>q
PR 5.
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@’Cx:—%, =-ntBWi
F(=2) renf (<2 = n) = fom) (£ (= 22) + f(=m))
i)

P e (=5) —n) =m (7 (=5) )
f(—ﬂ) —n:f(—ﬂ —n) 07D f(—ﬂ) --
£oT

flz)==z Ve e Q,z <0.
r20DLE f(z)=o THoh5H
flx)=x Vo € Q.
ZHIF@Q% 723,
() e=—-10&a  (f(0)=0/(2)=2701)=-1)
@i
flx)=0 & flz+1)=1-f(x) - (x3)
A

F2)=2%07E05 (x3) Ta=22B<E, f(3)=1—f(2)= -1
FB)=—1%07%Mm5 (x3) Ta=3,bE, fA) =1-f(3) =2

f)=fB)=fB)=...... (=-1),f2)=f4)=f(6)=...... (=2).
INS VneNIZRLTneT E,S, VmneNIZHLT % eT &

70 f(%)ﬂvo.

k0T
f(%)ﬁ;(),f(% £ 0EDS, (*3)1»95:%,%&}3@
1315 (3) =1 (-1 (3) - 1(3)
£7, @’C“a:zQ,y:%é:zBL\f:
() (2 =ro(r@+1(3))
259

flx) =0 vz € QT.
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:m%%<tf<%>ﬁ@ﬁ&tbf(%)eRK%E?é
c==-205%  (f(0)=0,f(2)=2f(1)=-2)
@ik

F@)=0 7 ﬂx+U:1—fg) ...... (+4)
Y75,

F2)=2%0%ED5, (M) Tar=2rBL
2

fe=1-2—0  sa=-o.

0€85,1eT,2eT,3€SEh»o

4=2x2eT &b f(4)=0.

6=3x2€S &b f(6)=0.

8=2x4e€T &b f(8) x0.

OTxzDLIr%2, yDrIlr%s -2 CEHEHI/

fR)f(z=2)f(z) = f(2(x = 2))(f(2) + f(x = 2))

ANES

2f(x = 2)f(x) = fF2(x = 2))2+ f(z-2) -
®Tr=6%1t8LL

2f(®f\@ =f@)2+ ()  0=[(8)2+ f(4)

=0
FO) 0D f4) = —2. fd) = 2% 0EMS, (4) Ta =48
<k

xEZZO@k%mGZZO bl R R
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0 xr=3m
flz)=¢ -2 z=3m+1

2 r=3m-+2
752 % mIZET 2 BFENENE TR,
(i) m=0,10&&iF f(0)=0,f(1) =—-2,f(2) =2,f3) =0, f(4) =
—2,f(5) =2 TH DN DLD.
(i) mSk(k21) DEZEHO VD ERET S.
®Tarx=3k+3 BV

2f(3k +1)f(3k +3) = f(2(3k + 1))(2 + f(3k + 1))
»no
2.(=2)- f3k+3) = F2Bk+1))(2+ (=2))  f(3k+3)=0.
OCz=4y=3k+2 LB\~
f(4)f(Bk+2)f(3k +6) = f(4(3k +2))(f(4) + f(3k +2))
»no
(—2)-2- f(3k +6) = f(ABk+2))((=2) +2)  f(3k+6) =0.
®Taz=3k+6 2BV
2f(B3k+4)f(Bk+6) = f(2(3k +4))(2+ f(3k +4))

i
0= F23k+4)(2+ f(3k +4)).

OTz=3k+2,y=2rBV7

fBE+2)f(2)f(Bk+4) = f(2(3k +2))(f(2) + f(3k + 2))
A5
2.2 fBk+4) = fF2Bk+2))(2+2)  f(3k+4) = f(2(3k+2)).

26T T f(3k+2)=250%03k+2cTEH»5203k+2) T ¥
bbb f(2(3k +2)) = 0.
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YoT f(3k+4) = f(2Bk+2) x 025 3k +4€T.
72, 26T #Eh5 2Bk +4) €T £RB5DT

0=f(203k+4))(2+ f(Bk+4))

»5 f(3k+4) = —2.
FB+4)=-2507E75 (+4) To=3k+4 B L

f(3k+4)

= 2.
2

F(3k+5)=1-

DEoZerom=k+1DEEEHHD LD,
(i), (i) METRTD m € Zsg \ZDWTHD LD,
ZDZens, pHEHTpx3256I1Epe T MY ILD.
7z, TIEFHEEEGIZBELUTHLTWSE NS, myn e N 3 DK TR WA
518 2 e T3 hbb f (L) x0THE.
3mn DGHEEEZD.
3|m, ged(m,n) =10 &, m=3"m' keN,3{m B

m _ 3w/
n n

/
3tntc ™ er3kesErs o3k, L cg
n n n
m —_—
FRkIZ, 3|n, ged(m,n)=10& &, n=3k/ keN,3¢tn BL

m _ _m
n 3k:n/'

gr €T eBET 5L 8 = - eTeny 3 e SEFMTHM5,
7

L ecscas.

3

3tmcer L egprps m 1 Mg

n 3k n 3k n

m —
toTf <7> —0.
m,n € NH 3 DIEHTHENESIE | (%) 0 Th o 7= EURI 22 (i %
HAD.
3t mnDEE3|m+2n £721E 3|m+n DD LD,
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m=3qp+r, rn e{-1,1},n=3q+ry roc{-1,1}, 1,2 € Z
EMTB.
rm=roD&E m+2n=3(q1+2¢+7r)=0 (mod 3).
rIxre DEEr +ro=0725m+n=3(q1 +¢) =0 (mod 3).
m,n € N, ged(m,n) =1,31 mn &3 5.
3lm+2n D& E
@Tmz€%+2t3<t

()7 (B52) =5 (0 2) (20 ()

3|m+2n &b f(%%) —0EMS

o) eer(2)) =0

2.ﬁ)#0
3

%ET,QETJ:V) 2-%6Tf575w3f
;of2+f(%):07b>5f(%>=—2>&f%

—
S

3m4+ndDeE
OTy=1&8LE
f@) ) f(z+1) = flz)(f(z) + f(1)),
=2f(z)f(z+1) = f(z)(f(z) - 2).

:@ﬁfx:€%88<&

=2 ()1 () =1 () (1 () —2)
F() w0, () —omms p () =2 55,
WIZEDEHEDY X0 f DA,
(¥4) Tx=-1&BW\k

f(-1)=0 %7z f(o)zl_f(;l)

M5 f(—1) € {0,2) &% 5.
f(-=)=0mD&Z
m,n €N, 3{mn £95.
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—165’,%ETf:“?b‘%—%:(—1)-%65@‘7&‘2’3%]”(—%):0.
£oT
f(z)=0 sz—%,%é@ﬂ?ﬂ(mn. ------ ®
acN&LT, OQCax=-3a,y=18W\/
f(=3a) f(1)f(=3a+1) = f(3a)(f(—=3a) + f(1))

ANY
—2f(=3a)f(=3a+1) = f(=3a)(f(=3a) - 2).

a>07%51E, @75 f(-3a+1)=075»5 f(-3a)(f(—3a) —2) = 0.
£oT
f(=3a)€{0,2y. e

AEOEDEIE & = ‘% % € Q" 3|p, ged(p,q) =1 IR LT

p=3%,31p, keN.

£BX.
@"C“x:—?;kp',y:% EHLlE

() s (S ) (1)

@’Gwz—3k~2p',y=2Lq Bl

@n5

k . o
(st g) = () -

Zrs, @, @ OLLIF0 LS.
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E-oT

_3%/)_ - (_3%/)__ (i)

f( ) =0xriEy ) =-r(5)
_3kp’)_ . <_M>__ <L>

f( ) =0xriy p =1 {5 )

3|p+2q0)<‘:%f(%> :—2@;)&%(%) —2 L%,

3\p+q0)c‘:%f<%) —2Th3.

L7=hisT, f (%) vf (2%) DB L H—DIE 2 T, f(—3a) € {0,2}
Eh

ko
f (— 3qp ) =03abb

f <—§) =0 V% €Q".3|p, ged(p,g) =1 oo (E]

TRIFTERR S0,

xz—%%é@*ﬁ\q, ged(p,q) =1 DL &

OTy= % Lplr

1@ (2)f(z+2) =) (f@)+ 7 (L))
O»5 f(%) =0T f(1)=-2%07%Em5 f(z)=0.
£oT

f(z)=0 VzxeQ,z<0.

g:Q o RERDESZEHTS. 2L, p&qgdHEWIEELT 3.

0 3|pq
g<§)= -2 3|p+2q 3fpg
2 3lp+a, 31pg
rBLlL
f(@{g(m) x>0
0 x Z0.
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AR

ZorE, O%liTIE%2RT.

z,y DL EHL—=D2N0DLEIE f(z)f(y) =0, f(xy) = f(0) =0 7=Zh»
5, OIZEK DD,

&y NEFETROE 2y <0 D& EE f(o)f(y) =0, f(zy) = 0 7ZHh
5, QIO D.

r<0,y<0D& & f(z)f(y) =0-0=0, f(x)+ f(y) =0+0=07H»
5, OIXEK DD,

r>0,y>0DLEOMPEHILDI L ERT.

p=hoy =2 ged(pig) =1, (L €QF (1=1,2,3,4) £ 9 5.
1 2 i

x>0y>00D&& f(x)=g(x), f(y) = g(y) T g(x) DMEIFIRD & 51Tk

E5DTH-T=.

(D3mq®8%g(%):0
GD3fp%3m+QQ®t%g<§>=—2

am3+p%3m+q®z%g(§):2

© a,y D—2H (I) BT s DA (I1) B (1) Boss
xyz%fi%%%ﬁﬁﬂ?ét(DﬂK@é#%f@m:O
F@)fly) =0 THo =0 5D Y L.

®© wzy NIz (1) BogGsE

flz) = fly) =0 2 SORM LD,

O x,y eIz (1) BoGs

. +
31 pigi, 3| pi + 2q; (z:1,2)’C“x+y:M.

q142
(P1g2 +p2q1) + q1q2 = (p1 +2q1)q2 + (P2 +2¢2)q1 —3q1g2 =0 (mod 3),
P1g2 +p2qi = —qig2 Z0  (mod 3), g1g2 Z0 (mod 3)

Zho x4y ZBENABTRST L (D) Bens. £oT f(x+y) =2

TY = PiP2 -
q192

p1p2 + 2q1q2
= (p1 4+ 2q1)(p2 + 292) — 2(p1 + 2¢1)q2 — 2(p2 + 2¢2)q1 + 6¢1¢2
=0 (mod 3),
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pip2 Z0 (mod 3), gig2 #0 (mod 3)

o vy 2B ETCERT L (D) Be 5. £oT fay) = —2.
L7235 TC, QD&M AleH 827, OIFKD D,
© wz,y MEbIT (1) BoGHE

31 pigi,3|pi+a (i=1,2)fx+y:w.

q192
(p1g2 + p2q1) +2q192 = (p1 + q1)g2 + (P2 + ¢2)g1 =0 (mod 3),

P12 +p2q1 = —2q1q2 #0 (mod 3), gig2 Z0 (mod 3)

Eho r+y 2ERABTETE () Mekd, £oT flazty) = -2

TY = PiP2 - gt
4192

p1p2 + 29192
=P1+aq)p2+a92)— P1+aq)e2 — P2+ 2)q1 + 3192
=0 (mod 3),

pip2 Z0 (mod 3), gigo Z0 (mod 3)

RIS oy BEERABRTERTE 1) Meks. £oT flay) = —2.
L7zdioT, QDN FHiled -8 270, OIFKDD.

© z,y O—2h () BT Dh (1) BoLs

x A (I1) BTy »s (D) e UTH— M2 Kb,

Zoks, fr)+ fly) =(-2)+2=0.

+
31 piar, 31 paae, 3|p1+2aq1, 3|p2 + g Ty = TR

q1492

p1g2 +p2q1 = (1 +2q1)q2 + (P2 + ¢2)¢1 —3q1g2 =0 (mod 3),

q1g2 Z0 (mod 3) 7256 x +y 2B TERT L () BlEekd. ko

T f(z+y) =0.
ULz oT, QOEN, FHilk 0 27xb, ORI,
f-l)=2mr =

—1eT T, TIIEHEFEIZBEALUTHUTWA 15, m,n € N» 3 O TH
WasiE T erThoT, — 2 =(-1)- D cTshbb f (_ﬂ> 0
n n n n
Ths.
3mn DGEEZEZD.
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3|m, ged(m,n) =10 &, m=3"m' keN 3{m &L

m _ 3w/

n n

/
BTn’G—%eT,B’“eSf:“fPB—%:gk.(_ﬂ)ES_

m\ _
FfRIZ, 3|n, ged(m,n) =10&E, n=3k/ keN,3¢tn BL

. m _ __m
n RLT
%;eTt&ﬁ?é&3k:—%—ETtEDSkeSK%ET5#&
3k
Lecscns.
3
. _m 1 s . mo 1 m
3¢{mT n,eﬂ3k68tﬁb ; o < W)GS

JZ’)'Cf(—%) —0.
7nn€N#3®Pﬁf&V&bif(~—>#0(%oﬁ#ﬁ%%&m
EHNRD.
3tmnDEE 3 (—mnZ06 3] —m+2n £72E 3] —m+n KD
ASN
m,n € N, ged(m,n) =1, 34 mn &9 5.
3| —m+2nDEE
'G‘x:—%—I-Z LBl

2 () () =1 ( )(2+f( )

w—m+m;bf(m+mw 072%

£z =) (“f(%)):‘l
Mo cT9eT kY 2-ﬂeT7‘:“7b>6f<2-ﬂ)ﬂ;o.
n n n
;ofz+fQ%2>:o#gf(%?):—z%%é.
3| —m+nbdeE
OTy=1,tBLL

) f)f(z+1) = f(o)(f(z) + f(1)),
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0 3|pq
9(%)2 -2 3lp+2q, 3t pq

2 3lp+aq, 31pg
Bl

flx)=g(x) VreQ
@z, (f(-1)=0D & ELHRKIIRES.)

g: Qo RZEZRDEDIIZEHETS. /272U, pk qldHWIIHEL TS,

0 3| pq

=43—2 3|p+2q 3| pg

2 3lp+q, 31pg
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A& 72 (Austrian Federal Competition for Advanced Student 2012)
Determine all functions f : Z — Z satisfying the following property:
For each pair of integers m and n (not necessarily distinct), ged(m,n) divides f(m)+
F(n).
Note : If m,n € Z, gecd(m,n) = ged(|m|,|n|) and ged(m,0) =m

W god(m,n)| f(m) + fn) e @
LE<.
OTm=0&BW= ged(0,n)|f(0)+ f(n) 5

n|fO)+f(n). e )

@Tn=0&BW\=0[2f(0) 5 f(0)=0.
IhEMES L@IF
n|f(n)

5.
Wz
f(n) = ng(n).

772U, gl g:Z —Z 7 50HLd 5.

ZorE, Ok ged(m,n)|mg(m) +ng(n) &35, ged(m,n)|m, ged(m,n)|n &
b ged(m,n) | mg(m) + ng(n) IZH IO LD,

U 7208 o TR

g% g: 7 —7 5B LT
e f(n)=ng(n)
Thb. [ ]
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& 73 (IMO 2012)
Find all functions f : Z — Z such that, for all integers a, b, ¢ that satisfy a+b+c = 0,
the following equality holds:

fla)® + f(0)* + f(c)* = 2f(a) f(b) + 2f(b) f(c) + 2f(c) f(a)
(Here Z denotes the set of integers.)
BRE at+btc=00DCZ
f@)? + £(0)* + f(e)* = 2f(a) f(b) + 2f (D) f(c) + 2f(c) f(a) ~  ~-o @

ru<.
a=b=c=02BL O30 =6f(0)2 %555 f(0)

=0%15.
c=028LL, a+b=0DLEQIX f(a)? + f(b)? = 2f(a)f(b)

bR AN YA

ERAY 5R5)

Y0 fIMERERTH S,
c=—(a+b) ZOITRALE

f(@)? + f(0)* + fla+b)* = 2f(a) f(b) + 2f (D) f(a +b) + 2f(a+b) f(a)
i
F(@)? + f(0)* + fla+0)* =2f(a) f(b) +2(f(a) + f(b)) fa+b)  Va,beZ
INEERT B
(f(a) = F(0))* + fla+b)* =2(f(a) + f(b)) fla+b)  VabeZ. — ----- ©)
@Tb=a kB f(20)? = 4f(a) f(2a) 75
fQ2a) €{0,4f(a)}. e ®

®@CTa=1&8LL
f@efo4r@y. ®
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(1) f(2) =0 DL
@Tb=2¥rB Y

fla)? + fla+2)* =2f(a)f(a+2)  (fla+2) - f(a))®=0.

£oT
fla+2) = f(a) Va € Z.

f(z) ZEEIA 2 OB L 72205
a PEED L Z f(a) = f(0) =0.

a MEBD L Z fla) = f(1)(= k).
FebdrlkeZzEBe LT

0 nlTMEEK
o
E n 3@

LB,
N =D L 2 Yl IR AT =
{f(a), £(b), f(e)} = {k. k, k}, {k, k, 0}, {F, 0,0}, {0,0,0}

DEEZONREVNLDNSTHS.
(2) £(2) = 4f(1) DBA
d=f(1) &BLL f(2) =4f(1) =4d 05 f(1) = 12d, f(2) = 22d L7 > T W 5.
HEEHm EZHANT fla) =m?d &KL T 5.
@Tbh=1&8LL

(f(a) = F))* + fla+1)* =2(f(a) + f(1) f(a+ 1),
(m2d —d)* + fla+ 1) =2 (m*d +d) fa+1),
fla+1)>=2(m?+1)df(a+1)+ (m>—1)"d*> =0,
(fla+1) = (m+1)%d) (f(a+1) — (m—1)*d) = 0.

£oT
fla+1) e {(m+1)2d, (m—1)2d} .. @

@Tbh=2t8<L
(f(a) = £(2)* + fla+2)* = 2(f(a) + £(2)) f(a +2),
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(m®d — 4d)° + f(a+2)? = 2 (m?d + 4d) f(a+2),
fla+2)* =2 (m*>+4)df(a+2)+ (m2—4)2d2 =0,
(fla+2)— (m+2)%d) (f(a+2) — (m—2)d) = 0.

£oT
fla+2) € {(m+2)°d, (m—-2)>d} .

f) =12, f(2) =22d EH5@DTa=2m=2, ®Ta=1,m=1¢8BL
f(3) € {9d, d}

5. d=0DLZIFE (1) DEk=0DHEEIIREN1S, MFdx0&7 5.
(7) f(3) =9d D&
TLEZZ()O)K%
f(n)=n?*a

A STD 2 & & BUHIRNE TR T

(i) n=0,1,2,3 D& Z@EFHD 7.

(i) m<k(k23)DEEHYLOLET .
F(k) = k2d DS, @Ta=km=Fk epE

flk+1) e {(k+1)%d, (k—1)*d}.
flk=1)=(k—12d%E»5, ®Ta=k—1m=k—-1¢8BL
f(k+1) e {(k+1)%d, (k—3)%d}.

k=350 (k—1)2d= (k—3)2d%50T f(k+1) = (k+1)2d.
E£oTC, n=k+1DEEEOIFHEDID.
(i), (i) & D FEEDOEE n 12 L TOIRM D L.
neZ,n<0D&EX fHIHEEBTHLILEHVSLE

LIRBIN5
f(n) =n2d Vn € Z.

ZDEE, OWHEONEDZ L ERT.
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at+b+c=00Dk &

a> + b+ = (a+b+c)* —2(ab+ be + ca) = —2(ab + be + ca)

at + b+t = (a®+ 07+ 02)2 —2(a®b? + b*c® + *a?)
= 4(ab+ bc + ca)® — 2 (a®b* + b°c* + *a?)
=4 (a®V® + b + c®a®) + 8abc(a + b+ ¢) — 2 (a®V” + b°* + c*a?)
=2 (a2b2 + b2 + c2a2)

20, OIFY Lo,
(1) f3)=d DG (f(0)=0,f(1)=d, f(2) =4d, f(3) =d.)
®Ta=2¢8LE

f(4) €{0,47(2)} = {0,164}
fB)=diEZro@®Ta=3m=1t8LL
f(4) € {0,4d}.

dx0720 f(4)=0&c7%5.
@Ta=4m=0&BL f(5)=d k5.
®Ta=4m=0&BLL f(6)=4d L7 5.
meZLsy D& E

(0 n =4m

d n=4m-+1
f(n) =
4d n=4m+2

ld n=4m+3

L7252 L% m IZBT BN RNIE TR Y.

9T, MOZLERLTEL,

fla) =m?d B OLDO L &, fla+3) € {(m+1)%d, (m—1)%d}.
@Tb=3&,BLL

(f(a) = F(3))* + fla+3)* = 2(f(a) + f(3))f(a +3),

(m?d —d)* + f(a+3)% =2 (m2d + d) f(a +3),

fla+3)%—2(m?+1)df(a+3)+ (m>—1)"d®> =0,
(f(a+3) — (m+1)%d) (f(a+3) — (m—1)%d) = 0.
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£oT
fla+3)e{(m+1)%d,(m—1)%d}. -

UEMEMN T E D THFAIZAS.
i) m=0972bbn=0,1,2,3 D& EEHLD.
(i) m=1(120)DLEHODLET S L

FAD =0, f(Al+1) = f(4l+3) =d, f(4l +2) = 4d.

a=4+3,m=1LT@%M\5E f(4 +4) € {4d,0}.
a=4l+2,m=2ELTOEMNDE f(4 +4) € {16d,0).
£5T f(4l+4) =0.
a=4+4,m=0LT@EHVSL f(4l+5) =d.
a—A4l+4,m=02LTOEMNB L f(4l+6) = 4d.
a=4+4m=02LTOEHAVSL f(4l+T7)=d.
m=101+1DLEHLRMHLD.

(i), (ii) 2o IEADEBUIN U THE Y LD,

meZm<0IZHLTH

(0 n =4m

d n=4m+1
f(n) =
4d n=4m+ 2

l(d n=4m+3
DEDSEDZ ek, fAMBREKTHS Z L2 HVIIX L.
mezZms-1DLE

f(4m) = f(—4m) =0,
Fldm+1) = f(—4m — 1) = f(4(—m — 1) +3) = d,
fAm+2) = f(=4m —2) = f(4(—m — 1) + 2) = 4d,
fAm+3) = f(—4m —3) = fA(-m—-1)+1)=d

THHENPOADEKHD L ZHKD LD,
£oTmeZizxLT
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0 n =4m

d n=4m-+1

f(n) =

4d n=4m+2

kd n=4m + 3
N AIRVASR
BT 5L

0 n=0 (mod4)
fln)=<d n:#&HK
4d n =2 (mod 4)
IorE, Oy Ieiry.
O fIMEBEETH 05, @& T I L2 REIX L0,
ERZX R

{f(a)v f(b)} = {07 0}7 {d7 d}7 {4d7 4d}
= {0,d},{0,4d}, {d, 4d}

U T@AHD LD Z & & REE &0,

© {f(a), f(0)} ={0,0} D& =

a=0 (mod4),b=0 (mod4) &9 a+b=0 (mod 4) 255 f(a+b) =0.
£ o T@IFE D LD,

© {f(a), f(0)} ={d,d} D& Z

a, b EERED S a+ b IHERTH B,

a+b=0 (mod 4) D& Z fla+b) =0T, @DLEH, HAiALH 0 &4H@IEk
URVASH

a+b=2 (mod4) D& E fla+b)=4d T, @QDLEH, FHHLH 16d> 7D
Ol=95RVASH

© {f(a), f(0)} = {4d,4d} D& =

a=2 (mod4),b=2 (mod4) &9 a+b=0 (mod 4) 255 f(a+b) =0.
KXo T@lERE D 2D,

o {f(a), f0)} = {0,y o

a=0 (mod 4), b IF7E L LTH Mz Kb\,

a+bFFEEZNS fla+b) =d.

@0k, AiBkd 2d* L7 @IEEK Y LD,
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© {f(a), f(b)} ={0,4d} D& Z
a=0 (mod 4),b=2 (mod 4) & ULTH iM% Kb\,
a+b=2 (mod 4) 225 f(a+b) = 4d.
@0n/ld, Ak d 32d% 72 @IEE Y SLD.
© {f(a), f(b)} = {d,4d} DL =Z
a lZFE, b=2 (mod 4) & U TH—#lk% Kb\,
a+bFZFEHEZNS f(a+b) =d.
@D/, e 10d* L7 @IFK Y L.
U72h3 > TR
o keZ%ZEHLLT

0 n lTfEE
o
k nl3&mE

bt
o deZEEHELT
f(n) =n%d Vn e Z
bt
o deZErEHELT
0 n=0 (mod4)
fln)=<d n:&FK
4d n =2 (mod 4)
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&8 74 (IMO Shortlist 2012)
Find all functions f : R — R that satisfy the conditions

f(L+zy) = f(z+y) = f(x)f(y) forall z,y R,

and f(—1) = 0.
(Here Z denotes the set of integers.)

FRE

fA+zy) — flx+y) = f(x)f(y)

EHL.
OTzr=0&BL L

OTr=1y=-128L&0=f(1)f(-1).

F(=1) %0775 f(1) = 0.
INE@IZES & —f(y) = f(0)f(y).
ZORTy=—-1,8LE —f(—1) = f0)f(—1).

F(=1) %0725 £(0) = —1.

c=f(-1)x0&8<.

OTy=-12B0E fl—z)— flz—1)= flx)f(-1) 25

f(U—a) = flz—1) = cf(z).
@TaxDeIls%c+1 CEHEZBAIDL
f(=x) = f(x) = cf(z +1).
@TrDEIA%r+2 CEHESHMAD L
f(—x—=1)— f(x+1) =cf(x + 2).
@TzrDEIA% —x TEHESHAD L
fle+1) = f(-z—1) = cf(-x).
@5 flx+1)=f(—x—1)+cf(—x). TITO®, @%MH> &

flx+1)=fr+1)+cf(x+2)+c(f(x) +cf(x+1)).
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cx 072056

F@+2)+cf(z+1) + f(z) =0.

ZORELRT L L

flx+2)=—cf(x+1)— f(x).

@OTr=0&BLL

MDTax=1&BLL

MDTx=2¢BLL

fA)=—cf3) - f(2)=c"~1

@D Tr=3¢BLL

F(5) = —cf(4) = f(3) = —c(c* = 1) = (=) = =" + 2¢

OTaz=2y=2,8L f(5) - f(4) = f(2)
ZORIZSETRODEZLDERAT S L

—03+20—(02—1):1 S+ —20=0

cx07Eh5ce {1,-2}.
(1) e=10%4  (f(0)=—1,f(1) =0, f(-1)
@l

Lins.
@D TCrxDeIlArrr+]1 TEIHMILL

f(2)=1
f(3)=—c
f4)=c*—1.

f(5) = —c* + 2c.

cle—=1)(c+2)=0.

fle+3)=—=f(x+2)— f(x+1)
=—(=fle+1) - f(z)) - flz+1)

= f(z)

fle+3) = f(z)
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f(z) XA 3 DA TS 5.
OTyDeIrzy+3 TEEHMRALL

f+z(y+3))—f(z+y+3) = f(x)f(y+3)  f(l+x(y+3))—f(z+y) = f(z)f(y).

Q&L T
f(l+z(y+3)) = f(1+zy).

ZORTy=-3BLL
f(1) = f(1-3x) 0= f(1-3x).
1 -3z FITRTOEBIEZMOF505
flx)=0 Vx € R.

ZHIE f(=1) % 0 IZFET 5.
c= 2088  (f(0)=—1,f(1) =0, f(—1) = —2.)

@i
F@) + f@+2)=2f(x+1) e @

LiRb.
ODTynLIr%zy+2 TEEHMZIDL

fA+ay+1) - flz+y+1)=f)fly+1) - ®
ODTynLIr%2y+2 TEEHMIDL

fA+aly+2) - flz+y+2)=f)fly+2) - ©®
O+©@ 25

fA+ay)+ fA+2y+2) - (flz+y + flz+y+2)
= @) () + [y +2)

@' TCxDLIP%r+y CEHIMRALL

f@ty)+fle+y+2)=2f(x+y+1),

@ 15
T+ +2) =2/ +1)
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LB R[S L

fA+zy)+ fA+2(y+2) -2f(r+y+1) =2f(z)f(y +1).

zZ@®% AWz

fAQ4+zy)+ fA+x(y+2) —2f(r+y+1)
=2(f(1+z(y+1) - flx+y+1))

S &
fA+ay)+ fA+ay+2))=2f1+z(y+1)).
Vp,q € R, pqHLT o= 1P 4= 2(;’__;) yH
Loy =p1l+a(y+2) =g 1+ay+1) = 271
L RBHS

ﬂm+f(%—%(p+q> Vp,q €R, p = q.

ZDRFIp=qDEEHSHIZKDILDDT

fo)+ @) =2f (E5L)  wpger
WTpDLIA%E 2P TEHZIMZ, ¢q=01BV
f(2p) + f(0) =2f(p)
inet

ARESY

f(2p) =2f(p) +1

T p,q2ENTN2,2q TEWMZ DL f(2p) + f(29) =2f(p+ q).

% AW
2f(p) +1+2f(g) +1=2f(p+4q)
S &
flo+q) = flp)+ flg) +1
QzHfoTtOrEEHET.

f(@)f(y)

fA+ay) - f(z+y)
fO)+f(zy) + 1= (f(2) + f(y) + 1)

~—~—~
=0

f@w%—f@)—f@)
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£oT
flay) +1=(f@)+ () +1). e ®

gx)=flx)+1 8L, Birznzh
gz+y) =g)+g9y) Ve,yeR @'
g(zy) =g(x)g9(y) Vo,yeR e ®)

s,
@ Ty=zBlLg(2?) =g@@)? 2055
g(z) =20 Vx € R>p.
@ 15 g(—z) = —g(x) VAT, glz —y) = g(x) - g(y) BRI
r>yDEE glx)—gly) =glr—y) 20,70, g I FRIDEEBTHS.
g Fa—Y—DlBARRNZH -T2 5, g(z) = ke &BITS. f(—-1)=-2&D
g(—=1)=—-17Z»6 k=1
FoTyg(x)=a2n56
flx)y=2-1 vV € R.
NEOR- 1

fA+ay)— fr+y)=1+ay—1—(z+y—1)=ay—az—y+1

=(z-1)(y—1)
= f(2)f(y)
7220 OIEE Y ST,
U7-7% > THRIZ
e flx)=2x-1 Vx e R
Thb. [ |
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PS%E 75 (India 2012)

Let f : Z — Z be a function satisfying f(0) = 0, f(1) = 0 and
() flxy) + f(@)f(y) = f(z) + fy)
(it) (f(z —y) = f(0)f(2)f(y) =0

for all x,y € Z, simultaneously.

(a) Find the set of all possible values of the function f.
(b) If f(10) = 0 and f(2) = 0, find the set of all integers n such that f(n) = 0.

i

o

(a) (i) Ce=y=0&EL
FO)+ £(0)* =2£(0)  £(0)* = f(0).

F0) %0755 f(0)=1.
(i) Ty=0rBLL

(f(@) = F(0) f(x) f(0) =0 (f(x) = 1)f(x) = 0.

£-oT, f(x)€{0,1}.

J()=0,f(0)=1725 fld0 1 20T Lan5, O {0,1} TH5.
(b) f(2)=0. f(10) x07%%»5 (a) &b f(10) = 1.

(i) Te=by=2,BLL

F(10) + F(2)f(5) = F@) + f(5)  f(5) =1L
() Tax=2y=2¢HLk
F@)+f2?=2f2)  f(4)=0.
(i) Ca=5y=32BL
f2)=f0)fG)fB)=0  (=1)-1-fB)=0  f3)=0.
() Ty=5rBLY
f(5x) + f(x)f(5) = f(z) + f(5)  f(Bx) + f(x) — f(z) + 1.

£oT
f(bx) =1 Ve € Z
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Y0, s N5 OEMOLE f(r)=1245.

1 =0 (mod 5)
o]
0 z#0 (mod 5)

LB ERT.
xZ0 (modb) &9dDd&ax=5q+r, 1=r<4qrecZ&nMrts.
(ii) Cx=5q+r,y=>5qg B &
(fr) =1 fGg+7) f(5q) =0 (f(r) = 1)f(5g+r)=0.
=1
£ f(1)=f(2)=f3)=f(4)=0THo7m6 f(r)=07DT f(5¢+r)=0.

ERZY2R)
f(z)=0 x#0 (mod 5).

U5 T f(n) x0&7%% n DEEIE {n|n=>5¢qeZ} TH5.
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%8 76 (Indonesia 2012)

Let R* be the set of all positive real numbers.Show that ther is no function

f:RT — RT satisfying

f@+y) = f@) + fly) + =

for all positive real numbers z and y.

fiRE :
f(5‘7+y):f($)+f(y)+20—12
e HKL.
_ 1 N
g(x) = f(ac)+—2012 % R RAD] >
g(x +y) =g(z) +9(y)
CEEEES.
[GERAS S EA IO U
g(nz) =ng(x) VneN
MRS,
N = i SUN7~ — i 3
@Tz= - & BN tg(l)—ng<n> AN
1y _ g(1)
o(m)="0
im I _ g ms
n— oo n
. g(1) 1
INeNn>N=—= L2 < o

ZDnIZHLT

2012

1) _ 9(@) 1 1
g<n>_ n < 2012 f<n>+2012

1 . 1 .
;of,n>N®t%f<E><OtEDf<g>>0L%ET5
LiinT, Q&HikT &> BB f: R - R IZFE LA
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& 77 (IMO Training Camp 2012)
Let f: R — R be a function such that

flae+y+ay) = flx)+ fly) + flzy)
for all =,y € R. Prove that f satisfies
fl+y)= 1)+ f(y)

for all z,y € R.

R
f@tytay)=f@) +fy)+flay) e ®
B<.
OTrx=y=028B7% f(0)=3f(0) »5 f(0)=
OTy=-12BWEk f(-1) = f(z) + f(- )+f( )ﬁ‘gf(—w)z—f(fﬂ)?i@@
f(z) 3B TH 5.
rx—lyx—-1&75.

OTyDEIs% +1f%%@x5a

fatn) =f@+f (A7) +F (). e ®

S : _ y S % >
OTynEIs% ;:TTL%@K%t

f@—y%=ﬂ@+4«—mil>+f<_;?1)
(@) AR S

fa-y=f@-f (L) - (G2). e ®
@+ »5
fla+y)+ fle—y)=2f(x). @

DTzl yz AR B L f(z+y)+ fly—z)=2f(y).
f(x) \ZA BB D5
fle+y) - fle—y)=2fy). e ®

@+6 n»5
fle+y) = flx)+ fly) Ve,yzx-lLyx-1. .- ®
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TARTD x,y IZD2WT
f@ty)=f@)+fly) e (*)

MDD Z L Z2mRT.
yx0DEEy— 15 1EP5@LD
f)=fA+@w-1))=f)+fly—1)=—f(-1)+ fly—1).

EoT f(—14y) = f(=1) + fly) £%0 (x) o= -1,y %0 DL EKH LD,
FO) =0ED f(—140) = f(=1) + f(0) EDS (x) o= —1,y=0DE& XKD,

UEDZeno x=—-102y MEEDOERD L E (x) DL D LD,
Frz, x Ly ANMZZZLITED, y=—-12D 2 PEEDOFEHDL Z (x) KDY
ASN

EoT, TRTD 2,y IZDWT (%) DK D LD, [ |
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& 78 (IMO Training 2012)
Let R* denote the set of all positive real numbers. Find all functions f : R™ — R

satisfying

f)+ s < L&Y I@ S 5 fe

T y — Tty

Y

for all x,y € R+.

fRE
fo+ s e o
f@  fy s Sty ®
T y — Tty
r <.
Ocy =2 eBvr 2@ < T2 hs ap) < i)
@Tyzxkgmk2ﬁ@52%50#64ﬂ@§f@@.
£-oT
f@z) =4f(x). e ®
AR IRIE T
@) =2"f(z)  WneN ®
BRES.
g@)=£%12ﬁs<a@#6
g(2"x) =2"¢g(x) YvneN ®
NS A VACTE- SN e T PA
g(nz) =ng(z) VYneN ... ®
i U RVASIR S 5 o
@i
9(@)+9(y) 2 g9(=+y) e @'
YEXET N TEEDS
ng(z) = g(nz) VYneN ... @
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NS A RVASS
oMl << b meNEZERE

2"g(x) = g (2"x) é g (nz + (2" —n)x)

U72h 5 T g(nx) = ng(z) THRIFNIER S22,
g(z) 1ZIEINTH S Z L &2RT.

OTy=2x BL2(f(x)+ f(2x)) < f(3x).

gIZHZET L 2(xg(z) + 229(2x)) < 3z9(3z) 15

2(g(x) +29(22)) = 39(3).
g(nz) = ng(x) 2> & 2(g(z) + 4g(z)) < 9g(x) 15
gx) <0 vVzeRt. .
@ @5
g +y)—g(x) =g(y) =0 gz +y) < glx) Va,yeRT.
£oT, g(x) IFIEMINTH 5.

v%e@ IZHRL T, @’G‘x:% rel

o) =ro(2) () S g

n

£-oT
glx) =z9(1) VzeQt. ... ®

Ve € RY 2 LT, 0<p, £ 2 < g, li_>m P = 1i_>m pn = T %723 A B
{pn}, {an} 2L B Y, g1 ZIERMED S

9(pn) 2 9(x) 2 g(an)  Pug(l) 2 g(x) Z gng(1).

n—ookdde
g(x) = xg(1) vz € RT.



£o7C, f1)£07T
f(z) = f(1)z? Vz € RT.

ZorE, a=f1)S0LUT f(z) = ax? HD, @&HirTILERT

2f(z) +2f(y) — f(z +y) = a (22® + 20° — (z +y)?)
=a (az2 +y? — Qxy)
=a(z—y)? 20,

fly)  flx+y)
x Y T4y

Zho®, @ik,

=a(z+y—(z+y) =0

U 7278 o THRIZ
al0%xEHELLT
e f(x)=az? VreR"
Thsb.
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8 79 (Iran TST 2012)
The function f : RZ% — R20 satisfying the following properties for all a,b € R=Y :
a) fla)=0<a=0
b) f(ab) = £(a)f(b)
c) fla+b) < 2max{f(a), f(b)}.
Prove that for all a,b € RZ° we have f(a +b) < f(a) + f(b).

BE XoMEEZRLTHEL.

HE artaxt--+an(meN)Z2HTOMAGDLETH> I T, HEIZT
RT%P> ZTL LK ORADB/NDEMERZUX [logym] THS. 1 EIOEMET, wWEER
BD 2T OMAGDLE TR 5 I T LK > THWA, FHIZFLTHR>ZTLLK5DIE1
RO &3 5.

Bl a1+ as+az+as+as ODEH 3

a1 +as+as+as+as — (a1 +a2)+ (az+as) +as — ((a1 +a2)+ (az+aq)) + a5 —
(((a1 + a2) + (as + aq)) + as)

KW eZZ58, BB R->RMP f(a)+ f(b) = fla+b) 273 &, flar)+
flag) +---+ flam) 2 flar +as+ -+ an) EERRTE72ODR/NDOEEKTH 5.

Bl f(ar) + f(a2) + f(a3) + f(as) + f(as) + f(ag) D¥EH 3 M[H

flar)+ f(az)+ f(a3)+ flas)+ f(as)+ f(as) — f(a1+az)+ flas+as)+ f(as+as) =
flar + az +az +aq) + f(as + ag) = f(a1 + a2 + as + a4 + a5 + ag)

B 0 m=2FDrERWPSPIZEETHS.

1 [T

flar) + faz) + -+ f(am)
= fla1 +az2) + f(az + asa) + - + flagr—1 + agr)
J (1) + f(ba) + -+ f(bor—1)

e

2k—1

L 2k/2 =2k fllizTE SN S, KEIT f(ag +as+ - +ag) ETES.
® 2P<mZ2M DL EFk+1=log,m] ETHZILERT.
2F <m S 2ML D X k+ 1 = [logym] MILA ERBET, ay,as,...,any & 28 EHOD
"I—EDUTC 2R HTEIANE L+ 1 BITHRETH 5.
k<logy, <k+1&0 k+1=[log,m].
k=21l oe&EiZk+1ETHY k+1=1logy,m = [log, m]. O
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b) Ta=b=1t8<L f(1)= f(1)>
a) 2o f(1) x072DT f(1) =1.

b) Tb=atBLL f(a?) = f(a)?.
£oT, RiNAYIZ

fa")y=fl@" mneN (%)
DA RVASH
) Tb=a B f(2a) £ 2max{f(a), f(a)} = 2f(a) H*5
fea S2f(@. e ®

a>00)<‘:*a°b)f“b:% LB

Mo . .
f (E) -+ ®
Ym e NIZx LU T
FEM < ®

DD LD Z & 2 BUEERANIE TR Y.
(i)m=1D&&
c) Ca=b=1&BLL
f(2) = 2max{f(1), f(1)} = 2f(1) = 2

AQUNIARVASR
(i) m D& EHRHIDOLT B,
c) Ca=b=2" B
Fm) S 2max{f (2™), f(2™)} =2f (2™) £2- 2™ = 2mFL,
LoT fmtl)S2mtl ) m+1DEEHHY LD,
(i), (i) £V TRTOHAE m DOV TOIZE D 7D,
W22 1 <n<2"reNDe &
fmy<on @

MWD LD T & A RAA TR Y
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)r=10&&1=n<2 &bhn=1L1
f()=17Z256 f(1) <2 -1 I1FHDID.
(i) rAFOEEHHUDEMELT, 2" Sn <27t DL E f(n) S 2n YLD Z
LERT.
n=2"+s&HBLL0Ss<2.
s=0D&EEn=2"HREN6ELD

fn)=f(2) <27 =n.

£o7T, f(n) < 2n i3k H 2D.
1Ss<2neEF 2l Ss<2teBbteN, (1St<r) b b.
e S f(s) < 2s.

£oT

fn) =f(2"+s) = 2max{f(2"), f(s)}
< 2max {2",2s}

:max{2T+1,4s}.
n<2tl XD ds=4(n—-2")<2n T2 S 2n AR D NEOD S
max{2T+1,4s} < 2n.
U72D35 T f(n) < 2n A3 D 32 D.

(i), () »"521<n<2 reND&Z

fmy<en ®
A RVASR

XoT, VneNDt &

fmy<en ®)

MEOSLDZ & bnb.

c) Mo

fla+b) = 2max{f(a), f(b)} = 2(f(a) + f(b))

AN URVASR

fla+b) < fla)+ f(b) ZRT=DITIE, fla+b) =k(f(a)+ f(b) &2Bk>12&
a, b PEHELEZLE UTFENPELLZ 20 ZIX L.
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y==xlogok—1& y=log,(z+1)DFrI7%%F22%¢, nzt+tapkEnld,
nlogo k — 1> [logy(n+1)] DD LD IZTES.

y=xlogy k-1

y = logy(x + 1)

nlogy k — 1> [logy(n +1)] <= k" > 2Mlos(n+1)]+1

0, nEFpRE LT

s gl -
MDDk SIC L TE B,
PEDZEz2ENT
n k™ n
Fa+b)" 2 S o F (@ +0)7) e @

MDD & &2RT.
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" [f@)" +nf(@)" T (D) + nCaf(a)" 2 f(D)?
e +nCrf (@) f(B) A + f(b)n}

[F(@)™ + f(n)f(@)" 7 £ (b) + f (uC2) f(a)" 2 f(b)?

o f(nCra) ) e f (0]
ﬁ%ﬁ an . 2[1og2(i+1)]+1 F (@™ +na™ b+ ,Coa™ 262 + - + b")
= 2nog2(lﬁm+1 fla+b)").
©®, @5
Flatb)" = Sty (@4 0)) > J((@+0)") = fa+b)"
ERDFIEMEL B.

XoT, flat+b)=k(f(a)+ f) 5B k>1& a,bldFELRVAS
fla+b) < fla)+ f(b)  Va,beR"

NS ARVAS
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$8 1 (Polish Mo Final 2010)
Real number C' > 1lis given. Sequence of positive real numbers ai,as,as,...in

which a; = 1 and ay = 2, satisfy the conditions

Amn = AmQn,

aern § C(am + an)a

for m,n=1,2,3,...

Prove that a, =n forn=1,2,3,...
an = f(n) EBTIXBEBAHEADOMEL 5.

$8% 2 (* Polish Mo Final 2010)

Real number C' > 1is given.
Let f: N — RT be a function satisfying f(1) =1, f(2) = 2 and

f(mn) = f(m)f(n),
flm+n < C(f(m) + f(n))),

for all m,n € N, simultaneously.

Prove that f(n) =n for alln € N.
FRE

f(mn) = f(m)fn) .. @

fmtnSCUm)+f@) e ®

r5<.
FO)=02L f%& f:Zs0— RICHELTEL.

OTm =287 f(2n) = f(n)f(2) 225 f(2n) = 2f(n).
@Tm=nd&L &
f(2n) £2Cf(n)  2f(n) = 2Cf(n).
f(n)y>0&b01=C.

Vni,ng,...,np € NIZXLT

fni+no+---4+ng)=f(ng+ 1 +n2+ -+ +ng_1))
SCOfng)+Cf(ny+ng+ -+ +ng_1)
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f(nk) + C(f(nk_l + (n1 +ng+ -+ nk_z))
(f(nx) + CQf(”k:—ﬂ + C'Qf(m +ng 4+ ng_o)

C(f(ng) + C*f(ng—1) +--- + CF f(ny)

A IA A
Q Q

S
fni+ng+ - 4m) SO(f () + C*f(ng—1) + -+ CFflna).  --ov

O» 5
PROND.

VYm,n € NIZX LT
m:j0+j1n+"'+jrnrv Ogjz én_l(i:()?la-"a?ﬂ)?jrﬁFO
T B.
@DRERZMH > &
f(m) = f(o+jin+--+jmn")
< C ")+ C? (roan™™ ) 4+ C"T £ (o)
= Cf(jr) (0") + C?f(jr—1) (W"71) + -+ + C" f (o)
= Cf(Gr)f () + C2f(Gre1)f ()"~ 4+ + C™FL (o).

ko = C-max{f(0), f(1),..., f(n—1)} £BLLO=ky Sha < < ko
0<ji Sn—1%25 Cf(j) < k.

£oT
CfGe)f () + Cf(Graa) f (0) ™" 4+ O f(jo)
Sk (f() +CF ) 4 C7)
< ko (r + 1) max{f(n), C}",
£oT

fim) € kn(r + 1) max{f(n),C}". ...
Grx0&D . 2105
m=jo+jn+--+jn" Zjn" 2n".
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XoTmzZ2n" DOV DO0N5

< logm.
— logn
Ihzffise, >00D& &
logm
(r+1)a" = <logm - 1) g logn
logn
N AIRVASH
£oT
logm
(r + 1) max{f(n),c}" = (% + 1) max{ f(n),C} logn ... ®
@r@®THS &
logm
logm 1
< ogn
o) < o (JEM 1) max{ (o), €} 87
moDEIA%Eml(teN) TEZHZRASL
. logm?
logm EEP—
ty < logm. log n
f(m):kn( Tog n +1) max{f(n),C} ,
logm

f(m)" < ky (t- llzggzl + 1) max{f(n),C}t. logn

tRME LD L
logm
logm Toon
< - i~ Ribd ogn
flm) = \/t ky Tog 1 + ky, max{f(n),C} .
b»mk?%k@&%ml%m4%m%1ﬁ#6
logn

logm

f(m) € max{f(n),C} logn .

f(n) < C %ifir=F n BEREGETHIE, O
1

1 logm \ logm 1
f(m) logm < (C logn ) — ¢ logn
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1
HEBMEO 2 RWTHE D H, Clo8N 1 (n— o0) Zh5

1
fim)logm <1 $7mbb f(m) <1

INiE f(2)=21ZFET 5.
L7eDioT, 5 ng e NPEELT, fEED n 2 no (I LT f(n) > C BEDILD.
EoTnzZng D& E max{f(n),C} = f(n) TOLD

1

1 logm \ logm 1
f(m) logm < (f(n) logn ) = f(n) logn VYm,Vn = ng.

m=ng&35& (m&nitANMZ5)

1 1
f(m)logm > f(pylogn vy vim > n,

NS IRVASTICT e

1 1
f(m)logm — f(nylogn vy > ng vn 2 ng

1
2135, ZORTn=mny &BE, D= f(ny) 10870 >0rBLeL

1
fm)ylogm —p  ym=n,

f(m) = D'eem Vm 2 ng.
Vn = ng 12X LT
£(2n) = D'og2n — plog2 . plogn _ plog2 ¢
7250, f(2n) = f(n)(>0) 2> &
D*¢?=1 D=e.

£oT



f(mn)

fm)f(n) Tm2ng £FB& mn2Zng 0o, Ol &

mn =mf(n)

f(n)=n  V¥neN.

300



&8 80 (Iran TST 2012)
Let g(z) be a polynomial of degree at least 2 with all of its coefficients positive.
Find all functions f : Rt — R™ such that

f(f(@)+g(x) +2y) = f(z) +g(x) + 2f(y) Vo,y e RT

f(f (@) +g(x) +2y) = f(z) +g(x) +2f(y) Ve,yeRT ... @

eHL.

c>0& M>0MPFELT, Vo> MIZHUT f(x+c) = fx)+c DY ILDI L %
~Y.

gla)>0&Rb5a>0%128%. g 3ARTEILZVDS, g(b) > f(a)+ g(a) ZiiTz
T b AFET B, f(B) >0 Eh 5

fO) +g(b) >gb) > fla) + g(a). e ®
OTr=abbBLL
f(fla) +g(a) +2y) = f(a) + g(a) +2f(y). - ®
OTrz=biBL
FFO) +9(0) +2y) = f(b) +9(b) +2f(y). oo @

ORI OR
F(F(0) +9(b) +2y) — f(f(a) + g(a) + 2y) = f(b) +9(b) — f(a) — g(a).
c=f()+g(b) — fla) — gla) LBLE, @5 c>0T
FUFO) +9(0) +2y) = f(f(a) + g(a) + 2y) + ¢,
f@y+ f(a) +g(a) +¢) = fQy+ fa) + g(a)) +c.

r=2y+ fla) +gla) 2B L flz+c) = f(z) +c
M= f(a)+g(a)(>0) &EL &, Ve > MIZHLUT f(r+c¢) = f(z)+c
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g(x) 1& (0,00) THMBAEKZ DS zg > M IZHUT g(zg + ¢) — g(wo) > 072025
d=g(xo+c)—g(zo) (>0) &L &

fr+d)=f(r)+d Vr >0

MEONEDZ & %R,
OTax=x9g+ceBLL

f(f(@o+ ) + g(wo + ¢) +2y) = fzo + ) + g(wo + ¢) + 2f(y),

f(f(@o) + e+ g(xo + ¢) + 2y) = f(xo) + ¢+ g(wo + ¢) +2f(y).
y>M &35k

f(f(xo) + g(wo + ¢) +2y) + ¢ = flxo) + ¢+ g(zo + ¢) + 2f(y)

AN
F(f(xo) + glzo +¢) +2y) = flxo) + g(zo +¢) +2f(y). - ®

OTr=a29 BLL
f(f(xo) +g(wo) +2y) = f(xo) + g(x0) +2f(y). -+ ®

® -0 »5

f(f(zo) + g(mo +¢) +2y) — f(f(xo) + g(@0) + 2y) = g(x0 + ¢) — g(x0) = d,

f(f (o) + g(wo) +d) + 2y) — f(f(w0) + g(x0) + 2y) = g(z0 + ¢) — g(x0) = d.
z = f(zo) + g(x0) + 2y, N = f(z0) + g(x0) LB &

f(z+d)— f(z)=d Vz > N.
z2>NDEZE
flz+2d) — f(2) = f(z+2d) — f(z+d) + f(z+d) - f(z) =d +d =2d

N
f(z+2d)=f(z)+2d VYz>N. ... @

Vr > 0128 ULT, f(X)4+9(X)>g(X)>NDPEDILDEIIZX 2R RES LS.
OTz=X,y=r+d&Blk

FFX) +gX)+2r+2d) = f(X) 4+ g(X)+2f(r+d). -
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OTzr=X,y=r B &
FUFX) +9(X) +2r) = f(X) +9(X) +2f(r). e ©
®-©n»5
FUX) +9(X) +2r +2d) = f(f(X) +9(X) +2r) = 2f(r + d) = 2f(r).

fX)+g(X)+2r>N+2r>N7ERS, @Qffise

FUFX) +9(X) +2r +2d) = f(f(X) +9(X) +2r) =2d
ERBEND

20 =2f(r +d) — 2f(r) THbE fr+d) =f(r)+d
2135,
5 %K [k, 00) 1 {g(z +¢) — g(z) |z > M} & Eh5.

(x4c) — 2! (1 € N) ZBEEPEDZHAEH S, g(x+c)—g(z) BEEEAEDZIH
KT, AL 1IRATHS. G(x) = glx+c¢)—g(z) 1& (0, 00) THEMBAETZ A
O, XX k=GM+1) L [k,o00) 1F {G(x) =g(z+c)—g(x) |z > M}
ICEEND.

Vd 2 k2N UT, [k,00) € {g(z+c)—g(z) |z > M} 255 d = g(xo+c)—g(z0),x0 > M
L5 xg > M WBHENS

fr+d)=f(r)+d NdZkVr>0 .. @)
DO, Bl d=k DL Z4Ex 5L
fir+k)=f(r)+k Vr >0
DO NLODS, Vp>0IZLTrD&E Il b2 r+p CESHID L
fr+p+k)=f(r+p)+k
DEOND., p+k>EkERS, @25 fr+p+k)=f(r)+p+k THZEMHS &

fr)+p+k=f(r+p) +k

fr+p)=fr)+p VrpeRt. ... ®
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ro >0 ZEEOBE UTHEET S, @Tr=ry 2B L
f(ro+p) = f(ro) +p=p+ro+ f(ro) —ro.
z=p+ro,a=f(ro) —ry LB &
flx)=z+a Va > ro.
reRT ZEEL, y>rohD f(z)+g(x)+2y >r 2723 L5y 2L2LOM5
f(f (@) +g(x) +2y) = f(z) + g(z) + 2(y + a).

fz)+g(z)+2y>rg 205

f@)+g(z)+2y+a=f(z)+g(x)+2(y+a) a=0.
£oT
(a=)f(ro) —ro =10
ro > 0 IIMEREDOETH 721105
f(x)=2  VzeR".
INTO %G
£ o THRIX
e f(z)=2 VaxeRT
Ths. [ |
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%8 81 (Japan 2012)
Find all functions f : R — R such that

f(f@+y)f(z—y)=2"—yf(y)

for all z,y € R.

FRE

ff(z+y)flz—y) =2 —yfy)

eHL.

OTr=y=0&8LL
OTz=0&6LL
@Ty=f02eBE, @%ff>L
f (f (£(0)%) f(f(0)2)) = —f(0)* £ (f(0)?)

——

=0

OTy=a 2B

f(f(2w)f(0))x2wf(x) f0)=a® —xf(z)  0=2®—zf(x)
~~

=0

£oT
z? —zf(x) =0.

rx0DEE f(r)=x &b, f(0)=07=Z25
flx)==x Vx € R.

ZDrE, OOKYE, Ak 2 —y?2 &R EL.

X o THRIZ
o f(zx)==x Vx € R
TH5.
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%8 82 (Kazakhstan 2012)
Let f: R — R be a function such that

f@f(y) = yf(x)

for any x,y are real numbers. Prove that

f(=z) = —f(z)
for all real number z.
fRE
ffw)=yflx) ®
LB,

OTr=y=0&28L& f(0)=0.
flz) =01xOQ%#HZL, 20L& f(—x) = —f(x) FEOVLDDTLT f(x) Z0 &
5.
L7edioT, flxo) 08745 9 € RDPEILET S.
flp)=flg)=r &9 5.
OCTax=xp,y=p B
f(@of(p)) =pf(xo)  flrzo) =pf(zo).
OTar=axp,y=p &BL L
f(xof(q)) = af(x0) f(rzo) = qf (o).

EoTpf(ro = qf(xvo WD ILD f(xg) 07206 p=q%f8d. LENoT fI3HS
(injection) TH 5.
DTr=y=1¥8<E J(f(1) = F(1)
[ IZHST (injection) 72225 f(1) = 1.
OTa=1&6L f(fly) =yfQ1) TmbL

@75 f 124t (surjective) TH D Z Libnb.
@Ty=—12B<E f(f(=1) = —1.
u=f(-1) &BL & f(u) =—-1.
OTz=uy=-12BuV
fluf(=1))=—=f(u)  f(u®)=1=f(1)
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5 f(u?) = f(1) D s2H, f IZHE (injection) 22D T u? = 1.
FoTue{l, -1}

(1) u=10D54
flu)==1THo7=hs f1)=—-1&%25H, Tk f1)=1TFET5.
2) u=10854

flu) =175 f(-1)= -1
OTar=-1&BWVW

25 f(=f(y) = F(f(=y)).
fIFHBS (injection) 72226 —f(y) = f(—y) Yy eRThbb

f(—x)=—f(z) VzeR

AR
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MR8 83 (Kyrgyzstan 2012)
Find all functions f : R — R such that

f(f@)?+ fy) =2f(z) +y, Yo,y €R

fRE
F(f@?+fw) =afx)+y e ®
Y51,
OTczr=1&BLL
FF*+ f(y) = f(1) + .
VEeE RIZNULTy =t—f(1) &BLE f(fQ)?*+ fly) =t &0, fldes
(surjective) TH 5.
£oT, flxzg) =0,7%5 20 € RDPFIET S.
OTax=x9 B
f(fy)=y vyekR. .. @
fp)=flg=r&d5.
@Ty=p&bLL
f(fp)=p  flr)=p
@Ty=qiBLL
f(fl@)=qa [f(r)=q
FoTp=q&dn56, fIEHESH (injective) TH 5.
OTr=y=0&8L&
F(f(0)%+ f(0)) =0 = f(xo).
[ IZHE (injective) 72225
fO?+f0) =20 ®

OTy=—af(x) £BLL

f(f(@)* + f(=f(2))) = 0= f(xo).
[ IZHET (injective) 72225
f(@)? + f(=f(x)) = zo.
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ZORTor=29 2BLE f(20)? + f(—f(x0)) = 20 25

f(0) = =o.
®, @5 f(0)=0,z9 = 0.
£oT
fx)=0<=2z=0
NWZ 5.

OTyneZsr% yf(y) CEHESHWR S L

Ff@)?+ fuf(y) = 2 f(z) +yf(y).
OTazlyZANMEZIEL

FFW)? + flaf(2) = yf(y) +af(@).
©®©, @O»5

Ff@)?+ fluf(y) = f (F)* + fzf(2))).

fIXHEST (injective) 7270 &
F@)? + fuf () = f(y)* + fzf(x)).

®Ty=0rbBLL
f(x)? = flzf(x)).

[ 1E25 (surjective) 7225,
VEERIZHULT f(s)=t &2 seRMPH5.
@Tz=f(s) &BLL

£oT, fA)2 =205
f(t) e {t,—t} vt € R.

WEfoTOEEZET L
f(E@+ ) =af(x)+y
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v755. @ Ty=0&BLE

f@®) =af(x). o
DTz Delh% —x TEZHZIEL
f(2?) =—af(-2). ®
@, @25 zf(x) = —zf(—x).
rx0DEE f(—x)=—f(v).
£(0) =0 745
f(—x) = —f(z) VeeR. . &)

f(z) 3B TH 5.
@75 f(1) € {1,-1) ROTHER T ET 5.

(1) f(1)=1DHB4E
flo)=—c &5 c(>0) BFELZET S.
O Taz=cy=1807 f(flc)*+ f(1) =cf(c)+ 125

f(02+1):—02—|—1.

W&y f(F+1)e{+1,—(*+1)}TE+1x-2+1, -2-1x-2+1
RO FEVED S.
£oT, fle)=—c &5 c(>0) FFELZVDS

flz)==z Vo > 0.

r<0DEEFOBEMS &

7, f0)=07EM5
flz)==x Ve e R
235, ZorE, O%=T.
2) f(1) = -1 DEH
fld)=d ¥7%5 d(>0) BWFEHELZET 5.
O Tr=dy=1&BW07% f(f(d)?+ f(1) =df(d)+1»5

f(d?—1)=—d*+1.

310



W&y f(@®>-1)e{d-1,—(®-1)} TP -1xd>+1,
MEFEMREL B,
$oT, f(d)=d¥%dd(>0) FFEELEVDS

flx)=—z Vo > 0.

r<0DEEFOBEMS &

7z, f(0)=07%="5
f(z) =—x Ve e R

2185, ZorE, Oxhkd.

U723 TR

&

flx)==z Ve e R

flx)=—zx Ve e R

TH5.
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%8 84 (Macedonia 2012)
Find all functions f : R — Z which satisfy the conditions:

flx+y) < fl@)+ fy)
f(f(x)) = =] +2

fRE
flz+y) < fl@)+ fy)
f(f(z)) = [z] +2

@Tz=0tbLL
F(£(0)) = 2.

@Tax DI r% f(r) CEHESHMAT

ff(f(2) = [f(x)] +2=f(z) +2
——
=|z|+2

AN

f(le) +2) = fz) + 2.
a=f(0),b=f(1) BB &Y
fla) =2.

@CTzx=2mmeZ BLL f2m+2)=f(2m)+ 2.

@Tz=2m+1meZBLL f2m+3)=f2m+1)+2.

£oT

f@2m)=2m+a, f2m+1) =2m+b.

OTr=y=028BW%x f(0) <2f(0) 25 f(0) > 0.
£oT
a> 0.

OTr=y=12B07 f(2) <2f(1) 5
2+a < 2b.

(1) a BMELDGE
f@2m)=2m+a 5 f(a) =a+a=2a.
@ &b fla)=27E0562=2aD5a=1.
INREPMEBTH D Z L ITFET 5.
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(2) a BHFBDGE
fCm+1)=2m+b=02m+1)+b—-155

fla)=a+0b—-1.

@ &b fla)=27E052=a+b—1.

E-oT
a+b=3. ...
@.005
24+a<23—a) a<%.
@iba>0ﬁ®?0<a<%.

a I3 a=1%258%. XoTb=2.
Lo T, ®&b

f@2m)=2m+1, fCm+1)=2m+2=2m+1)+1

CRBENS
fx)=z+1 NzezZ. .. ®

|z] + 2 KRR S, @&
flle] +2) = () +2)+1=|z] +3. ... ©

@, @&
flz)+2=|z]+3

ERAY 2R
flz)=]z]+1 VzeR

:@t%,x:y:v%tB<tf@%:ﬂm:f<%>:{%J+1:L
f@+y)=f)=[1|+1=2=1+1= f(x)+ fly) &% b, OIZKY LZR\.
U7=hio T, R BBIBUIAAE L 72\, ]

[E] R%R fe+y) < f(z)+ f(y) % fle+y) S fz)+ fy) KB ESBMANITRIE
FIES 5.
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%8 85 (* Macedonia 2012)
Find all functions f : R — Z which satisfy the conditions:

flz+y) = flx)+ fly)
f(f(x)) = =] +2

fRE
flz+y) = flx)+ fly)
f(f(z)) = [z] +2

@Ta=0&8L
F(£(0)) = 2.

@Tax DI r% f(r) TEHEHMAD L

ff(f(2) = [f(x)] +2=f(z) +2
——
=|z|+2

AN

f(le) +2) = fz) + 2.
a=f(0),b=f(1) BB &Y
fla) =2.

@CTzx=2mmeZ BLL f2m+2)=f(2m)+ 2.

@Tz=2m+1meZBLL f2m+3)=f2m+1)+2.

£oT

f@2m)=2m+a, f2m+1) =2m+b.

OTr=y=0&8BW%x f(0) <2f(0) 25 f(0) =0.
£-T
a = 0.

OTr=y=12B07 f(2) <2f(1) 5
2+a < 2D.

(1) a BMELDGE
f@2m)=2m+a 5 f(a) =a+a=2a.
@ &b fla)=27E0562=2aD5a=1.
INREPMEBTH D Z L ITFET 5.
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(2) a PEBDOGE
fCGm+1)=2m+b=02m+1)+b—-126

fla)=a+0b-1.

@ &b fla)=27E"52=a+b—1.

£-oT
a+b=3. ...

@, 5

A

24+a<2(3—a) a %

@i©a§0E®T0§a§%.

a lXFTHErSa=1%2K85. koTb=2.
LT, ®&D

f@2m)=2m+1, fCm+1)=2m+2=2m+1)+1

EIRBENDS
fle)=z+1 YeeZ. i

] + 2 IR DS, @&
flle] +2) = (=) +2)+1=|z] +3. .-

@’ ib
flz)+2=|z]+3

ERAYPR5)

flz)=|z|+1 Vz € R.
ZorE, O, @%iETIEERT.
lz] Sz <|z]+ 1|yl Sy<|yl+120 |z|+ |yl Sx+y<|z]+ |y] +2
£oC, x|+ |yl S lr+yl =[z]+ |yl +1 25
fet+y)=lzt+yl+1s [z + |yl +2=|z|+1+[y] +1=f(z)+ f(y)
f(z) (T 5

fF@) = @) +1=f2)+1=(lz]+1)+1= =] +2.

U7z, fRix
o f(x)=l|z]+1 VzeR
TH5.
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&8 86 (Middle European Mathematical Olympiad 2012)
Let Rt denote the set of all positive real numbers.Find all functions f : RT — R*

such that
fl@+ fy) =yflzy+1)

holds for all z,y € RT.
R
fe+fw)=yfley+1) e ®
EHL<.

r>10eE, OTy= x;l +flz) Bl ay+l=ax+xf(x) T

ot f (v 1@)) = (S +1@) favaf@) e ®

OTzDLZr% x;l’ yD&Il A% v CEHSWZ T/

F(Et + f@) =af (L a4 1)

T T

o

f(x;1+f(x)>:xf(m) ...... ®
@z@IfES &

fle+axf(x)) = (x;1 -|-f(m)> flz+xf(x)).
flx+xf(x)) >077=Z056
1= 2L 4 f(a)
£oT
f@ =L wes1 @

OTz=1¢8BLL

fA+fy) =yfly+1). ®

y>0,f(y) >0&D y+1>1,1+ f(y) >17E05, @%ffi>L

O+ T0) = 1557 T
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IhoDRE[HES LG

EIRBMS

fly) == VyeR"
g5,
E-oT

flx) == Vz € RT.
ZDLx

_ 1 _ 1 _ Y
f(m+f(y))_x+f(y)_x+l .ry+1
Yy

720, ORI,
UL7=oT, fifiZ
. f(x)z% Ve € RT
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fERE 87 (Pan African 2012)
Find all functions f : R — R such that

f(@®=y?) = (@+y)(f(z) - f(y)

for all real numbers x and y.

R

f(@@=9?) =@+y)(f) - f(y)

LEX<.
OTr=y=028L& f(0)=0.
OTy=0&8BLL

T DA% —xg TESMHMZEHL
f(2?) = —zf(—x).
@, @26 of(x) = —af(—x).

rx0DEE f(—x)=—f(z). f0)=07=Z20lDFXFEr=0DLEEHHED LD,

£oT
f(-a)=—f(z) VoeR

DD L, f(r) FEREETH 5.
OTyDL I’ % —y TEHZMA T

f(@®=y?) =@—y)(fl@) = f(=y) = @@ —y)(f(x)+ f(y))

aRN5)
f(@®=9?) =@ —y)(f)+ f).
®, GO”s
(z+y)(f(z) = f(y) = (@ —y)(f(z) + f¥))
BRI L TR 5L

yf(x) =xf(y) Vr,y€R.
©@Ty=128LL f(z) = f(1)a.
a=f(1) &BL &
f(x)=azx VzeR
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ZnrE, OOk, Ak 22 —y? LRV EFELL LS.

L7=D¥> T, fifid

a ZEMELT
o f(x)=uax Vr € R
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%8 88 (Puerto Rico TST 2012)
Let f be a function the following properties:

1) f(n) is defined for every positive integers n;
2) f(n) is an integer;
3) f(2) =
4) f(m ) f(m)f(n) for all m and n;
5)

f(m) > f(n) whenever m > n.
Prove that f(n) =

BE A)Tm=2n=1B0f2) = f2)f(1) £0 2=2f(1) Tabb f(1) =

2135,
HTm=n=2,BVi fd)=f2)?2 =4 kb f(4) =4 %55,
5) &0 f(2) < f(3) < f(4) KOOI L EMS L, 2< f(3) <4 £oT f(3) =
B IRARTE T
fny=n
MBI DZ & ZRT.

() n=120E XK.
(i) n < kDY ERDLOLIGET .
k DB DS, k=2,1cN 5L,

[+1<2A=kEDSREED fFU+1)=1+1. 7 F£20) = 2 BHEEN 5K

I

AVASN
4) &b

fRI+2)=fI+1)=f2)f(l+1)=2(1+1)=21+2.
5) &0

f2) < f2l+1) < f(21+2) 20< f(2L+1) <20+ 2.

EoTfR+1)=20+1725 flk+1)=Fk+1.

k BEROBE, k=21—1,1eNeB<. [<2-1=kErSHELY f(I) =

4) 1o
f20) =f2)f1) =2 flk+1)=k+1.

WINDOEHED fk+1)=k+12%0n=k+1DEEHLHKH LD.
(1), (i) 2o FANTOHRE n (T LT (*) 13K ZD.
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%8 89 (Romania 2012)
Find all differentiable functions f : [0,00) — [0,00) for which f(0) = 0 and
f'(z?) = f(x) for any z € [0, c0)

fB%E Vx e [0,00) IZHLT f(z) = f(Vz) 20.
£oT f(z) 1% [0,00) THIHDTH 2.
g(x) =e*f(z),x € 0,00) EL &

x21De&x 2 /rZ0o f(z) 2 f(Vz)=f(x). oT ¢(x) £0.
0S2S1DeE S Vazno f(z) S f(Vz)=f'(z). oTg'(z) 20.
L7235 T g(z) £ g(1) KD VD. Thhb e @ Se——1f(1) T74bb

fl@) S f@Q)e”™  Vzel0,00). e @
f'(@) = f (V) &Y f'(z) 1% (0,00) THAATRET

1\

0.

P = fa) 5= = S0
U455 T f(x) & [0, 00) THEEKTH 5.
A(1, (1) KB RO SR
Ly = PO 1)+ 1)

THL)=f(1) &b y=fl)z &5,
L7zhoT
fl@) = f(z  Vzelo0) e ®

NS A BVASH

f(z) 1% [0,00) THEAEZARDT, 0S 2 <1 Ty = f(x) DT T 71D OA ORI
HBMNS

f =0 x = f(1)x.
£oT

f@) < fMz  VYeelo, 1. ®
@, ®@&D

fl@)=fz Vvzelo,1. .. @



Vo e (0,1) D ¥ f(z) = f()z, f'(x) = f(1) £%5DT, nEZ f'(22) = f(a)
5 & f(1) = f(D)z 25 F(1) = 0.
D75
0= f(z) < f(1)e* ' =0

Wz Iz
flx)=0 Vz € [0, 00).

INRBRGEEARLZTNOMTHS.

X o THEIZ
e f(x)=0 Vzel0,0)
Ths. [ ]
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G178 90 (Poland 2012)
Find all functions f, g : R — R satisfying Vz,y € R

R

HL.
OTy=028BLL

DTy=f(z) LB

T[> &

Q

—~
=

N—
I

F(F(9(0)) +2) + .

ZORTz DI A% x— f(9(0)) TEZHAT

9(0) = f(x) + = — f(9(0))

Mo

f(x) = -2+ f(9(0)) + g(0)
IThbb

flx)=—z+c¢

rBITA.
OF3 NP PO E

g(—z—y+c)=—gy)+tz+c
LEZBEES.

®Ty=ceBLL g(—x)=—g(c) +c+z &RBMN5
g(x) = —x +d

BT 5.
INEOIZRATS E

—(—z—y+c)+d=—(—y+d) +c+zx r+y—c+d=z+y+c—d.
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£oT, c=d&ib

ZDEE
g(f(@)—y)=g(-z+c—y)=—(-z+c—y)+tc=ax+y,
flgw) +a=f-y+c)+az=—(—y+c)+tctao=a+y
s, O D LD,
Yo, fliE

cEZREBELT
e f(z)=—x+c¢ g(r)=—2x+c VreR

TH5.
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=& 91 (Singapore 2012)
Find all functions f : R — R such that

(z+y)(f(x) — fly) = (x—y)f(z+y)

for all x,y that belongs to R.

R

(z+y)(f(x)—fy)=(-yflx+y) o @
rB<.
x+y:Xw—y:YKB<K,WZX;YJF:X;YK@%.XY%WDT
DrEXHETE

X(r(F51) -1 (F57) =vie
b, XY Zr,yllEZETL
() e e o
@Ty=4¢BLL
p(F(2+2)-f(2-2)) =4f@. ®

@TyDeIlsr% y+2 TEEMRLL

(1 (2H2) <y (242)) — )

ZoATax=2,¢ELL

g+ -1 () =5
ZORy=2TeBELL
G s(5)= st ®
@TyDeIlsr%y—2TEEMRLL
(1 (ZH42) - s (Z2)) -0

ZOATax=-2&8BLL




IoRy=zTLBLL

B -—@Oxx+0B®xxho

0=4f8z) - ——5—f(2) + ——5—f(=2).
BT 5 &

f(x) &(x2 +2z) + @(ﬁ — 2x)

8

ST o F@) - )
8 8 '

£-T
f(z) = az® + bx Vo € R.
ZDEE
(z+y)(f(x) = f(y) = (x +y) (a(z® — y* + bz — v))
= (z +

y)
y)(—y)(alz+y)+b),
)
)

s hn, ORI,

& o TR

a,b ZEHE LT
o f(r)=az®+bx Vx e R
TH5.
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%8 92 (South Africa 2012)
Find all functions f : N — R such that

f(km) + f(kn) — f(k)f(mn) 2 1

for all k,m,n € N.

%
f(km) + f(kn) — f(k)f(mn) 2 1

rB<.
DThk=m=n=1&EB0k2f(1)— f(1)2 2175 (f(1) - 1)2 0.
koT f(1) = 1.
OCTm=n=1rB072f(k) — fk)FL) 2175

fk)21 VkeN.
VEENIZHLTm=n=k&Bl &
2f (k%) = f(R)f (K*) 21 f(K*) (2~ f(k) 2 L.
f(K?) >07E052—f(k)>07T%bb
flky<2 VkeN.
OTm=1n=k B\

F(k) + f (k) — f(k)* 2 1

o
f (k%) = f(k) 2 (f(k) — 1)
@5
f (k) = f(k)
RORB.

@, @ Tchknorisrx k¥ THEHEHBIEL
FO) = () 2 (1 () -1)
1) 21 ()
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®Tl=0,1,....r—12BL

FOR) 2 109,5 (W) 27 09) 2 J0nnd () 27 (R 2
zims, f(K) =12 fk)-120.
©)
/ <k2‘+1> — f (k;2l) > (f (k) — 1)2'

[=0,1,....r—1 BWEARAEROLULZMA B L

koT®ED

FR) = f ) zr(F () - 17

flk) =1 > 0273k e NWEELEZETSE lim r(f(k)—1)°

T—00

7 —00

lim f (k) =00 2%, f (k) <2FET 5.
L7inT, fk)—1>02%% ke NREELRVPSD LD
flky=1 VkeN.

ZDEEOIFED LD,

£ o THEIX
e f()=1 VkeN
Ths.
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%8 93 (Spain 2012)
Find all functions f : R — R such that

(x—=2)f(y) + fly+2f(x)) = f(z +yf(x))

for all z,y € R.

R

(@=2)fy) + fly+2f(2) = fle+yflz)) - @

B[,
OTz=0,t8LL

“2f () + Fly+20(0) = FWfO). e ®

fO)=0022@05 =2f(y) + f(y) = f(0) T&bE f(y) = 0.
£oT
f(z)=0 Vz € R.

INEQEREETHISETH S,
LUF, £(0)x0 &3 5.
OTy=0s8LL
(z —2)F(0) + F2f(x)) = f(z) e ®

fp)=[fl@g=rtd5.
@Tax=pebll

(p=2)f(0)+ f(2f(p) = f(p)  (p—2)f(0) + f(2r) = f(r).
@Tarx=q&bLll
(¢ =2)f0)+ f(2f(q) = fla)  (a—2)f(0)+ f(2r) = f(r).

EoT (p—2)f(0) =(q—2)f(0). f(0)x07EDEp=q&?b, fIXHES (injective)
Thb.

OTa=2e8<E fly+2f(2) = f2+yf(2)
[ IZHET (injective) 7202 5

y+2f2)=2+yf(2) y-2=(y—2)f(2).
ZORT, y=3BLE f(2) = 1.
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VA2 IR LT, [ IRHE (injective) Eh5 f(t) 51 2h50Ta= LW 4y

<&, a+2f(t)=t+af(t) T, OCTax=t,y=a&BLL
(= 2)f(a) + flat2f(1) = Flt +af(t))  (t—2)f(a) =0,

tx27m16 f(a) =0.
OCzrx=a,y=2%¢BL&

(a=2)f(2)+f(2+2f(a)) = fla+2f(a))  (a=2)1+f(2) = f(a)  (a=2)+1=0.

EoTa=1&%D0

P2y sopwy =1 f@)

"o
fHy=t—1 Vtx2.

F2)=1kvzomRiEt =20 EHK0 7Io.

£oT
flx)=x—-1 Vx € R.

DL E

(x =2)f(y) + fly+2f(2)) = (x =2)(y = 1) +y + 2f(z) =1
=x-2)y—-1)+y+2x—-1)-1
=zy+r—y—1

flx+yf(e) =z +yflz) -1
=z+ylz—-1)—1
=xy+r—y—1

720, Ol L D,

U723 o, fifiZ

e f(z)=0 Ve e R
&

o f(zx)=x-1 Vr e R
THb.

330



8 94 (Turkey 2012)
Find all non-decreasing functions from real numbers to itself such that for all real

numbers x,y

F(f (@) +y+fy) =2 +2f(y)

holds

RE
f(f(x2)+y+f(y))=x2+2f(y) ...... @

rB<.
X=2220&8LDl

fUX) +y+fy)=X+2f) e )

Y75, a=f0) L.
@TX=0rBLL
flaty+fly)=2fw). e ®

@Ty=0&B< L f(2a) =2a.

@Ty=2a B L f(ba) = 4a.

@2 0THRVE, @TX =24 EBFRVAS f(3a) = da IF TRV LICHEELTIEL
AV

@75 f 1[0, 00) THET (injective) THD Z L ARE 3.
fp)=f@Q)=r,p,qg=2027 5.
@TX =p,qblL

f(fp)+y+fy)=p+2fly) fOr+y+fly)=p+2f(y),
fUfl@+y+fly)=q+2fy)  flr+y+fly)=q+2f(y).
FoTp=q2ris.

(1) a <0 DHE
@Ty=0BWV7 f(f(X)+ f(0) =X +2f(0) 225

FF(X)+a) = X + 2a.
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Vt € [2a,00) IZH LT X =t—2a(20) &L & f(f(X)+a)=t.

& 5T [2a,00) € Range(f).

a<07226 f(b)=0%,7%%25beRPEFEETS.

b<072& fIRIFEDZEDS 0= f(b) = f(0) =40 a<0IZFETS.
XoThz20Li5.

@TX=by=btBL

F(fO)+b+ f(B)=b+2f(b)  f(b)=b 0=

EoTfO)=025a=0,7%Da<0IZFETS.
a>0DGE
@TX=2a,y=028BKL

f(f(20) + f(0)) =2a+2f(0)  f(2a+a)=2a+2a  f(3a)=4da.

£oT, f(5a) = f(3a)(=4a) T, f1%]0,00) CTHY (injective) 727*5 ba = 3a H*
ba=0%7E5.
U7=h > T f(0) = 0.
@Ty=0tHE
FUCN =X @
F13]0,00) TREDOHIFEMTH S Z L &2mRT.
X>Y(20)&dd& fIRERDELS f(X) 2 f(Y).
FX)=fY) EZsotzb 2 E, fIE[0,00) THE (injective) 2/ 5 X =V &7
DX >Y IZFET 5.
EoT f(X)> f(Y) 7225, fld]0,00) THREDHFEMNTH 5.
X200kE, f(X)>X&35L fIFFERDE2S F(f(X)) = f(X).
@EM>2 X = f(X) &b f(X)> X TFET 5.
FRRIZLT X 2008 %, f(X)< X &T5& fIRERDZEL2S f(f(X)) £ f(X).
@zfi>r X < f(X)emh f(X) < X IZFET 5.
LhinT, VX 2 01HLT f(X) = X £255
flzx)==x Va 2 0.
r<0DE& fIIIFEHDENS f(z) < f(0) =0.
XZ200r& f(X)=X Tholzmn, @IF
fX+y+[fy)=X+2f(y) VvVX20VyekR oo @
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LEEHETILHNTES.
@ TX==-2f(2)(20),y=0 B

flz—f@)=0. .

Fld)=02735d<0hBorzF 5.
@ Ty=deBL f(X+d) =z>0=f(0) 75

f(X+d)>f0).

X+ds0edse, fIRIERSELS (X +d) S f(0) 2RVOIZFET 5.
£oTC, X+d>0TZDLE f(X+d)=X=f(X) 25 f(X+d) = f(X).
f1X[0,00) THE (injective) DT X +d=X 256 d=0%15.
TN d<0IZFETS. LzdoT, f(d)=0%8725d<0IFFELR.
f13[0,00) TIREZEDOHFIEIMNZD S f(d) =0 725 d >0 BAAEL K.
£oT

flx)=0<=2z=0

2195, ZThzOIfli>e o— f(r) =055
flx)=x Vo < 0.

LEDZ o
flx)==z vz € R.

ZxQE w7 .
UL7=oT, fifiZ

o f(x)==x Ve e R
ThH5.
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RS2 95 (USA TST 2012)

Determine all functions f : R — R such that for every pair of real numbers x and

Y,
fle+y?) = flz)+1yfy)l.
holds
RE
Flr+y?)=f@+wfo)l e ®
rB<.
OTz=0¢BLL
@) =rO+lyfwl ®
OCTz=—y2&bLL
FO) = f (=) +lwf). ®
@+ »5
FW?) =f(=v>)+2wfw). @

@Ty=-125L, f(-1)=f1)=2[fWI=fO - [f(D =025
f=n<o. ®
@Ty=-1&8LL
fO)=f(=1)+[f(-1)| = f(—l) — f(=1)=0.

@T f(0)=0%f>E, f(y?

:| |>0
@T f(0)=0%E>%, f(-y?)=— Wf )| < 0.

o T
fl)z0 Vz20, f(x)<0 Vz<L0. .. ®
®, ©®»5
y=>0mne
flz+v?) = fl@)+ |y fy)| = f(@) +yfy).
~—
>0
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yS0De

flz+v?) =f@)+ |y fy)
~~

<o

£oT
fle+y?) = fz) +yfly). VoyeR.

DTyDLIr% —y CEEHMR S L
f(z+y?) = f(z)—yf(-y). Va,yeR

@, D 25 yfly) = -yf(—y)yx0D&E f(—y) = —f(y).
FO) =0EDS Z0%RITy =0 DL EH KD 7.
T

f(—z) = —f(z) Vr € R

ri0, f(z) $EEKTH .
@OTz =08V f(y?) =f0)+yfly) »5

f(W)=vyfly) VyeR
%Mo T@OrEEHET L
f(l‘+y2):f(x)+f(y2), Va,y € R.

L7zhi-T

fl+ty)=f)+f(y). VreRVyeRs.

N AIRVASH

= f(@) +yf(y)

yZODLE, fa—y) = f(@)+ [(-y)(= f(2) - f(y) BHD LD L &RT.

@QTaxDLI % —y CEIMZE L

fllz—y)+y)=fle—y)+ fly)  fl@)=flx—y) + fy)

Flz) 1ZHBERE D5
flx—y) = f(x) = fly) = f(z) + f(—y)

/Al
flat+y)=f@)+fly). VrzeRVy=0.
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®, @ &b
fle+y)=f@)+f(y). Ve,yeR ...

Va,h € RZO 2L T, ,@J: U]
fl@th)=fl@)=f(h) 20  flz+h) 2 f(z)

F(o) RIFFADBIT, a— 0 —OBMARREWET RS, f(z) =k DBERB.

OS5 k=070156
f(x) = kx Vx € R.

ZDL xE
fla+v?) =k (z+y°) =k +ky® = |kg?| = f(2) + [yf (v)]
L7, O%ikT.
X o THRIZ
k=20%zE#He LT

o f(x)=kx vz e R
THb.
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8 96 (Vietnam 2012)
Find all functions f : R — R such that:
(a) For every real number a there exist real number b : f(b) = a
(b) If > y then f(z) > f(y)
(c) f(f(x)) = f(z) +12z.

fRE  f IXHHT (injective) THBZ L Z2RT. f(p) = flq) =1 LT 5.
(c) Tex=p&HLL

f(f)=fp)+12p  f(p) =r+12p.
(c) Tax=qiHLL
f(f(@)=flg) +12¢  f(q) =7+ 12¢.

FoTr+12p=r+12q 5 p=q 270, fILH4 (injective) TH 5.
(a) EHDOET fIZRHEE (bijective) TH 5.

[ 1Z24t (surjective) 72225, VEE RICHULT f(z) =t 2§72T 2 c RH¥H 5.
(c) 5

FUf@) = f@)+120  f(t) =t +122 x:f(?;t.

Inz f(r)=tiZfRAT 5L

£oT

f(f(m)_x>:a: VeeR. ..

(c) Tax=0&BLL f(f(0) = f(0). f IZHS (injective) 7205 f(0) = 0.
(b) 25 f IZIEINBEE 72D &
r>00&Z f(x)> f0)=0,z<0D&E f(x)< f(0)=0.
£oT
r>00&E flx)>0,z<0D&E  f(z)<0. .
fIZ2 L (bijective) 7225 f OB f~1 BHEHET 5.

flz)
12

a] = xT,as =

B, @73))6 f((lg) = ay (CLQ = f_l(al)) .
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a1 =&,

anr = M an) (n=1,2,...)
TRE#RT D.
(1) z>0054

a1 >0 f@f)‘% f(CLl) > 0.

OTx=ay KB<tf<%>:a1.

fla) —ar S0 LT 2Y, fIRMMBRED S

a = f (%) < 1(0) = 0.

HhlEar >0ZFETS.
£oT f(ar) > a1 205 flay) > a1 = f(ag).
ap Sag &3 BHE, fIREMBERZNS f(a1 £ flag) £720 f(ar) > flaz) ZFE
35. £oTa; > as.
Rz
fla) =y > 0, (0552) = 7 (02 ) <

2B\, % > ay T B, fIIIRIINBEETE DS

CLz:f(all;;LQ) zf(aa):fn

ED a <ay ITFIETS.

a; — ag

12

0<m<ﬂ&u#6a2>0@1<%L<13ﬁmbﬁo.
2

£o7T, < a2 no a1 < 13as.

Vn e NIZ2DW\WT
an

1< < 13, an > O, Qpi1 > o ... (*)

an+1

ME D LD T & 2 B RINIE TR Y
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() n=10&EKH 7.
(i) n=FK(=1) D& ERD IO LBET S L

Qg
Ar41

ag+1 >0 T@ﬁ‘ 5 f(ak+1) > 0.

@Tm:akﬁ-l tj:3\< r f(f(ak+l)_a’k+l) = Q1.

1<

< 13, ag > O, apy1 > 0.

12
Flapit) —ap1 S0 LT BE, fIRRMEREDS

ak+1 = f ( f(ak+11)2— Shtl ) < f(0) =0.

Zhid agyr >0IZFET 5.
£oT flak+1) > apt1 T8DD f(ag+1) > art1 = flart2).
a1 S apyo &35, fIRBEMBERZD? S flaprr S f(agse) &80
flaks1) > flaks2) CFET S, £oT aks1r > agypo.
Iz

flak+2) = apy1, Apy1 > akyo,

f ( Qk+1 1—2ak+2 ) —f ( f(ak+21)2— Af+2 ) P

Kgmf,ﬁﬁiﬁﬂﬁizagzﬁéa,fuﬁm%ﬁﬁwa

a1 —a
Qg2 = f (%) 2 flak42) = k41

Ay G422 < Qp41 WFET 5.

Ak4+1 — Ok+2
Lo, Lfo RTe
” 12

0 < apsr < 13ap12 25 agpo > 0T 1 < ;‘k—“ < 13 MO LOD S,
n— k41l DLELHD IO, o

(1), (i) O ITRTOHARE n IZDWT (x) XD LD,

(c) Tx=ap &BLL

< Ap42 mo ap+1 < 13agyo.

[ (flant2)) = flant2) + 12an42 Un = Ant1 + 120042

1
p42 = E(—awﬂ +an). e @
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Ok 3 g-pd

1 1 1
fnt2 = Zan+1 - _g An+1 — Zan ,

1 1 1
np+2 + §Gn+1 vy (an+1 + gan) )

1 — 1 1 n—1
anpr =g = (02— ga) (~3) .

n—1
an+1 + %an = (az + %m) <%> L

£-oT

® - 0O 25

e (o)
19 n = G2t 5@

1_72an+1 = <a2 + %al

~ r-lk|>—\
/~
»-l>|b—\
~——
3
|
~/~
Q
[\]
|
|
Q
=
~—
/?
|
~—
3

INoDFEXEMD &

a <a2+—%1h> ( )”1Ea2_%ul)<_%)n1

1
4
An41 (az + %m) (%) _

@—lml#otﬁét,hm<—%>::0ﬁ#6

4 n—oo

ZNIE@IFIET 5.
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YoT, ap— Ya, =0T -9 _4riz,
4 an—l—l

ay = %al no

f_l(al) = %al.

a; =2z (> 0) IIMEEDEDHEL S

£oT
f(x) =4z Va > 0.

(2) z<0DEHED (1) LERKIZLT
f(x) =4z Vo < 0.

(1), (2) & f(0)=0»5
f(x) =4z Vo e R.

ZorE, (a), (b), (¢) ZirT.

X o THEIZ
o f(x)=4x Ve € R
TH5.
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